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CtnhGwlGEph Ynndhg .

Nwnhnphgqhfwyh pwimpmtinmd hhiGunpdwG ophy muwlnnGtphG
nuuwjwGnjty b opugpunnpiwG hhdniGpGiphG Gubpywd wmuplu:
Uyqpmy prumywGiyt) t Lwhph 2 E4U-h wnjundwnn dpugpunnpiwb jh-
qmG, htitmn wqnphpdwlwG (igmGtph junmwpbjugnpddwin qmqpipuy’
FORTRAN, Pascal, huy ytpshG wwphGtphG® C+: Uyu puGnpugppmd
Gapyuyuyywd GG C++ 1tqyh pnhwinmp qunuthwplbpp:

v Gnpuqhppp punuywd t 9 qiluhy b 3 hwytwohy: 3mpwpwbyjnp
qgiluh uyqpnud hwyhps zwpunpygwd twjn pudth fuGnhpGtph imoiwG hw-
dwpn wGhpwdtn mbuwlwb Gympp, hGywbtu Gwl wyjuwy qjuh whuw;hG
JuGnhpGtiph mavwG ophGuilGtp’ mnn win wnn puywwnpoipymGitpny: -

lvGnpwqpph painp fuGnhpGtpp Gwlwnbuwd 6 C++ kqyny dpw-
gqptip juquitpm hwdwp, pwjy YpYimpymGhy jumuwthtim Gupunwlyny
JuGnhpGtph wwhwGeitpmy pwy t pnnGywd "Juqitp dpwghp” wpunw-
hwjpnmpymp:

vGnpwghppp Gwuwmbtivjwd t nwnhndhqhljwjh pwympmtnh nruw-
GnnGtph hwdwp, hGyuybu Gwb GpuGy hwdwp, miptp npn2by GG hGpGnipni )G
qpunyb) Spugpuiynpiwp:

£LbnhGwyGbpp pwbp y6G6 fubw)by juGnpughppp pipmpjmGGtphy m Yph-
wuyGphy qtpd wwhbtin hwdwp, wyGmwdtGu)Ghy 366 puywemyd gnuiy
wnjuwmpjnGp b 2Gnphwljuy YhGEG GpwGy, nyptp Giuwwwd Yphujwy-
Gtph U pwypnqmuGhph YwuhG hptGy phowpynuiGipp JhwjnGté htinh-
GwYyGhphG (k. thnun' har_taron@ysu.am):

p. bplwG, 2011 p.
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@dU3hL uvuuwurqsn

OwjhG hwdwjupqtpG oquwgnpdymy GG phyp pwGzwGGlph oqlnt-
pywip GGpYuwpuyGim hwdwp: ©uwhi hwiwYwpgbpp thGmd 46 ghp-
pwihG U ny nhppwhG: UkGp YnhnwnpytGp dhwjG nhppuhG hwdwywp-
qtpp, wyuhlpG wjGuhuh hudwlwpgtpp, npnGynd pyh jmpuwpwGymp
pywGwGh wpdtpp npnpynid E hp qubytim phppny: G+hppwjh6 hwdwljwp-
qh ophGwly t wpwpwywt hwdwiwpgp, huy ny nhppw)hG hwiwlwpgh opp-
Guly hentbwlpuG hwduljwpqp:

OphGuy, 435 b 534 pytiphy wnwehGnui 5 pywGywlp gin6ymy t wohy
wnwehG nhppnud, tpypnpymd” wehy tppnpn phppod: UnwghG nlwpnd
w)f GrwbGwymd ¢ 5 shuninp (Yrud, wupgquutiu hhGq), huy iphpnpy Rhy-
pmd’ S hwpympwiynp (Gud hhGq hwpyop):

Qntiny 435 L 534 pytpp’ vkGp LGpwnpbtyhGp, np npwbp gmjwd LG
wwumub (10 hhdpny) pywjhl6 hwdwljupgnid: Swuwlwé pymihG hwdw-
Ywpgh pywmGIwG6tp6 66 0, 1,2, 3, 4, 5, 6, 7, 8, 9, wyuhGpG’ ywGlwywd phy
wjn hmiujupgmd punjuywd t wju pywbubiiphy: Unopju YuGpmd
ULGp unynpwpwn oginuugnpdm tilip mwuwlwd hwiwlwpqp:

oJuiyhG hwdwljwpqbpp Ywpnn &6 (hGh dthhy 86 YuwdwymlwG hhd-
pny: Swlwywd phy Yupnng t Gepljwiuyyb] mwpptin phwjhG hwiwlwp-
qtipm:

Zwiwljunpgsh Gipund wjuny Ghpp Ghpljuywy Ghpm hudwp ogumugnnd-
ynud L ipymuwyuiG (2 hhipny) pywjhG hwdwlywngp, nph pdwlwGGbpG GG 0
U 1, wyuhGpG’ ywbljuywds phy wyn hwdwljuwpgnd punyugwd t wyu pywi-
2wGltphy:

LwGh np tpynuulwG pYwjhG hwiwhupgnid oquwugnpdymy GG Shw G
0 u 1 pywbrwG6lpp, Grwlwmyms k, np wjn hwdwyupgmd gnjwd pytph
witih tplyup b6, pwl Gpurly hudwpdtp ptipp wwuwluG hudwlwpgnud
U, htimbwpwp, oquuqnpdhwl hwiwp winpwé b hwpdwp 3hG: Gpym-
wywl hwiwjupgmi gpjwd pytpp JupswybGhim hwiwp oqunugnpomd
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G 8-wlwiG (8 = 2° hhipniy) ud 16-wlwG (16 = 2* hnipny) hwswlwpgbpp:
8-wjwi hwiwywpgh pywuGrwGitpt GG 0, 1, 2, 3, 4, 5, 6, 7, hul 16-wljwG
hwdwlupghbp' 0, 1,2, 3,4,5,6,7,8,9,A,B,C,D,E, F:.

1-h6 wrymuwymy phipdwd GG 1-hy 16 pYtpp wmwuwlub pdwjht
hwdwlwpgmy b pnwGy hwdwpdtpGlpp 2-wiw6, 8-wlwbG L 16-whwa
hwiwlywpqtipmd:

Unymowy 1: 1-hy 16 pytipp 10-whwa, 2-whwe, 8-wlwb b 16-wywi

hudwjwpqbipnud
hmfs':,‘;‘ll‘:.fm 2-wljuG $-whwG 16-whwé
qniwd phyp Gbphwjuyniudp Ghpyuwywynip | Gbplpopoymsp
0 0 0 0
1 1 1 1
2 10 2 2
3 11 3 3
4 100 4 4
5 101 5 5
6 110 6 6
7 111 7 7
8 1000 10 8
9 1001 11 9
10 1010 12 A
11 1011 13 B
12 1100 14 C
13 1101 15 D
14 1110 16 B
15 1111 17 F
16 10000 20 10




2-wjwb hwiwljwpgh U 8-whwl nt 16-wlwl hwiwljwupgph shel Yw
Juplnp wnGympymG wj6 t, np 8-wiwG U 16-whws hudwhwpqtph hhd-
ptpp' 8-p U 16-p, 2-wyjwG hwiwywpgh hjniph® 2-h wunh6wGlbp 6G*8 = 23,
16=2%

Npytiugh 2-wijwG hwdwjwpgmy gpdwd phyp GhpljuyuyGGp 8-wjwG
hwdwlwpgmy, wuyw, pwGh np 8 = 2}, wGhpwdtyw t 2-wlwG hwdwywp-
qnui gpywd phyp wehy dwju wpnhty 3-whw6 pywGwiGhphy punjuywsd
Jusptiph, W npwGyhy jnipupwiGsymph bwdwp qnty hp 8-wwG hwdwpdtpp'
oqunytiiny 1-hG wnpymuwyhy:

OphGwy 1-1

(11101100001010); = (011 101 100 001 010); = (35412)3:

LwGhnp 16= 24, wupw 2-wiwG hwswupgnui gpud phyp 16-wijw6
hwiwljuupgnd Ghpljuwyuy Giym hwdwnp wihpudtzwn t 2-wiwb hwiwwp-
qmu gpjwd phup wehy dwju wpnhl) 4-wwb pwb;wiGkphy punyuywd
Judptiph, b ppwbyhy jmpwpwlsymph hwdwp gpbyp hp 16cwhw6 hwdwp-
dtpp’ oqumjtiimy 1-hG wnyniuwighy:

OphGuwy 1-2

(11101100001010); = (0011 1011 0000 1010), = (3B0A);¢:

Npytiugh 8-wiw hwiwlwpgnui qujwd phyp Ghpyw oy GhGp 2-wlwG
hwiwlwpgmy, whhpudtyn t wyn pyh witkG sh pwGzwéh hnjuwptG 3
Ghyny qnby hp 2-wywb Ghpuyuynidp’ ogujtiiny 1-h6 wnynmuwyhy: Gph
pYwGwGGtphy Wtyh Gpymwlwl Gepljujwynidp Gplip Ghohy ph; &, wuww
wjG dwluhy whwnp t |puyGby wihpwdtym pwbwyny qpnltpny:

OphGwly 1-3

(7125)s = (111 001 010 101),:

Npwbugh 16-wjwl hwiwywpgmd gpfwd phip Ghphwjuytllp
2-whwb hwiwyupgmy, wihpudbm & wyn pih wité sh pywGywé6h thn-
huuptG 4 Ghyny qpty hp 2-whwl Gipywjwymip’ oqutiny 1-hG wnym-
uwlhy: Gpb pywGywiltphy dtyh tpymwywl GEpYwjwynadp snpu Ghohy
ph; £, wwut w6 dwhuhy wbnp t (puy Gt wGhpwdbn puGuliny qpoGhpny:



OphGwYy 1-4
(A8DF);6=(1010 1000 1101 1111)3:
Ojtiph wiynuip 10-whw6 hwiwlwpghy Juidwjwlhwe n hhipm] hw-

dwljwpgh Yunwpnwl £ upwd phip a-h ypuw hwgnpnupwp pudwbtyng U
dGwynpnGtpp hwhwnwly htippujwinpjunip qptiny:

OphGuwy 1-5
10-wiw6 hwdwhwpgmyd gmjwd 6 phyp GhpluyuyGtlp 2-wiwé hw-
dwljpgnid.

6[2
63 1_2,
01211
N/

WyuhGpG® (6);0=(110); :

OphGuwy 1-6

10-wjwG hwiwljwpgmud gpywd 74 phyp GipluywyGhGp S-wjwG hw-

dwljupgmu.

745

70{14 '_g
411002
NG
UjuhGpG* (74)10 = (244)s :
Yuwiwjwub huiwlwpgmd gpud pm] Juphh & Geiphujwylt) ww-
uwlwl huiwjupgmy® oqunytiym} htiwnljuwy pwGwdbhy.

ia,m' =aom® +a,m' +...4a,m",

i=0
npwntn 7-p pywghG hbwiwlwnpgh hhup t, #-p° pJwjhG huniwljwngh hhupp®
I-ny wwlhwu, -G Jupquhwiwpp, ¢;-6° pyh i-pnp Jupquhwidwphl
hwiwujunwujuwing pywGwbp:



OphGuwy 1-7
(10111), =1-2° +1.2' +1.22 +0-2% +1.2* = (23),,:

OphGwy 1-8
(152), =2-7° +5-7' +1-7% = (86),:

OphGuwy 1-9

(IE7);s =7-16° +14-16' +1-16% = (482),,:

Spywd phyp YuwdwjwlwG a hnipny pyuwijhG hwiwlwpghy judwjw-
Juwe b hhipny pywjhG huniwlwpgmd GhpluyuyGym hwdwp upth £
Gwhu wyn phyp GhipYujwyGh] wwuwliuG hwiwjupgny, wjGnhtnl
vnwyywd phyp' & hhipny pywjhG huniwupgmyd® wGymuGhpp Yunw-
pbiny ytipp G24wd tnwbwlGtpny:

OphGwy 1-10

S-wjwG hwiwjwpgmd gpgud 14 php Gpjuaywyitip 3-wlywé hwdw-
Yupgnud.

(14); =4-5° +1-5' = (%),

913
93P’
013(1
o

UjuhGpG* (14)s=(100)3 :



luGnhpGtip

1-1. Swuwjwl hwiwjwpgmy qpywd phyp Gipljuwywyptp G2Jwd hw-

dwlupgmd.

w) (212)10 > 2-wlwfi,
p) (56)10 > 5-wywd,
@) (26)10 > 2-wywb,
n) (362)0 = 16-wywd,
b) (32)19 — 8-wljwd,
q) (150)10 — 7-wljuG,
t) (1910 » 3-wyuwé,
) (241)10 - 3-wlhwG,

P) (3627)10 = 16-wYjwG,
d) (245)10 > 2-wluwG,
h) (679);0 - 16-mjuG,
D (444)10 - 7T-wlus,
) (1987)10 = 4-wijwdG,
&) (161)1p = 3-wywaG,
l[) (333)10 - 3-ll.lllluﬁ,
h) (404),0 — 8-wlwG:

1-2. L7ywd hwdwluwpgmu gnjwd phyp GhipYuyuyptp muwuwyws hw-

dwljwpqmai.
w) (100101),,
p (121)s,
q) (1541)s,
n iy,

) (10011)s,
@ (3243,
L) (12201)s,
n) (2101)s,
pP) (2E)e

1-3. Guwnwntip htimljy wGymuiGhpp.

w) (111101)2 - 4w,

p) (1001); > 4-wywG,

q) (11011); = 4-wlwd,

n) (110111011), > 8-wljwd,
b)) (100111); — 8-wlwG,

q (1000011); - 8-wluwd,

d) (1021)s,

b (Al2)6,
D (11110011),,

lu) (2015)s,
o) (1001101),,

W) (5612)s,

h) (F3)ss,
4) (1222),,

n) (23410)s:

1) (2103)4 — 2-wlud,
n (321)4 > 2-wjwb,

p) (130123)4 - 2-wljw(,
d) (267)z > 2-wjub,

h) (3454)3 - 2-wjwiG,

D (17062)g — 2-wywmG,



lu) (11001101); - 16-wlwG,  h) (A517BE);s — 2-wlu,
) (11111); - 16-wljwd, d) (1A2C7)i6 - 2-wluw,
Y (101111); - 16-wlpwG, n) (F4A)s — 2-wlu:

1-4. Yuunuwptp htinlyjw) fuwnG wGymiGLpp.

w) (102)s — 2-wljw, D (5213)s - 8-wiljw6,
p) (1546); — 4-wilpuiG, p) (2101)4 — S-wywa,
q) (12)¢ > 2-wywd, d) (1231)s - 9-wlwd,
1) (200)4 - 3-wlwG, h) (1201); - 7-whwG,
) (1110)s > 7-wljw, U (501); - 4-wlw,

Q (1152)5 - 16-wljw6, Tu) (1302)4 — 6-wljw,
t) (101); - 9-wlwa, o) (A01)6 = 3-wwaG:
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LNt 2

MICROSOFT VISUAL C++ 6
oruarh UhRUYU3NC

Microsoft Visual C++ dpwqph shownjuwpp qunGymd & Microsoft Visual
Studio dpuqpu)hl thwptph dtig: Uwnnpl ptipdwd t C++ |kiquny dpwqpbp
gpbiint wdtiGwyuwng tinuiwyl wjn thewydwjpmy: WyG Yhpuntih t wmbpu-
wmuwjhl showywjptipmyd wfuwnnn fufinhpGtph hwdwn, bpp wGhpuwdbyw t
Ununpuiqnb) wyjuGhp U unwGuy npnwlh wpnyneGp:

Unp Gwhiwgqbh (project) uwnbtndnid

e Puytip Microsoft Visual C++ dpwqph Sheunjwjpp,
e (CGuptp File.. = New.. hpwiwGp Jud wjwpquuitiv uanbn-
Guizwnh Ypw hwyuwptp Crl+N (GY. 1),

- MK eosstt Wiaal €= o
it YR gr= et bomn Gdd (s grdee p

o= lomwer —— dw
=T = e

s fala

VY. 1: Microsoft Visual C++ dpwqph shewjuijpp

11 j



e Puyjwd vyuunnmhwimd (Gy. 2) Projects (Gwjuwqotin) tohy
pGwnptip Win32 Console Application Gwluwqdh mhyp: Uyu wphwh 6wjuw-
qotip6 wzfuwinnud kG ntipuwnwjhG theuujpmy,

e Location (qnGytim quwjpp) wnnmd Gtp wjG hwuyklG, np-
wmtn wihpwdtym t wwhwwll) vntinoynn Gwluwghdn (2-pn Gywph oph-
Guynud G24wd £t DATEMP hwuykG),

e  Project Name (Gwluwmqdh wlmb) wnymd gptp uwntindnnn
Swhgoh wiubGmip (2-pp GYwph ophGwynud vintindmuy t Project001
winmGny Gwluwqhd),

|t (& gow punt pemt Dis Lob e B0

Lasua xhh-n—*.umi\l Hwl
5 T x
_-_-._-';;__';—*-— a4 i
Floe  Papos | webmpeon | Giws Demmenr |
ATLCOM Anannd Sfonl sk oo et pam g L o
Ot Rassnsca 1 o \donsd P .
o~ Agoniss od | A
= cbam Pt a"_-____ I
DS nale Akt 1 Whtnd TP Pt (8
5 (stonded Sumad Prac Wiaad B
74A% (atomisn WAk
p e O Couute e et nse 3
WL Atesak Cornalviand Ccarrtvsana .
25T Apshraud () et o H
ST Acowrand (me ‘—‘———_‘ N
00 O shaboss Wl = | i
(11 -8y Aramas ! .
/r2 Coresle Agphotion
Wnk Oyrameotik Ly
[ - 2
[ ] _coor jf

==tk

Y e e AT =y I o~
Vh. 2: Project001 whniim] Gnp Win32 Console Application whujh
Guwfuwqoh vntindmyd DATEMP hwuytinid

[}

e Utnitp OK Yndwlyp: Lwyjwd wjuumnthwlmd (GYy. 3) Gphp
An empty project (nunwny Gwuwghd) b utinitip Finish (wjwpn) YnGwlyp,

o Uwmtndty Gnp, nuunwpy Win32 Console Application whuh
Gujuwghd: Lwenpn pwyip wyry Gwhiwgdh Wl dwj wybiuyGty G t:



Win32 Consote Appcatiory - Step 1 of f-~rstsrmss amssrmcavess.. (7 |55
‘What kind of Console Application do you
want lo create?

& An emply project.

€ A simple appiication.

€ A'Hello, Warld!" appfication.

€ An application that eupports MFC.

cBack | Nets | [ Fnn | Cancel |

VY. 3: dwwnwpy Win32 Console Application Gwluwqdh untindnd

Lnp dwjih wybiwgnd Gujuwqbdh dkp

e Puyjwd wwunthwGh dwjhy Ghippuhp dwumd Yuw Lpym
t9* Class View U File View (GYy. 4): CGwnptp File View top,

o Ujn toh Ypw wnwGdhG wnnny qpiwud t uvntindwd Gupuw-
qoh wGmGp (wyjwy ophGuiymy’ Project001 files) b wnwGdhG GGpwwn-
nbpmd® wyn Gwuwgoh dwjitinh whwtpp (Source Files, Header Files U Re-
source Files): UYGhyh we Yndwyp utinitp Source Files wainnh Ypw,

e Puwyjwd YnGumbpunwihG wwwnmhwlmd plopp Add
Files to Folder... hpwiwGp,

o Pwyqwd' Insert Files into Project wGwlmuiny wwwnnihw-
Gh File Name winnnd dnmuunpwqptp Gnp dujth whjulomdp W wmhyp (cpp)’
npuip hpwphy wipwwnbtiny Yuwnny (S-pn GYwph ophGwlntd uintindymad t
Program001.cpp $win),

e Program00l.cpp wnnp YnunGw Source Files wnnh GtGpw-
wnnn;

13
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e an 0iec1001 tdos

O reade: “'ﬂ‘&
Orec BV TLL

St .
g"uukpw@od

& Doding view

LY. 4: Project001 GuijuwqdhG wftjuwyymu t Gop iy

C++ qyny dpwqhp qptitp b wfuwnwgltin

e UYGhyh éwju ynGwyp tpym whGqui ubtnitp wuntindwo
$uwjh wmbgu Jpw (6~pn Gupmy” Program001.cpp wnnh Ypw),

o Up Yynpimd pwyyjwd wwmmbwilmd C++ (tiqyny qplip dtp
opuqph wmtipunp: Mwnpmpymb nupdptp, np (ntywié C++ tiquh pw-
Gwih-pwntpp qpymu G6 Yuwwm g, Sk GwpwbmpymGatpp’ Ywbwy, pytpp’
Jwpthp, puy SGwywd wmbpup® ul qnyiny (wGhpwdtypnmpjwb nhiwpnid
wju gm)GLpp YJuwphbih b shntuby Microsoft Visual C++ showwjph hunaym-
pymiGLphG nhutyny),

e Upwghpp qptymy htnn wGhpwdtynm t wjé Yndwhywyhw
wlb” hwinqytiym huniwp, np dpwighpp qpUly t wnwby vhuwgGtiph: 4w
hwiwp vtinitp € Yndwyn (G4.6): Gph ufuwmyGlip b qgriwymiGhp sijwd,
wyw dnwqph dhewyuigph GGppuh wwwnthwGmy Ygnugh 0 error(s), 0 warn-
ing(s) wnnp, hwijwnwy nhuypmy® YopitiG vjuwGiph b qgmpuymuGtph
pwGwyp, hGywtu Gwl w)b wnntpp, npniymy npwGp hwymbGwuptpyb) b,
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[ SRS A R R ]
Sinclute Ciotiees L
1ot sasnt
t int a b ertafivel -
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LY. 6: C+ (biqum] qpiwd U Yndughpyjuyhw wpjwd dpwghp
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e bph Uniyhpywyhwl plGpwyly t wnulby vhuwgGhph, qpud
opwghpp Yupbith E wpluwnwyty: pw bwdwp utndip ! YnGulp yud
uwntinGwwphy hwywptp Cirl+FS,

e bpt quty t wjGuhuh dpwghp, nph dhg whwp t wndjw)Gp
GipintoytG Ywd wpnmGpGtp wmuypytl typwGhl, wwyw YhwpnGh ule
wwwinnthwG (6Y.7): Ununpugnynn wdjw) Gepp wtnp bt Gipdmot) uwntin-
Gw)wphy' witG wjwihy htnn ubgdbng puywn (Space) Ywa Enter:
SyjwGhpp Gipdmotiny U Enter YnGwmyny hwumwwmbimy htinn typwGhG
YhwjwmGyh Yipwnupaynn wpryniGpp: LY. 7-nud qpYwsd opuigpmy dmwnpw-
qpubi G 5 U4 4 pytipp, wpymGpmd uwnwydty t gpuwly wpnwungpyup'
artadryal = 20 winnp:

“- POJ100) . Breat (Web Cog (PIogmaOUCER] o . oo o e e emesime e e e
3 on (o e e Gomr Dt b g gy . ~ . . . al2lxf
Weud Bf o CRY R 3.
s © SR [ TN OX 8D
S [ p e -—ﬁ»ﬁ

r—-_w”'\vm' risdryely

SO U T I 3

VY. 7: 6-pn Gwpmd wuaybpdwd dpwughp’ wzluunnwyqwd




qQLntiv 3

C++ LGRYh yunnksSduoee

C++ 1tqyh junmyywdphG dwlinpwGwip’ nhnwpltjny htwljyw; oph-
Guwlpn.

OphGwy 3-1

Ltuilyun dpuwghpp pnuyl b wwihe hwzdtp & BYypuGhG wpnwdtp mpqud
a s b wnipnng pytph wpnunpjwp:

1. /* Trvac er a yev b amboghj tvery.

2. Hashveq ayd tveri artadryaly */

3.

4. #include <iostream.h>

S.

6. int main()

7. |

8. int a, b, artadryal;

9. // haytararvum en anhrajesht popoxakannery
10. cin >> a >> b;

11. // nermucvum en a yev b amboghj tvery
12. artadryal = a * b;

13. // artadryal popoxakanin veragrvum e a*b
14. cout << "artadryal = " << artadryal << endl;
15. // artacvum e "artadryal" popoxakany

16. return 0;

17. )

Uju opwgph wnnbipp dwjuhy hwiwpwiuwly GGp, np dpuweph hwdw-
wWwunuufuwl wnnliphG hgmy wabkym hGwmuynpmpni6 mGLGwGp: Opw-
qhpp qpbihu wyn hwdwpbbpp subnp t gmjLG:
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UtyowpwGnpjniGGp (Comments)

UtlGwpwlmpymGatpp pmG opwgph htan j{wupfwd odwlinuy intipu-
wbtip b6, npnGp Yndwhpywypwyp dwdwbwy whnbugmd &6 b 66 wqnmy
opwqgph hpwymbuydiwG Ypw: UtGwpwlmpymGGtipp Gwjuuwnbmjwd 6
ogqunugnpdnnGtiph hwiuwp b Gupwgpmy b6 dpwqph nplk wninnh Juyd w-
pnneww@ pinlh GrwbGwympymbp: C+ (Liqymui oqunugnpdynud GG tpym
wnhyh dhYGwpwimpim GGtp.

e wnnujhG dhyGwpwlnipimG, npp pwpquwG;hG hpwiwymd
t wwnbub) w)G wdtln, hG; gndwd t // uhdyn)Gephy htwnn $hGsb wyn minnh
ytpop,

e pinjuyhG dEYGwpwlmpjmG, npp pwpquiwGhG  hpwdwind
t wGwnbul] wyG wikGp, hG; qpiuwsd t /* uhdyn)Gliphy htinn, pwéh ntin 366G
hwlnhwby * uhiynGLpp:

3-1 ophGwind pinYuwjh6 StlGwpwinpymG t gmjwd 1-2 innbpmy,
nnnuijhG6 sEYGwpwbmp)mGGtp*9, 11, 13 b 15 mnnbpmy:

Lwhiwypngtunph hpwhwGqGlip

# GpwGny uljuynn nnntipp Ynsymd GG Gwpuwwpnytunph hpwhwlqGhn:
Lwhiwypnybunph hpwhwGqltpp pwpqiwGshG (compiler) hpudwGGhp
wnwim hwdwp GG: OphGuy, include Gwjuwwnnytunph hpwhwlqp pupg-
dwGshG hpwiwjimy & dpwgqph vk plnqplty npuk Huyg:

3-1 ophGwynty Gwuwwpnytunph hpwhwGq t gpjwd 4-pn ninnmay: U6
pupqiwi;hG hpuniugmd t opwgph dbg pGnqplty iostream.h gqpunw-
pwhwjhG pwjip, npp Gepunmad L wnfyuryGph dnunph b Giph hnupbiph uwh-
dwGntiGlpp:

C+ (tgmG pwjuwywbhG hwpmuwn t qpuwrnupwlwuihG dwyikpny:
“pwbyhy vh pwbhup, h6ywbu Gul win dwjtpmd vwhiwGwd mGyyh-
wGkph th dwup Gjwpwqpyud 6 1-h6 hwybwonud:

ChiGwlywG main() $nGlyghwG

DniGyyhwb dpwgpp piny t, npb hpwlwGuyGnd t dbYy uwd wytih qnp-
onnmipymG: C++ 1hqh ywGwywd dpwghp Jupnn t hp ke Ghpwnt; yunn
PImbyyhwGhp, vmuw)a qnynipymG niGh main() wimbGnyg hhdGwywa $niGy-

i
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yhw, npp ywbjwywd dpughp wiwwjyswb whwmp & wwpmGwyh (3-1 oph-
Guyh 6-ny mnnmud): Umynpwpwp mGyyhwGlipp YuGsynmd G6 wy pmay-
yghwGtph Ynnihy, uvwlw)b main() PmGyyhwa wnwGsGwhwnmy t. wyh
JuwGmd t owbpwyhnG hwiwljwpgh Ynnihy dpughpl wuwnwyGym
dudwluly’ wilwhu GpuGhy, pt dpwqph np hwnwomy t vwhdwGjwo:
Swlwywd Imbyyhwih wvwwnwbp ujuynud t puwyynn dbwynp thu-
Yuqdny ({) U wjwpuymd thwyynn duwynp thwluqomy (}) (3-1 ophGwyh
7-pn U 17-pn mnpbpmd): main() nGlyhwyh ytipehl wuinnmud qpgmu t return
0 hpwiw(Gp, npp G7wGwymd £, np pmGYyhwe hp w2lvwnwbpp Gnpduwy t
wjwpnby (3-1 ophGwyh 16-pn ninnnul):

OnhnpuwuaGtp L hwunhwwnntGatp

®nhnjuwljuiibp

£ZhynnmpymGp hwdwywpgsh dte Yuptih t phwwpyly npytu hwenp-
nupwp huwdwpwyunywd peheGph 2wpp: feheGhiph hwiwnGpp Ynsynid
tG hhznnmpywG hwuytGlp: Spwgpwynpnnp ywlljwywd pohoh Ywpnn t
wlniG sy b himmuquiynud oqunyti| wyn wanGhy' wowGy hdwGwim wyjug
pehoh hwuybkG:

Onpwqpuynpiwb kg thnhnhuwljwGilinG oqumuaqnpdynu L6 GpuGynud
hGPnpiwyhw wwhbpnt hwiwp: @mhnfuwwlp Yuptih t wyunibpuy Gty
npuytu hwdwlwpgsh hhynnnipywG pehe Ywd peheGliph hwenpnwlwbni-
pymG, npnGymy Yupnn t wnpdtip wyuhyt)* htvnwquyma dpwqph dke oqunu-
qnpdtym hwvwp: .

Onhnfuwwip hwpunwpwptpne hwdwp wihpudtywm & G245 hp wmhwp,
wjGnthtinl’ wGmGp.

ininfuwljwih_ why hmhnfuwlwh_wlnG;

OphGuwy,

double x;

UhufniyG wnhwh sh pwGh thmhnfuwiwG hwjmwpuptjm hwdwp jupt-
th t qpbp thapinfuwwbh whwyp b wmGahpp’ pwdwiywd wnnpultn-
Gbpny: 3-1 ophGwyh 8-pn nnnd hwywwpwpywd GG unipnng whwh a, b
artadryal wGniGmj rmhnfuwyjwGGhpp.

int a, b, artadryal;
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OnhnfuwuGh winilp Yupnn & Juqidwd (hGh) dbl Jud wybtih mu-
ntiph, pytiph b _ uhdyniGph 2wpphy: Uj6 sh uwpnn ujuyb) pyny b hp dbg
wwpmGuyl) nwnwpy vhidng' puywan (space): Uhlulm)6 durdwGuily, wyG
sytinp t hunipGy6h C+ (hquh pwGwih-pwntiph htitn (hwybjjud 3): G-
punp t hhoty, np C++ (Gqymu ddunnwnbtpp U thnppunnwntpp wmwpptip
Ytpyy GG hwuljuyynud:

LwuwnwunmGibp

Zwunwnm GGipG wpmnmwhwpnnp)ntGGbp GG, npnGp mGEG $hpuwd
wpdtip: LwumwunntGGhipp vwhdwGymy b6 htanbjuy Yhpwy.
const huunwumGh_why hwuwnmsnmbh winG = wpdbp;

OphGuwy,

const int a = 5;

Uju ophGwymy hwjnmwpwpdmi t wipnng whwh (int) a winibny hwu-
wwwnm b, nphl Ytipwgpdmd t 5 wpdtpp:

SYuwGtph dnunp L Gp

Bpwgqpuunptithu oquuugnponnp whwp t hGwpwynpmpymb mGGw
wyjw Gip dmnpwgqpl) hwdwjuwpgsh dbg b ippmy uinw Gy nput wpnymGp:
Npuybu wyyuybph dmunph vwpp hpiGwhwlmd hwuljwimy GG uvintn-
Guwzwpp, huy nputiu wwGph Giph vwpp’ typwtp:

SYwlGtph vwnwlnupm dmwph b Giph qnponnnipymGGLpp Yuwmwp-
ynui kG cin U cout hnuptipmy, npnGp wywhynid GG iostream. h qpunupuGmu:

SyywyGtph dnunpn (3-1 ophGwyh 10-pn mnnmd) C++ (hqymy Yuwnwp-
ynud t cin hnuph b >> owtpwwnnph ogGmpjunip, nphy htnn qpymd £ wyG
thmhnjuwljwGh wimbGp, nph ¥t whuwp t wwhiyjh dmwumpwugnjwd hGpnp-
dwyhwG: OphGuy,

cin >> a;
nnnnud a iumhnjuwljwGh wpdtipp dpwgph wzfvwnwlph pGpwypntd dmwn-
pwqpymu L vintinGuwzwphy: Uh pwih thmhnjuwjuGGtph wpdtpGhp umw-
pwqpbim hundwip Yuipbh t cin hnupp qpt) wdtG h hinthinfuwywGh hwiwp
wnwdhG: OphGuly,

cin > a;
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cin >> b;

UwljuwjyG Juptih t Gub qply Y cin hnup U dtihy wybh >> owti-
pwwnnpGbp, hGyutu 3-1 ophGwyma.

cin >> a >> b;

Syyun Gtiph typp C+H-md Juwwmwpmad t cout hnuph U << owtpwwninph
oqimpjunip, nphy htnn gpymud & wijG hwuwmwnmGp {uwd thnthnjuwywGp,
nph wpdtipp wihpwdbm t Yupnuy typwbhG: OphGul,

cout << a;

cout << 3;

cout << 4 + x;

cout << "constant string";

UnwghG ophGuynmd typwGhG wpnwdyma t a thnthnjuwlwGh wpdtpp,
tpypeppmd” 3 hwunwnmGp, Gppnpnmd® 4 hwuwnwwnniGh b x himhnjuw-
Juwbh wpdtiph gmiwpp, huy ynppnpnnud’ constant string nnnp:

Giph << owyjipwwnnpp th wpmnwhwpnmpjwb dt9 {uwpnn t oqunwqnpo-
Yty dtihy wytith wiqud:

3-1 ophGwyh 14-pn mnnmy qpywd t

cout << "artadryal = " << artadryal << endl;
npp GauGuwymu t, np 6w yhwnp t vuph artadryal = mnnp, wjGnihbnl®
artadryal thmhnfuwwGh wpdtpp, npwGhy htivin® Gnp innh hwewuanmGp:

QapdnnnpncGGEp U owkpunnnpGtp

PJuwpwbwljwub qnpdnnmpymbGabp
C+ (bqimd Yhpunymy &G htwnlywy pyupwGulwé qnpdnnnipymG-
Gtpp.

i | ViemwapmpmG | OpbGwly | Upnynitp
+ qnuiwpnud 15+8 23
- bwGmd 32-6 26
b puqiwwywnymd 1.5*6
/ pwdwlGnud 13/4
% dGwynpn 13%4 1
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U hpugpiwG ougbpuwnnp

Yhpwgniwl owtpwnnpa (=) oquugnpdniyd & thmhnfuwljwGhG wp-
dtip mwym hwiwp: Lhpugpiwb oyipwwinph dwfu dwumy qpynud Lk thn-
jhnfjuwhwlh wGmbp, pul we Ywumd’ wjG wpdtpp, npp Ypugpymu L
wnyjwy hmhnfuwlwGhG: UG upnn t hGh) hwunwanmG, hmhnfuwljuG
jwy nput wpnwhwjnnipymG:

3-1 ophGwyh 12-pn inymu artadryal wGmGny thnthnjuwywGhG Ytpuw-
gpymu t a U b hnhnjuwlwGhbph wpnwnpup:

C++ thqynui oquuuignpdynid GG Gusl wytith pwpn JapugniwG owtipw-
wnpGlp, tpt wGhpwdbywm t (hGmd wpnmwhwpnmpjwG dwhu Ynninud
qnyud thnhnjuwwGh wpdtipp thnful) pGnwdtGp dtY wpdtpny:

e | OBhGul | Zudwpdbpn
+= a+=b a=a+b
= a-=b a=a-b
b= a*=b a=a*b
/= a/=b a=a/b
Y%= a%=b a=a%b

Lwiyh wjn, ipt hmhnfuwlwGh wpdtpl wihpwdtym t wybjwy Gl Jud
wwljwuby Gl 1-ny, wyw oquugnpdymd LG dtidwydwE (increment, ++) U
thnppuwydwG (decrement, —) oytpunnnpGtpp: Ujn owtipwwnnpGhpp Yupnn
bG qpytip pmpnjuwjwGhy wowg Yud htunn: OphGuy, htmbjwy tiptip gnp-
dnnmpymGGupp hpwp hwiwpdtp ba.

at+;

a+=1;

a=a+1;

bpt ++ (Y --) oyjtipunnnpp gpymu t thnthnfuwwGhy hbwn, wwyw
thnthnfuwwiGh wpdbpp dhowyyma t (Yws thoppuyymi t) pGnhwlnp wp-
wnwhwpnnipjuG wpdtph hwaymdihy htwnn: ph + (Yl --) owpunnnpp
qnyma t thnnfuwlwihy wowg, wwyw thnthnfjuwywbh wpdbpp dEdwy-
ynud & vhGsh wpnmwhwjnnipjw wpdtph hwyoip U hwyydwG dbe dwu-
Guwljymd t wpnbG Gnp wpdtpny:
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ZunthiwwnnpyuG gnpdnnympymGGbp

Zuwitdumnmpjulb oyipuwwnnpGnd oquuugnpoymd kG Gpym wpnw-
hwjnmpymGGtp hpwp htin hwdtdwnmbm hwdwp: {witiwwnnipjwt wp-
nymGpp (hGmd t 6hywn (true) Yud ufuuy (false): Lwibdwwnmpjwl owtpw-
wnnpltpG m npwlGy GyuwpugpnipjniGp pipdwd GG wnjniuwlyma:

Lwdbdwunmpjwl
ouwbpwunp Lywpwgpmpjmb OphGuwy

= hwywuwnp t a=b
1= hwyjwuwnp st al=b
> ukd k a>b
< thnpp t a<b
>= Uto & Yund hwwuwp a>=b
<= thopp t Jud hwjwuwnp a<=b

Spudiwpwiwlut oyyipunnnpGbp

Spwdwpwlwlul outipwwnnpGlipp tintipG Ga.

1. Spwiwpwlwliwb dluniwl owtpunnnp (V)

x Ix
true false
false true

2. Spwiwpwlwywl 59 oytipunnnp (&&)

a b a&&b
true true true
true false false
false‘ true false
false false false
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3. SpuiwpwlwlwuiG YUU oytipunnnp (J)

8 b alib
true true true
true false true
false true true
false false false

GnhpGph nubdwl ophGulGlip

OphGuy 3-2

£bnlyuy dpwgnph oglimpywnip Yuplith & hwyyby b typwbhG wpnwoky
npywd R unwynny qGnujhG Swybpunyph S = 4nR? dwykpbup: Npujbu =
pYh dnnun|np wpdlp ogqunugnpdynud t pi = 3. 14 hwunwwnmGp:

#include <iostream.h>
// wvnwinupwn dnunph U Giph wyp
#include <math.h>
// Swpbdwwnplwlwb $mGyyhwltph gpunpupwth wyp
int main ()
{
const double pi = 3.14;"
/M hwpnwpupimi t pi = 3. 74 hwuwnwanmGp
double R, S;
// buynmwpwmmy 6 R, S hpuYywi hnhnpuwlwGGhpp
cin >> R;
. // vntinGuywnhy Gepimninud t R 2wnwynh wpdtpp
S =4 *pi * pow(R, 2);
/! S-hG Jtpwqpym k 47R? wpnwhw pompywG wpdtipp
cout << "S = " << § << endl;
// typwGhG wpwwn|md t § dwytpbuh wpdtipp
return 0;

}
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OppGuy 3-3
Luwnlywy dpwqgph oqmpywdp Yupbih t hwzgby U EypwbhG wpunwdt
wnpywo imuGhy pyh pywGywbGph gmubwpp:

#include <iostream.h>
// vinwGnwpwn dnunph U Gph dwyn

int main()
{
int N, a, b, ¢, S; )
// bwynwpupymd L6 N, g, b, ¢, S wmipnne thmpnfuwuiGGbpp
N = 356;
{// N-hG Jtpwgpynui k 356 tnwGhy phyp
N / 100;
// a-h6 Ytipwgpymy t N pth wowehG pywGywbp
N % 100 / 10;
/1 b-hG Ybpwqpmi t N pyh bptnnpn pywGwGn
N % 100 & 10;
/1 ¢-hG JEpwgpymy t N puh tppopn pywGwGp
S=a+b+c;
/1 $-hG Jbpwgnynud t N pyh pwGzwGGlph gnudwnp
cout << S << endl;
// typwiGhG wpnwnjmy t S inhnjuwlwéh wpdtpp
return 0;

}

[
"

o
]

(2]
]
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luGnhpGtip

3-1. Uty winph Ypw tYpwGhl wpmwmdtp tip wlimb-wqqubGnip:

3-2. UjwG wtiupny typwGhG wpnwotp Jtip winmG-wqquiGniGp:

3-3. EYpwGh6 wpnwotp 15, 32 U 28 pytipp’ pwyunnny hpwphy wigun-
Jwo:

3-4. EYypwGhG wpwnwodtip 7, 1 b 10 pytpp' YpYGwyh pwywnn| hpwphy
whpwnnyjwd:

3-5. Ujw6 wtupny typwGhG wpnwodkp 102, 345 L 178 pytipp:
3-6. Ujw wtupny tYypwGhG wpnwotp udwjwljwb hhGg phy:

3-7. Oqnugnpotiny hGwpuwynphb swih Gjuqugnyyl pwGuwynpywi -
ph owyipunnnp’ tpwGhG wpimudtp hnljuy wpunnipGhpp.

* % % % » & % %
* * * »
w) ¢ * P . .
L * . *
* &k % % *» & & %
*
*® *
* . * *
q) * , n) * *,
® & % 3 =» * *
* & » *
E 4
.
* & * *x * . * *
* ® * = * *
k) L q) * * *
* = * *

»*
*
*
*
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3-8.

3-9.
3-10.
3-11.
3-12.
3-13.
3-14.

3-15.

3-16.

3-17.

3-18.

3-19.

3-20.

3-21.

Spiwd x yimthnjuwlwGhb Ytpugpbp 12 wpdtipp:

Spjwd z inthnjuwywhG Ytpwgpbp -5.3 wpdtpp:

Spqud x hninjuwwGh wpdtipl wyGjwyptp bptipny:

Spwd s thnihnfuwlwGh wpdtpp tnppuypbp bplnum):

Spdwd GG a U b pytipp: Lwptp npuby qgnudwpp:

Spwd GG a u b pytipp: Lwpytp npuby dhohG pwpwGuljwGp:
Spywd t x ppyp: <wpytp y = 2x? +0.2x —8 wpwnwhwjpnmpywG wp-
dtpn:

Yhnqpuilhpny wpnwhwjnjwd qubqyudn Yapwotp gpuiGtpm]
gpywd quiliqwudh:

Imbuintipny wpunmwhwjpnywd qutqyuop Yhpwotp Yhingpuihpny
wnpwnwhwnud quigwuoh (1 Imbu = 405.9 Yq):

UnnGGapm] wpmwhwjmywd hinwgnpmpyniGp yipwdtp Yhindtun-
ptipny wprnwbw)wywd htinunnpmippwub (1 dnn6 = 1.609 i):
SuwptiGhtjpny wpnmwhwjpinjwd gipdwumh8wbp ytpwdtp Stjuhm-
uny wpnwhwjnywd gtpdwuwmhéwbh CC=(" F —32)-%):

Spywd G mynuGluG a U b Ynnitpp: Lwzytip mynublyjwe S dw-
Yhptup:

Unmwupuiqptip tinwGYjwb g Ynnuip b wyn Ynndhl wwpwd 4 pupdpm-
pintGp: Luzygtip imubGlywG S = % dwytipup: Spuqph hpuwiGuy-

dwl dudwGwl typwlp wtwp bt mGEGw wyjuwhup whup (oquu-
qnpdonnh Ynnivhy Gipdmoywo wmywGhpp qpiwd &6 diniq wunw-
wnbtuwyny).

Lbminidbp whhpwdt)n wyywyGhpp

Yont (@) =5

pwpépmpymG (h) = 4

dwytipbu (S) = 10

Unmunpwgptip utnuaGh a, b hhdptipp b 2 pwpdpmpyniGp: Lwpytip ub-

wh S= -ﬂh dwytiptiup: Spwgph hpwliwbwywi dudwbw ty-
n 2
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3-22.

3-23.

3-24.

pwp wtwnp t mGhGw wjuuthuh nbup (oqunuqnpdnnh Ynnidhy Gup-
dntdwd nyjwiGhpp gpyud GG dmq mwnwntuwyny).

Ltipdmotp wGhpwdtin wyywy Ghpp.

hhip (@) =6

hhip (b) = 4

pwpépmpymb (k) =5

Jwytptu (S) =25

Umwupwqgntp ppwGh R swnunjhnp: Lwgtp 2powbh D wnpwdwgh-
on, 2powwgoh L iplwpmpymGp b 2ppwGh S dwtptiup: Apytu
pYh dnwnwynp wpdtip oqunmqnpdtip pi=3. /4 hwuwmunnmGp: Spwgph
hpwiwGwydwi dwdwlwl tYpwtp uitinp E nbtiw wjuuhuh wbup
(oquuugnpdnnh Ynnvhy Gipdmoywd ujyuyGpp gpwd GG dmgq
wnwnwwnbtuwyny).

Llipdmotip wihpwdtizn wy i Gepp.
2wnwyhn (R) =3

wpwdwghd (D) =6

bpyuwpmpymG (L) = 18.84

dwytiptu (S)= 28.26

Ununpwqptip quwGh R Jwnunjhnp b b pupdpmpyniGp; Lwipgbp qpue-
Gh vwytplnyph S=2rnR(+R) dwybpbup b quGh V =naR%h
dSwjuwin: Npytu npyh dnnuninp wpdtip oqinugnpotip pi=3. 14 hwu-
wnmwwnnilp: Spwgph ppuwlwiuyiwG dwdwlwl Ypubp whinp &t m-
GLGw wyuwyhuh mbup (oqunuqnpénnh Ynnihy Gepuiniowd wnyjurg-
Gbpp qpjwd GG Unmq mwnwnbuwyny). -

Lbpindtp wihpwdbym mjw Gepp

2wnuwnhn (R) = 3.5

pwpdpmpimG (k) = 4.75

dwytpumjph dwibptu (5) = 181.335

ounjuy (V) = 182.70875

Spjwd t qGnh R wnunfhnp: wpytp qlinwjhG dwytiplngph
S=4nR* dwlptup U qGnh V =-§-1tR3 oSwjun: OQpwbu nt pup dn-

wnunjnp wpdbp oquuugnpdtip pi=3./4 hwuwwwnmGp: Spwqph hpw-
Juwbwydw6 dwiwbwy typwip whnp [ mGhGw wjuwhuh wbup
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3-25.

3-26.

3-27.

(oqunugnponnh Ynnidhy Gipdmoywd wmywiGpp qpwo GG dmq
nwnwwnbuwyny).
Lhipdmotip mbGhpwdtyn nyjuny Gepp.

2wnwyhn (R)=5§
dwlytiptiu (S) =314
Sunjuy (V) = 523.333

Umupuwgptip uGudtg quuiGh dtd R7, thnpp R2 wnwyhnGtpp b A
pwipdpmpymGp: Lwytp quubh V = t®R 1% —R2% )h dwjuyp: Npubu
pyh unwnwynp wpdtp oquugnpotip pi=3. /4 hwuwmunmGp: Spwgph
hpuwjwGuyiwb dwiwGuy tynwGp wbnp t mGLGw wjuuhuh mtup
(oqunugnponnh Ynnthy Gepdmoywd wmjwiGpp qpud LG dmgq
nwnwwnbuwynyg).

Ltpimotp wihpudtwm wmyjuy Gepp.

¥td Jwnwyhn (RI1)=$§

thnpp ywnwihn (R2) =2

pwpdpmpyma () =7
Swnjuy (V) =461.58

Spwd GG YnGh R 2wnwihnp b A pupdpmpyniGp: Lwpytp YnGh
|4 =§l1tth Swuip: ipytu # pth innwynp wpdtp oqunugnpotip

pi=3.14 hwunwnmGp: Spwqph hpwljwGwydwb dwdwGwy tYpwbp
whtwp & mGhGw wjuuthuh wtup (ogunugnpdnnh Ynnihy Ghpinud-
Juo wnfywGtpp gpywd b6 dmq mwnwwmbuwyny).

Lipdmotp wihpwdtinm wmyjuyGhpp.

2ununipn (R) = 6

pupdpmpymG (h) =8
owjur (V) =301.44

Zwp\Jtip dtd R Uthnpp R2 unwyhnGtpny onuih § dwytptup: Np-
wbu #n pyh dnwnnwynp wpdkp oquuuiqnndtip pi=3./4 hwunuwnmbn:
Opwqnph hpwjwbwydw6 dwiwGwy tYpwGp yinp t mGkEGw wju-
whuh wbup (oquuqnponnh Ynnihy Gipintdodwd wyjuy Ghpp qpywd
G Uniq mwnunntuwyny).

Lhpintdtp wihnwdbzwn wyjw Ghpp.

ULo pwnunjhn (R1) =5

thnpp yununthn (R2) =4
dwytpbu (S) = 28.26

29



3-28. Spwd GG Litipwpulwb npwjh U jwpmidp U R nhdwnpoipymGp:
Zwpytp 2npuny wiyGnn / hnuwGph mdp:

3-29. Zuipytip hwgnppupwp shwyywmd RI, R2, R3 b R4 nhdwnpnipymG-
Giphy Yuquyud tiijumpulwé 2npwh R phdwnpmpymbp:

3-30. Luipytip qniquhtn Shwygwd R7 U R2 phdwnpmpymbGuphy fuqd-

npiwnpnipjmbp:

RIR2
wd LitympuljwG wjhR=
Jud tityumpwlywb znpwjh T

3-31. Spjwo G RI, R2, R3, R4, RS, R6, R7 U R8 nhiwnpnipjniGGLpp:
Zwytip htimlijwy pnpwltph nhiwnpnipymGGepp.

Rl R2 R3

w)

P)
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b)

3-32. Npnptp, pti hwuwmwmnmE 66%wb nwly 1°K-ny mupwyGlthu pwbh
wiquni Jjutdmbiu npjud m qubqwony hntuquywb qugh dSwjuw-
I, tpt Gpw uyqpwlwb gpdwunhdwlp 2°K t:

3-33. Spywd t6 hpwphy wwpptp a, b, ¢ U 4 pytipp (GGpunpymd t, np
npuGp gpnjh hwywuwp 366): Lwbp hinbyjw) wpnwhwymnpyni G-

Gtph wpdtpGtpp.
w) 3a+4bc—d, k) 356272
—a
—-a+-
p) -854%, Q £,
2
9-2, b 1422
c a-b
a 1
mie D —
1+=
2

3-34. SpYwd LG wipnng x U hpwtjwa y pytipp: Oquytiny C++-h unwG-
nupwn gpunwpulh Swptdwwmpjuwliwi $mbyyhwGlphy’ butp
htwuyuy wpwwhwynmpymGGGph wpdtptlpp.

w)| x|, k) sin xcosy—cosxsiny,
p) sinx, qQ —8-\/x+\/x+y,

@ Feosy, by 777,

n) 75y° -Inx, B 1yl
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3-35.

3-36.

3-37.

3-38.

3-39.

3-40.

341.

3-42.

3-43.

3-4.

Spywd LG g U b hmhnjuwlwGGtpp: 3-ptip dpwahp, npp @ himhinjuw-
YwGhG Yybpwgnh b-h wpdtpp, hul b-hG" a-h:

Spjwd k6 a, b b ¢ hmhnfuwywGGpp: Qplip dpwghp, npp & timhn-
lewyuGhG Ytmugph ¢ thnhnfuwywGh wpdbipp, a-hG’ b-h, huy c-ha*
a-h:

Spywe kx hpuywa phyp: Oqunugnpdtiny thwjl puqiwuunliub
qnpdnnmp)jnilp’ hwytip x* wpnwhwynnipjwG wpdtpp tkpym qnp-
onnmpjunip:

Spywd b x hpwwl phyp: Oquugnpotijny dhw)6 puqiwwunnliwb
qnponnnipymGp’ hwzytip x® wpmwhwjynnpjwG wpdtipp tipbp qnp-
onnnipjudp:

Spyuwd kx hpwywé phyp: Oquuqnpdtiinyg dhw)G puqiumumydiwu G
qnponnmpimGp hwyytp x wpunwhwjpnmpjwi wpdtpp ynpu gnpon-
nmpjuip:

Spywd t x hpwuG phyp: Oqunuqnpdbiny vhwjiG puqiwwyunydwb
qnpdnnmpjmGp’ hwjtp x* wpnwhwymmpjuG wpdtpp tiptip qnp-
onnmpjunip:

Spywd t x hpwlwb phdp: Ogquugnpdtiny vhw)G puqiwujunnyswb
qnponnmp mGp hwzytp x° wmnwhwpnmp w6 wpdtpp ynpu gnpon-
nnipjudp:

Smjwd & x hpwYw phyp: Oquwgnpdtiny thwj6 puwqiwuyunnliwb
qnponnmpjmGp’ hwjtp x"° wpnwhwynmpjwb wpdtpp ynpu gnp-
onnnpjuip: _

Smjwd k x hpuwuG phyp: Oquuugnpdtiny dhw)6 purqiwujunyiwub
qnponnmpynilp hwybp ! wpwnwhwjnmpjub wpdtpn Yty gnpon-
nnipjulp:

Snjwd tx hpwlwG phyp: Oqunugnpotyny shwjl puqiwuwnliwG
qnpdnnmpymGp hwytp x* wpunwhwjnmpywG wpdtpp Yhy qnpon-
nmpjudp:
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©Oydh pywhwGGEph wipwuinud

3-45.

3-46.

3-47.
3-48.

3-49.

3-50.
3-51.

3-52.

3-53.

3-54.

3-55.

3-56.

3-57.

3-58.

3-59.

Spywd t tpyGhy phy: EYpwlGhG wpwnwotip wyn pyh wnwehG pYw-
Gowp:

Spywo t tpyGhy phy: EYypwGhG wpmwobtp wyn pyh JupghG pyw-
Gywlp:

Spywd t tipYyGhy phy: Lwtip wyn puh pYwlzwGGlph gmbwnp:
Spjwd t tpyGhy phy: <wytip wyn pyh pYwGwGGph wpnw-
npjwyp:

Spywd t tpyGhy phy: EYpwGhG wpnwdtp wj phup, npp Yunwyyh,
bph ntinwhnjuytl npywd pyh pywizwGGbpp:

Spqwd t tnwGhy phy: Lwpgtp wyn pyh pYwGwiGph qnudwpp:

Spywd b tnwGhy phy: Lw2ytp wyn pup pywbywGtph shehG pyw-
puGwijuGp:

Smjwd t bnwbGhy pm: Lwpytp wyn pyh pywGwlGlph wpumw-
jwn:

Spywd t inwiGhy phy: EypwGhG wpmwdtp wjG php, npp uwnwyith
wpjwd pyh pywGwiGipp wohy dwhu Ywpnuhu:

Spywd t inwbhy phy: EYpwGhG wpnwotp w)G phyp, npp Yunwygh
npywd pyh wewehG pywGwhp pyh Ytpehy gntijhu:

Spywd t inwGhy phy: EYpwGh6 wpnwotp wyG phip, npp juinwyyh
wnpjwd pyh wnwehG U kpypnpny pywGwlGipp nwtnuthnpubjhu:
Spywd t tinwGhy phy, nph pninp pYwGywmGGhpp nwpptip LG: TY-
pwGhé wpnwdtp Yty phy, npnGp Yunwyytb wnpwd pyh pywd-
2wGGtpp ntinunhnfutiihu:

Spywd t punwbhy phy: Lwzytip wyn pyh pYwlzwGGsph gmuiwpp:
Spywd t puwnwGhy phy: Lwaytp wyn puk pywlwGitph wpnw-
nnjup:

Spjwo t punwiGhy phy: EYpwGhG wpnwotp wjG phyp, npp Yuwnuy-
yh wpwd pyh wnwghG U tpypnpn, hGywhu Gul® tppnpn U snppnpn

pYwGywGGLpp mtnuhinfutjhu: OphGuly, ipt wpgwo t 7542 phyp,
whwnp t unwtu 5124:
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3-60.

3-61.

Spuwo t pwnwGhy phy: EYypwthG wpnmwdtp w6 phyp, npp Yumwy-
Yh wpwd pyh wnwghG U ytpghG, hGywbu Gwl’ tppnpng U kppnpn
pywGwGtpp nmtinuthnjutijhu: OphGwy, tph wmpywo & /542 phyp,
whnp t unmwGuy 2451:

Smywd GG tplyGhy pyh a2a; b Shwbhy pyh b pYwGwGGknp, npntin
a;-p tplGhy pyuh dhwynpG t, a;-p’ mwuGuynpp: Uwnwytp inpyjwd tp-
Ym pytiph gmiwpmihy vinwyywd pyh pyuGubitpp (LGpunminud
t, np wyG tpYyGhz phy t): Spwd tpYyGh phyp b gnudwpwhG GpyGhy
phyp snpn2ty: MwypdwGh owtipunnnp joquuwgnpdty:

. Spyjwd GG imuGhy puh asaza; U tpyGhy puh b26, pywGwGGtpp, np-

whn a;-p U b;-p shwynpGhpG GG, a;-p U b,-p" mwubwynpGlpp, a;-p
hwpynipuynpp: Unnwybp wmpjwd pynt pytiph gnudwpnuhy wunuy-
Ywod pyh pwGuGGtpp GGpwunpymy t, np wyG tinwGhy phy t): Gm-
dwpbt hGbpp U gmidwpp jnpnoty: Mwydwbh owpunnnp joqunugnp-
otip:

Spuwdwpwlwywd nhwyh hnhnfuwyuGGEp

3-63.

3-64.

Spywd LG x, y U z mpudwpwlulul hmhnfuwywGihpp: Lwpytp
htnlyuy npuiwpwluiul wpnwhwpnmpniGGuph wpdupbtipp’
Wipunptiny,npx=Ly=0,z=1

w) xhy, qQ xuylgz

P xlhwdz L) nyxunyy,

q nyxluz P ng(xuy)judz,

n) yYudngx, p) xfud (ny(y hud 2)),

b))  xYuwdy juwd z, d) xbLyYudxlzYuninyz:

Spywd G x U y pytipp: Lwpytp htnlyw mpwdwpwluywb wp-
tnwhwynmmpjniGGiph wpdtpltpp.

w) (x?+y?)2 6, npntnx =2,y =-3,

P 2DYwd@?24),nuntnx=1y=2

Q) (y#0u(@<x),npnnx=2y=1

D (ng (y>2)) Y (y< x), nputinx =7,y = -3,

) (x+y)sSS)umy(x=y)),npmtinx=1y=3:
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aLnkHv 4

mu3vuuvh omegrusnruen

CanhwGmp niypnid C+ (iqym| qmjwd dpwqpbipG hpujwGwlimyd L6
wnnn wn wnnn: Uwiwj6 hwdwju wGhpwdbzw t thGmd npnzwih wwjdwGh
ntwpnud dpwgph npuk hwinjwd shpwwGuwyGly: Mwjdwbh owbtpwnnpp
hiwpwynpmpymG t wnwihu hnjubt| opwgph ppwjwlwydwG pGpwypp’
Ywlugwd nplit wywpdwGhy:

if-else wuytwGh owbpwwinp
if quydwGh owyyipwwnnph wwpquqm )G wmbupp htinliyun G t.

if (wuwydwG)
qnponnmpyma;

Yinp thwlwqdtph kg qpwd wwjydwlp Yupnn t (hGh uiwjwuywul
wpuwiwpwliwiwé wpnwhwyjnmpymG: 6pt w)jG YyipwnwpdGh true wpdtip,
wujw wujjdwlGh oytpwwmnph vwpiGh dt9 gpywd qnpdnnmpymibp Yhw-
wnwumh, hwijwnwy niuypnid wyG pwy YpnnGih:

Gpt wywyiwGh pwjuwpupiwG nbwpmy whwnp § JjunwpykG dtyhy
wykith gnponnmpymGatp, wyw npulp wewp t qpyté duwynp thwljw-
qdtiph kg,

if (wwjuwi)

{
qnponnmpymda_1I;
qnponnmpymG_2;

qnponnnipymG_N;
}

Lwswh wGhpwdbtzwn t, np nplt WwyswGh hpwjuwGwiwim phwypmd
opwghpp Yuwnwph dh gnpdnnnipym6 (Yud gnponnmp)mGGtph sh funuip),
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huy shpwwlwbuwm nbwypnyd® wy; qoponnmpyma (Gud gnpdnnmpymG-
Ghph WBY wy; funwip): Uyn niypnud ogunymu LG else (hwjwnwy nupmy)
pwGwh-punhy.
if (wwydwa)
qnponnnipymG_l,;
else
qnponnmpyma_2;

Yud, gnponnmpjmGGtph fudph nhwpmd,

if (yuytwl)

{
qnponnmpymG_11;
gnponnnipymG_12;

qnponnmpniG_IN;
)

else

{
qnponnmipymG_21;
qnponnmipymb_22;

qnponnmpynil_2M;
}

if-else uyuydwGh oujpunnnph dwmihGGtph Wh9 Jupkih L ogunuqnpdby
pwywlywGh6 pupn oujipwnnpltp: Uju qlnqpnui nput ywhdwGunhwyjnid-
Gtp j4wG: Ophﬁmq,
i (yuydwd 1)
i (WuwydwG 2)
qoponnnipjmi_1;
else
if (wuwdwé 3)
gnponnmpimG_2;
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else

qnponnmpmG_3;
else

qnponnmpma_4;
switch plwnpdwG owbLpwwnnp

Zwdwfu if ywypdwGh owtipunnph Yhpwnnudp juwpnn b pbptp punjw-
Jwé vkd pyny Ghpnpywd upupdwGGlph, pGsp YpwpnwyGh hGyugbu dpugh-
np qptijp, wjt htnnwqumi hwujwwip: FpwGhy junmuuthtim hundwp
C+t+ (tigynud ogunuiqnpoymd £ pinpdwl switch oytipwwnnpn: W6 pmy t
wujhu dhwduwiwlGuwy vinmql) dh pwGh wwjiwE, nph wpnyynuGpmy opw-
ghph wluwnuwbpp punGmy bt undtjh wppmGuytn: switch oujipuwnnph
Junniyywopp htinbijunG t.

switch (wpumuhwjnnipmi6)
{
case wndbpl : qnponnmipym@_1;
break;
case wpdbp? : qnponnmpymaG_2;
break;

case wndtpN : gnponnnipymiG_N;
break;
default : qnpéngmipyma_0;
}

Ynp thujuqotph dhe gpywd wpwnwhwjnnipyw 6 wpdtpp hunitiiwwn-
Ynud t case oyipunnnpGph YnnphG qpyuwd wpdtipGbph htwn U, hwipGy-
Ghm puypmd, Junwpymy t hwiwuyumwupuuG case owtipuwwnnphb Y-
pwptinnn qgnpdnnmpimGp: Gnponnymp)nibhy htinn qpynud & break owtipw-
wnnnp, npp pntg) L wnwhu gnipu quy switch owpwwnnph dwmiGhy: Gph case
oytipunnnph wpdtpGliphy ny d6yp sh hwdpGYGmd switch oujipunnnph
wpnwhwpnnipjwG htin, wujw hpwlwGuGmy t default onjipuwnnnph Ynn-
phG gpywid qnpdnnnipmGip: bph default ouypwnnpp pwywuynud t, wuyw
ujjumd t hpuurbuGuy switch owpwwnnphG hwenpnnn pinyp:
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luGnhpGhph nLédwl ophGwiyGhp

OphGwy 4-1

Ltnljwy dpwgnny Jupbih b unmqby® wpyn®p wplwd bpyGhy pyh
PYwGwaGtph wpanwnpywip bu GpyGh phy t:

#include <iostream.h>

int main{()

{
int N, a, b;
cin >> N;

a =N/ 10; //a-h6 jupuwgpynid t N-h wowghG puGwGp
b =N % 10; // b-hG yupwgpmd & N-h tpypnpn pywGzutp

if (a *b >= 10 && a * b <= 99)
// wvnmqynid t N-h pywGywGitiph wpmwnpputh'
// bplGhz phy 1hOGiDt wywiydwGp
cout << "Yerknish tiv e" << endl;
// wymypdwGh Ghyw (hGEym nhupmd typwGhG
{/ wpowoymd t "Yerknish tiv e” wnnnp
else
cout << "Yerknish tiv che" << endl;
{/ upuaydwiGh uhuuy thGym hivgpmd typwbhG
// wpowdymy t "Yerknish tiv che” mnnp
return 0;
) .



Ophtwly 4-2

£tanluywi dSpwghpp pouyy Ewnwhu wpywd hpuw6 x pyuh hwdwp hwpyt
y thnthnJuwljmGh wpdtpp, tpt
_ | x® +sin x, tpk 25 < x < 286,
Y= { 12, hwijwnwy nbypmu:

#include <iostream.h>
#include <math.h>

int main{()
{
double x, y;

cin >> x;

if (x >= 2.5 && x <= 28.6)
// mnmqymu t 2.5 < x < 28 6 wwjtwGp
Yy = pow(x, 8) + sin(x);
// qquydwiGh Shyw 1hGEm ptypmy y hmhnfuwywGhG
// Jipugpymu t x® + sinx wpnwhw junipjwG wpdtpp
else
y =12;
// wpupdwGh vjuwyg thGEym nwpmd
// y thnthnfuwlwGhG Jpwqpyoni t 12 phyp
cout << "y = " << y << endl;
/ typwGhG wpwnwdynud t y thnhinfuwlwbh wpdtpp
return 0;

)



OphGuy 4-3

Ltnljwy dpwghpp pnuyy E wnwghu inpgwd hpwyw6 x pgh hwdwp hw)-
Yty y thmhnjuwlywGh wpdtipp, tpt
cosxHx—2|, tpti x< —4,
y=4{x+Inx, ipt —4<x<4,
tgx — Jx+2sin?x , hwjunwly piypmuy:

#include <iostream.h>
#include <math.h>

int main{()

{
double x, y;
cin >> x;

if (x < -9) // vnnigod t x < —4 wpuydwGp
y = cos(x) + fabs(x - 2);
/[ ypuydwGh Sh2w 1hGhjor piupmy y thmhnjuwuGhG
// Jipwgpymy t cosx+|x — 2| wpunwhw jinmpjuG wpdtpp
else
if (x >= -4 && x <= 4)
// winngymd t —4 < x S 4 yujswGp
y = x + log(x); '
// wpuydwGh Ghywn 1hGhnt piypmd y thmhnjuwljwGhG
// Jbpuigpymu t x + In x wpmwhwjnmpwb wpdtpp
else .
‘ y = tan(x) - sqrt(x) + 2 * pow(sin{(x), 2);
// wquydwGGtpp jpwyupupbim ghyptpmd y thnthnjuwlwGhG
// Jupwqpyma t tgx ~Vx+ 2sin%x wpwwhwjjnmpjut wpdhupp
cout << "y = " << y << endl;
return 0;
}
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OphGuwYy 4-4

Ltnlywy dpwghpp pniyp t wmwihu EypwbhG wpnwdt; nwpjw bnw-
Gwyh wejwlmap (ddtn, qupmG, wiwun, wymG)' Gipdmdotiny wjn tnu-
Gwlh Ywpguwhwiwpp (1, 2, 3, 4):

#include <iostream.h>

int main()

{
int k;
cout << "Nermuceq shabatva orva kargahamary : ";

cin >> k;

switch(k) {
case 1 : // 'y = 1 giwypmy wpwnwoymy t Dzmer mnnp

cout << "Dzmer" << endl;

break;
case 2 : //y=2 ptypmy wpnwoymi t Garun wmnnp

cout << "Garun" << endl;

break;

case 3 : // y =3 nypmd wpnwoynud t Amar wannp
cout << "Amar" << endl;
break;

case 4 : /! y = 4 niyipmd wpnwdymd t Ashun \onnp
cout << "Ashun" << endl;
break;
default : // nbpw)G nbwpp
cout << "Aydpisi yeghanak goyutyun chuni”
<< endl;
break;
}
return 0;
}
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luGnhpGbp

4-1. Spywd GG hpwphy wwpptp bpym hpwwG phy: EYypwGhG wpuru-
otp wyn pytiphy Lop:

4-2. SpYwd GG hpwphy wwpptp Gpynt hpwyw6 phy: EYypwGhG wpnw-
otip wyn pytinhy thnppp:

4-3. Spjwd &6 hpwphy wwpptp pyn wipnng phy: Lwydtp wyn pdtph
pwinpnp: Gpt pwdwGwpuwpp qpn t, tYpwGhG wmnwotp Bajanarary
zro e mnnp:

4-4. SpYwd LG tpym htinwynpmipjm G’ YEYG wpwmwhwjjngwd Yhindkn-
ptpny, $ymup’ diwnptpny: Lwbp’ wyn hinunnpmpymGGtphy npG t
wtijh utio:

4-5. Spdwd &4 tpym wpwgmpym G kY6 wpnwbhwjjnydwd Yi/d-ny, dym-
up’ WAl-ny: Unmqbip® wjn wpwgmpymGGtphy npa t wytih thnpp:

4-6. Spywd kG ypgwbh gwpunjhnp b pwnwynium Yonsp: Uinmqbip' wyn
wwwnytpGtphy nph Ywytiptub t wybih oLo:

4-7. Spywd th6 tpymt mwpptp YwpshGGiph quGgywdGtpG nu dwjwy-
Gtpp: Uinmqbp’™ wyn BwpdhGGiphy nph juwnngpymG6 & wybyh thnpp
(tGpunnmu k, np SwpihGGLpp mwpptp Gymptphy GG):

4-8. Spjwo GG Ltjwpwlwb snpwih Gtpym® hpwp hbwn pshwyjwd
hwwujwdGtph ghiwnpmpymGGtpp b GpuwGyhy wdkG dtyh Ypw
wpdwl wymiGtpp: Unmqglp® znpwjh np mtqudwuny t wlylimd
wybih (inpp hnuwGp: ;

4-9. Spjwd b6 a, b, ¢ (a=0) wipnng pytipp: Lwpytp ax® +bx+c=0
hujwuwpdwG hpuwywl wpiwnGipp, tpt wnuwhuhp Ywa, hwju-
nwy pliyypmid typwGhG wpnwotp Havasarumy chuni irakan armat-
ner unnp: Lwjwuwp wpswwnGipp nhypp snhnwpyby:

4-10. 2pwdGh wwnndinid wpnwenGG nt bjthuopeGp dhojwly dqmd GG
qpuyhwnwyhn( b tjiumpuywi mdtpny: Npnptip” wyn mdtphy npG
wybih 66d U pwGh wiqud (m, =91-107'yq, m, = 167-107"yq,
e=16-10""4}, G=667-10"Lu*yq?, k = 9-10° L /%)

4-11. SpYwd 6 g b b wipnng pytpp: Uwnimqbp® wpyn®p b phyp a pyh pw-
dwGwpunp t:
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4-12.
4-13.

4-14.

4-15.

4-16.

4-17.

4-18.

4-19.

4-20.

4-21.

4-22.

4-23.

4-24.

4-25.

4-26.

4-27.

Snywd t wdpnng phy: Unmglp® wpnyn®p wyb qnyyq t:

Spywd t pGwlwb phy: Unmqtp® wpnyn®p wyn puh YtipehG pyw-
Gpw6p 2 k:

Spywd t tpyGhy phy: Unmgtp® wpnyn’p wyn pyh pwlzwGatpp
hpwp hwyjwuwn LG:

Spywd t tpyGhy phy: Uunimqbp® wpnyn®p wyn pyh pwnwlniuhG
hujwuwp t Gpw pywhywiGhph junpwGwpnGtph qnuiwph
punwujunnhyhG:

Spywd t tpyGhy phy: Unmqbp® wprynp wyn puh pwGwGGuph
qouiwpp tpyGhz phy t: .

SpJwd t GpyGhy phy: Unnmqbp® wprynp wyn pyh pywGwGGhph
gnuiwpp S-h Ypw pwdwGymy t:

Spywo t tnwbhy phy: Uwnmqbip® wpnynp wyn phyp wehy U dwituhy
Jupnwihu GniyGa t:

Spjwo t tnwGhy phy: EYypwGhG wpnwdtp wyn pyh tpypnpy b tp-
pnpn pYwG2wGGsphy hoppp:

Spjwo L GnwGhy phy: Unmglp' wpryn®p wyg pyh pwnwyniuhG
hwyjwuwp t Gpuw pwGuGGbph junpuGupnGtph gmiwph:
Spjwd t tnwbhy phy: Uinmqbp® wpnyn®p wyn pyh pywGrwbGtph
wpunwunpjwip tnwGhz phy t:

Spjwd t knwGhy phy: Unniqtp® wpnynp wyn pyh pjwGzwlGlph
qnudwipp yLo £ tnpwd a pyhy:

Spywéd t inwGh? phy: Uwnniqtp® wpnyn®p wjn pyh pywGwGGtph
wpnunpjuip pudwlymd t npgwd b pGwlywb pyh ypu:

Spjwd t tinwGhy phy: Uwnmqtip® wipnyn®p wyn pyh pywGwGGkpp
hpwp hujwuwp Ga:

Spjwd t tnwGhy phy: Uwinmglp® wpnyn®p wyn puh pwbwGGtiphy
qnGhb tpYyniub hpwp hwyjwuwp Ga:

Spqwd t punw6hy phy: Uwnniqlip’ wpnyn®p wyn phyp tpgwthy t
(pwnwlGhy phyp Yngynid £ GpowGhy, tipk hp wnwehl 2 pYwlzwG-
Gtph gmuiwpp huwown t tpght 2 pwGwllaph qnuiwphG):
Spywd t punwGhy phy: Uwnnigbp® wpnyn®p wyn pyh plwGywGGtph
wpnuwnpjw]p pudwlynud t apywd ¢ wipnng pyh ypw:
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4-28.

4-29.

4-30.

4-31.
4-32.

4-33.

4-34.

4-35.

<wjnGh t phpwiuh x YnnpnhGuinp U pnwGnph wpih uyqpGulwG
v, wpugnipjmbGp: Uwnmqghp' wpyn®p mpjwd a, whlpjwG wuy
Ypwitihu wpyp yhwpgwoh phpwfuhG:
Spjwd t dhjupwGhjuliwé wmwwnmwliniGiph hwdwjunpniGp:
Uwnnigbp’ wpryn®p dwpnm wiwGeG w6 pGywimd & npytu dwjG:
lvwpitpmyh (muwyhpp wyluwnmd t bl Yhpy. jpipupwG-
yoip dundhy ujuwd” Gptip powt Junygnwl t {uGws jmgup, waw bp-
Yot pnuyt’ Yupdhpp, wjGnihtnl tpip powb qupdywy YuGup b
wynutu 2upm Guy: Spjwd k. hpuYwb ¢ phyp, npé wpnwhw jjnmy t
htppwjwG dwihy wlywd dwdwlwyp' pnytGhpny: Apnytp’ wyn
wwhhG ymuwyhph np myu t Junymad:
Uwnmqtip  wpyn®p wpqwd phyp upuumnuGned t {-3; 8] ShowlwphG:
Spywd t hpwlw x phyp: Lwytp y hnthnfuwlwGh wnpdtpp, tpk
- x? iph-3 < x < 124,
0, hwjumnuy ptiwypma:
Spywd t hpwlwa x phip: Lwzytp y thnhinfuwlwGh wpdpp, tpt
_|sinx,tp02<x <09,
1, hwjunwy nypmud:
Zupyip wipjwd R wnuynny b p owjuwpwyhG juwnmpjwuidp
hujwuwpwswih thypwnpywd glinh untindwo Ljunpuwiwi nuw;-
wh E jupjwdmpjuG stidnip)niGp htinbijuy, puGuduny.
4?1‘ pr.tpti r <R,
E()=

nputin qGnh YEGunpnGhy inwd r hinwynpnipymGp Smunpugpymad t
untnGuwwphy: Npwtu n pyh dnnmunnp wpdbp oquuugnpdtp
pi=3.14 hwununm Gp:

Zwipytip mpjwd R zunwynny b p dwjwipwyhl junmpjudp hwyjw-
vwpwiwh thypwynpjud wlytpg quuGh vntindowd tiklpnpulwb
nw2wmh E jupjuompjul dkontpjniGp htunbjuy puGwduny.

44



4-36.

4-37.

4-38.

4-39.

4-40.

2npr,tpti r <R,

E(r)=
®) 2nR’p1,bph r>R,
r

npntin guuGh wowbyphy tnwd r hinwynpapymGp inunpwgpynud t
untnGuywphy: Npwbe ® pyh dnnwynp wpdlp oquwugnpotp
pi=3. 14 hwumwunm Gp:

Zwipytp wipqwd R 2unwynny b o dwibpumpuwyhG jpwnnpjudp hw-
Juwuwpwswith thypuynpywd qlnwjhG vYwytpumjph uwmbtindwd
bityunpujub nuywnh E jupjwonipyul dtdmpyniGp htnlyuy pu-
Gwdlny.

0,tpt r<R,

Er)=
® 4nR’s iz,hph r2R,
r

npwntin gGnh YEGwnpnGhy inwd r hinwinpnipymGp dntnpwgpymy t
unbtnGwywphy: Npuytu ® pyh dnwnwynp wpdtp oquwuqnpdtip
pi=3.14 hwunwunmGp:

Zwipytip mpqwd R punwynny b o dwitpimipwjhG juwnnmpjundp hw-
fwuwpwyunh  (hypwynpjwd  wGybpg quubwihG  dwytpumph
untnowd titmpwlwl puwh E jupjuompyjwuG dtdmpjniGp ht-
wnlyw] pwGwalny.

0,tpt r<R,

E(r)=
® 41tR0‘-l,hph r2R,
r

npwntin quuGh wpwyphy tnwd r hinwynpnipniGp Untnpwgnmu k
unbtnwywphy: flpyhu & pyh dnnwynp wpdtp ogunwgnpotp
pi=3.14 hwuwnwwnm Gp:

Spwd LG x, y U z hpwljwG pytipp: Uinmqtip® wikinh mGh® wpnynp
x<y< z wujdwln:

Spwd hG x, y U z wdpnng pytipp: Uinmgbp' wmtinh mGh® wpnynp
x 2 y> z wuw)dwp:

Uwnmqtp® wpnyn®p mipwd a, b b ¢ Ynnitpny towGYymGp hunjw-
uwpwupmG t:
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4-41.

4-42.

4-50.

4-51.

4-52.

4-53.

4-54.

Uwnmqbp' wpnn®p wipjwd a, b U ¢ tpupmpymG niGynn hwnwd-
Gtpny hGwpwynp t tnwGYyynG Yunmyb) (npjwd a, buc tplupni-
pymG mGtynny hwwnwdbhpny nwlGlyymG hGupwynp t unnyly,
tpl a< (b +c) W b< (a+c), Juwi tpt Ynqitphy wikGuiton thnpp t
yjnwu tpymuh gmiwphy):

Swphl Ynpymd t Gubwby, tpt pwdwGimd t 4-h: Gph wmwphb
pwdwibynmy t 100-h, pwyy ;h pwdwGynui 400-h, wuyw wwphG
Gwhw(g 3t: Unmqbp' wpnyn’p wipywd wwphG GwhwGy t:

. EYpwGhG wpmwdtp mpjwd GowGhy pyh pywlrwGltphy whow-

qmjGp:

. Spywd t inwtGhy phy: Uwnniglip' wpnyn®p wyn pyh dtig 5 pYwGywbp

wwpm Guljynud t:

. Spwd t inwGhy phy: Unnimgtip® wpnyn®p wjn pyh kg wpdwd a Yl

b pywGywhGtpp wwpniGwyymy GG:

. Spyjwd t punwGhy phy: Unmqbp' wpnn®p wyn pyh dkg 5, 7 jwd 9

pywGwGGtpp wuwpm Guyymy Ga:

- Spjwd t punwGhy phy: Uwnmqbp wnnyn®p wyn phup wehy U dwjuhy

Jupnuhu Gn)G66 t:

. Spywd t pwnwGhy phy: Uwnmiqtp® wpnyn®p wjn pyh vty tiptip Shw6-

dwl pywGwGitp ywpnGwyymd Ga:

- Spywd t pwnwGhy phy: Unmqlp® wpryn®p wyn pyh dte pninp

pywGwiGEpp mwpptpymd GG:

EypwGhG wpnwotp w6 punwGhy phyp, npp 14-ny puqiwuwwwm-
Ytithu nuunGmy t pGwljwG pyh punwyniuh:

Spywd t hGquihy phy: Unmqtp® wpryn®p wyn phyp wehy U dwjuhy
Yupnwihu GmyGa t:

Unwiy oquujtint C++-h unmwlbnupn qpunupuGh Swphdwwnh-
JujwG pmGyyhwblphy, tynwGhe wpunwstp wmpywd hpwyjwé pyh
puywpdwl wpdtpp:

Spywéd GG a b b pytipp: EYypwGhG wpnwdtp a pyh YpjGwugunhyp,
tpb wj6 dGo t b pyh puywpdwl wpdtphy:

Spywd LG a b b pGwlwb pytipp: b phyp pwdwGlip 2-h, tipk Jb>a
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4-55. Spywd L6 tptp wiipnne phy: Ujn tptiphy typwGhG wpnwotp 4-h
Ypw pwdwbynn pytipp:

4-56. Spwd LG Lptip wipnne phy: EYpwGhG wpmwdtp wyn pytphy
npuluGGpp:

4-57. Spwd GG tphip hpwywG phy: Uyn tptphy typwbhG wpmwdtp
(-23; 104) dhewywjphl wwwnywénn pytpp:

4-58. Spywd GG ynpu wipnng phy: <wytp wjn pytphy qnuqtiph pw-
Guyp:

4-59. Spywd t wuypwlph ghGp: bpt w)6 Uk & 1000-hy, hwyytp 20% qting,
huly ipti thnpp t 1000-hy, pwyy ko & 500-hy, hwyytp 10% qtins:

4-60. EYpwGhG wpwnwotp wpywd tptp hpwywb pytphy witiGwitdt m
wikGwhnppp:

4-61. typwlGhG wpnwotp wnpwd tptp hpwlijwé pytphy wikGwitohy
thnpp U wikGuthnpphy dGd phyp:

4-62. tYpwGhG wpnwotp wiG phyp, npp Yuunwydh wpgwd inwbhy pyh
pYwlwGtpp wedw6 Yupgny nwuunnptijhu:

4-63. Lwipytip wpwd tptip hpwlwl pytiphy tpym wikGudtotph qni-
dwpp:

4-64. Spywd kG a, b, ¢ (a# 0) wiipnny pytpp: Lwyytp ax® +bx+c=0
hunjuuupiwG ppwjul wpiwnbGlipp, Gpt wynuhuhp Ywb, hwyw-
nwl nbwpnud typw6hG wpnwotp Havasarumy chuni irakan armat-
ner: +hnwpylip Gl hwyjwuwp wpdwnGhph niwypp: '

4-65. Spywd x hpwiwi pyh hwdwp hwyytp y thnhnjuwywGh wpdtpp,
tipt

(

|x*, tpt x< 0,

y = —2x+—{—, tpt x €[0; 1],
1+x

[3-x|
l 1+x

4-66. SpYwd x phpwlywb pyh hwiwp hwytp y tnthnjuwiwbh wpdtpp,
tpt

, hujunwuy nbwypnui:

47



r1+Jc+x2

, bpti x< 0,
1+x?
y={ 1+ zxz,hpbxe[o; 1,
1+x

2105 +sin x|, hwjunwy phupnuk

\

4-67. Spwd x hpwlw6 pyh hwdwp hwydtp y hinhnfuwjwGh wpdtpp,
tph

[ 14x]|

Viex+x?

y={2In(1+x?), tipt x e(-1; 0},

sin x-e™* hwljwowy phwpmy:

, Gpi x £ -1,

L

4-68. Spywd x hpwlywé pyh hwiwp hwpgtp y thnhnfuwlwGh wpdbpp,
Lpt

(14)x]

e, bp x< -1,

1+x

4
y={4x ln(l+x‘)+l+2c$,- tpk x [~1; 0),

a+x)*, hwjwnwy nbwpmd:

4-69. Spywd x hpwlwh pyh hwswp hwpytp y hinthnfowuh wpdbpp,
tiph

. sin x4+ x% - 1+3x|, tpk x< -3,
y ={x—4cosx, tipk x €[-3; 3],
tgx ~3J/x +5cos® x, hmljunwl niwypmuy:

4-70. bpym huniwytGuopnG, mpuwd R, U R, (R, <R,) 2wununjhnitpny
qGnuhG WwybpunypGhph Sheli thypp puzluwd k p =a/r?optia-
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pny: <wtp wyn hwiwlwpgh untinowd E nuywh jupjuwonipjub
ubonipymGp htinlijw) pwGwalny.

0, tp r<R,,

r
E(r)=
9] ﬂqu_Rl

—Rl

,Gp R, S r<R,,

qlz, tpl r>R,,
. r

nputn gGnh YshnpnGhy tnwo r htnwynpnipyniGp Smunpwqaqpymu k
unbtinGuzwnhy:

4-71. Nipnytp, pi mpwd v, wpwgmpjudp Yip Ganywo pwpp pwbh wa-
quui YqubGyh wpjwd b pupdpmpjub Ypw:

4-72. Spwd &G a, b, c npuwyw hpwywb pytpp: Gpti gnympjm G mGh a, b, ¢
Ynnitpny tinwGyymG, wnniqtp’ wpnyn®p w6 nuynubGyyma tnwG-
ymaG t:

4-73. Spwd 6 a, b, c npuwywb hpwlywé pytpp: Gpti gnympymGmaGha, b, ¢
Ynnutipnny towGlyymG, npntp Gpw whwyp (monuGyniG, unmpuwG-
yym G Yuwd pmpwGlyymG):

4-74. Spwd G a, b, c npuwG hpwwb pytpp: Gpti gnympymG nGha, b, c
ynnutipny timuGyymG, npnptip Gpw whyp (nunpuGymb, umpub-
pmG Ywi pmpwblpniG) b wpwlsGwhwmnympiniGp (hwyjwuwpu-
ynnu, hajwuwpwupm@, wwpptp Ynnitpny):

4-75. Spywd t n (1< n < 1188) pGwlwb phyp, npp GhipuywyGned £ vwp-
nnt wwphpG' wpnwhwynyjwd wdhuGtpny: EYypwGhG wpnmwdtp
dwpnm nwphp6’ wpnwhwjnyuwd muphGipm] b wihubtpny (oph-
Guwy, 21 muph 10 wdhu fwud 46 mwph 2 wihua):

4-76. Spwd G6 dupnym dGanjuG mwphb, wihup b opp, hGywbu Gub wy-
uonjuw wnuphb, wihuG m opp: Lwpytp dwpnym wwphpp ((phy ww-
phitpp):

4-77. vwydtpmyh pruwyhpp wjuwnmd t hbnbywy Ybpuy. jpipupwG-
ymp dwdhy ujuwd’ Gptp pnujb yunymy § uGwy jajup, htinn gty
powb® ntinhGp, wwyw tpym powt” Yupdhpp, wyGnthtnlb Gpkp poyb
nupdyun YuGwsp b wynubiu wpmbuy: Spywd b hpuyw ¢ phyp,

i
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npp GawGwynd t hippwywl dunthy wlywd dwdwGuyp' pnuyt-
Gtpny: Lwyytp, pt wyn wwhhG jmuwyhph np poyut t Junymd:

4-78. Spjwd t d (1< d<365) wipnng phyp: Lwytip’ wmwpjw d-pn opp
hGywhuhG & Qwpwp, Yhpwih, pt wzluwnwGpw)hG), tpt umfyu
wwpyw hmGwph 1-p Gpyniwpph t:

Cawnpiwl owtpwwnp

4-79. Lupimotp 2wpwpyw opdw Yupgquwhwiwnpp (1, 2, ..., 7) b typwGhG
wpnwotp wyn opw wiywlnuip (Gpynwpph, iptipawpph, ..., Yh-
pwifh):

4-80. LEMImOLp wiuyw Yuwpgquhwdwpp (1, 2, ..., 12) b typwehG wp-
wnwotp wjn wiujw winbp (hniGywp, htopwnp, ..., ntntdptp):

4-81. Ltmimdtp wiuwjw Yupquhwdwpp (1, 2, ..., 12) U typw6hG wpnw-
otip wyn wiujw hwiwuwwwnwuhuwl wwpyw inuwGwuyp:

4-82. Ltpdmotip wiuyw Juwpquhwiwnpnp (1, 2, ..., 12) b tYypwGhG wpumw-
otip wyn wiujw optiph pwGwyp’ LGpwnntiiny, np mwphG Guwhwby
pL &

4-83. Spywd t N pGusjuG phiyp: LEpdmotp wiugw Ywpquhwidwpp (1, 2,
<oy 12) U EYpwGhG wpuwotp N pyuwjuiGh hwiwwyjwwnuwutuwG unfu-
Jw optiph pwGwlyp’ hwyh wnGhiny, np wwphG Yuwpnn t (hGhy Gub
GwhwGy:

4-84. SpYwd & puinuiph Ynnp b w)yn puwnuph htin hinwlunuwjhG junuwy-
ympjwb pnuytGeph phyp: EYypwGhG wpmwotp YnnhG hwdwuw-
mwuuG punquph wijwlnuip U htnwjunuwihG junuwlynipywG
wpdtipp: Uwnnpl pipjwd GG vh pwGh pwnupGiph Ynntpp b wyn
pumnupGtinp httwn fjunuwljynipjuG dhYy pnybh wpdtpltpp.

’m’:}:‘;’éﬁ' Yup | powtnnjGupp
Lnu UGgLiku | 1213 15
LnGnnG 44207 40
duphq 331 40
Unulyw 7095 15
MuhG 8610 50
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4-86.

4-87.

4-88.

4-89.

Opugnh hpwhwGwydw6 pGpuypmy typwGp yhiup t mGtGw htinb-

Juy wbupp (oquwgnpénnh ynnihy Gupimoydwd ujunGlipp gpywd
L6 pwy nwnwnbuwyny).

Ltpdmotp wihpwdtywn wyjyuyGhpp.
Lwnwph Ynnp -> 331

unuwyynipjwl winnmp)niGp (pnut) > 5
Lumuipp -> Puphq

Loy twyswpp -> 40

lnvwyympjuG wpdtpp -> 200

. Spywd t opju wiluwphyp: Lwyytp hwiwywwnwuhuwb zwpwpyw

onp’ oqunytiiny htwnljwy pwGwdbhy.

(A+[l (13B- 1)]+C+[£]+[2]—2D +777]mod7,
5 4] |a

npwntin A-G wduwphy t, B-6" wdujw hwiwpp' dwpn wiuhy ujuwd
(Quwpun - 1, wyphy - 2, ..., hnpywd - 12), C-G° hwpympwijwyhG
huiwywinwufuwG wwphGliph phyp, D-G° hwpympwdywyGhiph ph-
Yp: Lwnwlymuh hwuqdtpp Grwlwymd b6, np wtwp t JupyGty
nnuby dtig gpywd wpnmwhw junmpymGGph unipnng dwup: Lwwd
pwGwdluny npnzymy k wpwpyw opp (0 — Yhpwyh, 1 - tpymawpph,
ey 6 - 2WIpWIP):

2000 pywlwGh uyqphy whyly £ Nwshu b 2 op: Spywd t Nphyp: EY-
pwGhG wpnwotp wyn opydw hwiwwywwnwupuwG wihup (howGjwp,
thtinpygunp, ...):

Spyud tG 4, B u C pGwmlwG pytipp, npnGp pGmpwgpmy LG opYw
wduvwphyp b GhpYwjwyimy GG hwiwywwnwuluwGwpwp wwphd,
wiithup b opp: EYpwGhG wpmwotp inpjwd wivwpith Gwjunpn opydw
wiuwphyp’ GGpwnptiny, np mwphG Gwhwby st:

Spjwd GG A4, B U C pGuub pytpg, npnGp pGnipuqpmd GG opjw
wiuvwphyp b GipYwjwylimyd GG hwiwwywwnwupwiwpwnp wwphG,
withup U opp: EYypwGhG wpinuwdtip mpywd wivwpyh hwenpn opyw
widuvwphp' tGpunnptiny, np nmuphG Gwhwby sk:

Spywd LG A4, B L C pGuwlwG pytipp, npnGp pGmpwgnpmy LG opjw
wiuwphyp b Gipjujywylned G6 hwiwwwwnwujuwGwpwp nwphG,
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4-90.

wnthup b opp: EYpwGhG wpnmwotp wmpywd wiuvwpyh Gujunpn optw
wivwphyp’ hwzyh weGtiny, np wmwph6 jupnn t GwhwGg jhGb;:

Spyuwd b6 4, B b C pGwlwG pytipp, npnlp pGmpwuwgpmy GG opywm
wiuwphyp b GepYuwywyimd G6 hwiwwuwwmwuuwGwpwp mwphb,
wihup b opp: EYpwGhG wpnwotp npywd wduwpiyh hwonpn opydw
wivwphyp’ hwyh wnbbiny, np wwph6 Jupnn t Gwhwig (hGk):

4-91. £hG SwuynGwlwG opwym jymy ponmiGwud tp 12-wijw GGpwuyhy-

1iphy punjuywd 60-unijw yhy: Ghpwyhyitpp Yosymd thG gny-
Gtph wimGGtpny' uwGwy, Jupdhp, ntinhG, uwhnwy b wb: Udka
tiGpwyhljymy wwphGtpp Yngymd thG YhGnwGhGiph wGmGGEpm|
wnGtw, Yny, Juqp, Guwwwuwnwy, yhpwwy, o4, &h, nyfuwp, Juwuhl,
huy, 2mG U junq: OphGuy, 1984 pywlwGp htippwjwG yhih uihqpa
k b Ynyymy t JuGw; wnGlinh wwph:

Spywd b N pGwlws phyp, npp GhiplwjywyGmd t dtp nwpwypgwGh
wwptphy (ophGuwy, 1992): EYypwGhG wpnwdtp wyn wwuptpiyh wi-
Jwlmuip hp6 SwynGwlwG opwym jymu:
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aLntu 5

ShuLh omerusnruen

Uh 2wpp fulinhpGtp ymdtihu wGhpwdtwm t thGmd dhluGn)G qnponnm-
Py Gp Junmwphy vy wbh wiquwd: GnpdGuljuGnid nu hpwtjw GuGmd

t yhytiph dhenyny:

while ghyih ouyipwwinp

while yhi1h owmbpwwmnpp paty t mwihu qnponnnipymGGeph hwynp-
nujuimpmGp Yuwwnwplp wjGpwG dwiwbumy, pwbh ntin yhijjh hpwuyw-
Guwydwl wuyswip Shyw t: while oujipunnnph mbupp htunbywyG t.
while (wwpwa) {
qnponnmpymGatp;

8hyh ppwhjwlGuydwb wwpdwbp upng t 1hGl jundwymwb pupgn-
pJut mpuwiwpwlwlul wpunwhwjnmpjma:

do...while ghyih owtpunnnp

while oytpunnnpp oqunugnpotithu hGwpunnp LG ntiwptp, tpp yhyh
dwpiGnui gpwd hpudwGGtpp bpplip sh6 hpwlimGuGnud: LuGh np yhyth
hpuwjwbuwydwG wupdwep vwnmgynwd t yhyh jmpwpwlyymp hwbtipuyh-
wjhy wnwg, wujw wuyswep spunjwpwpbin ptwpnus yhiyip Yopgwyyh:

do...while yhyip oybpuwwnnpp hGwpwynpnipymé t wmwihu wpu)iwbp
unnigly yphYyih widtiG hubpwyhwjh ppujwlGuymdhy htnn: 9w wujwhn-
ymd t yhiyh SwpiGmyd qpwd hpwdwGisph wrGuql vEY hpuwywmbGu-
ymup: do...while owtipuunnph pGnhwnip wbupp htnlyu G t.

do {
gnponnmpniGGhp;

while (vyuwydwG);
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for ghyh owtpwwnp

Jor yhyyih owipwwnnpp pnyp & wwhu dhwynptiy yhyth wztuwnwGph
huwdwp wihpwdbyw Gphp hpwiwGGLpp'
¢ ulqpGwpdbpwynpmdp”  yhyth  hnpnluwhuGhG  uyqplu-
YwG wpdtph Ytpugnpmup,
o wuwjswlGp JmpwpwGymp hwbpwyhwih dwdwGwy yhyih
hpwywlwydw6 wyywjyjdwbh nhuwwpnuip,
o  timhnfumpyniGp’ wikG th hwbpuwyhwh dwdwGwy yhyih
hmhnfuwywGh wpdtph thnthnjunipymap:
for owbpunnnph pGnhwGmp wnbupp htwnlyw;6 L.
Jor (uhyqplwpdbpuinpord; wuiydwG; thnihnfumpymG) {

quponnnip/atGGLp;
}

Yinp hwjuqotiph dtg qpwd wpwnwhwynmpynGGtpnG hpwphy pu-
dwGymu LG Ytw-uinnpuybnbhpny:

for owipwnnpp poyy & nwphu ShwéwdwmGuy uwyqpbwpdtipuninpt) sh
pwih (hmhnjuwjwG, vaniql) $h pwGh wuydwb Yud hwonppupwp Yu-
wwnby yhyth bwyyhyGeph $h pwGh hmpnjumpymG: Uju gnpdnnnipyma-

Gtpp qpymd G6 hpwp Ynnph U hpwphy pwdwGynid &G vnnpuytvnny: Oph-
Guy,

for (i =0, §=0; 4 < 3; i++, J++)
cout << i << endl << j << endl;

Jor oyipwwinph wwpwitwptphy upupwGynpp Jupnn b qpyb:
Unuhuh wjwpuwstnpp Yngmd & qunywijwG: Qpnjuijwb wwpwditnpp
yymu wjupuwdbnptiphy wGwummd t awm-unnpuytnnm]: OphGuy,

i=0;
for (; 1 <5;)
i++;
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lGnhpGtph nLddwG ophGwyGtp

OphGwy 5-1

Ltwnlijuz dpwqhpp patji b tnwhu hwzyly 1-hy 200° 3-h ypw pudwfiynn
putiph qnuiwpp b puGwyp:

#include <iostream.h>

int main()
{

const int N = 200;
int i, S, M;

S =0;
M=20;
i=1; /1'i yhyth thmhnjuwipuGh uyqpGupdtpuninpnud

while (i <= N) {
/1 yhyih yuqiwybpuond
/1 (yhyip Ywztuwwnh, pwGh nhin i < N wwydwbp 6hawn t)
if (i % 3 == 0) (
/f yhyih yjmpwpwlzymp hntipwyhwh dwdwbwy unmgynd GG
/1 3-h ypw pwdwGynn 1-hy 200 pytipp
S += i;
M++;
)
1+4; // yhyih thmhnfuwlwGh hnthojumpymG
}
cout << "S = " << § << endl;
cout << "M = " << M << endl;
// yhythy gmpu qumy htann tYpwchG wpmnwdymd ba
// vnwygywd S U M hnmhnjuwywGGtiph wpdbpGtpp
return 0;
}
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OphGwy 5-2

Ltnljuy dpwghpp pmyjy, £ wunhu x €[-—438; 3.6) dhpwlwjpmd Ax =02
pwyiny typwGhG wpnwotyy =3**? wpnwhwpnmpjwt wpdtpGhpp.

#include <jostream.h>
#include <math.h>
#include <iomanip.h>

int main{()

{
double x, y;
x = -4.8;

do { 1/ do...while yhyih juqiwytipuyymy

y = pow(3, x + 2);
// yhY1h witiG hmbpwyhwih dwiwiwy
/'y qninfuwljwGhG yhpugpynus t 3**? wpdtipp

cout << setprecision(l) << setiosflags(ios::fixed);
// wmbu 1-hG huntwop

cout << "x = " <K<K x << " ",

cout << "y = " << y << endl;

x += 0.2;  //yhyih hmhnjuwywGh hnhnjuoipymé

}
while (x < 3.7);
. // ympupwGyymp hotpwyhwjhy htinn
// vnmqymy t x < 3.7 wwydwGp
return 0;
}
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OphGuwy 5-3

Lhwnlywy dpwghpp pnigy b wwhu wpdwe n pGwlué pyh hudwp hwpyby
sin x +sin 2x+..+ sin nx gmdwpp.

#include <iostream.h>
#include <math.h>

int main ()

{
const int n = 10;
double x, S;
int i;

x = 2;
S =0; // S himpnjuwmywGh vygpGwpdtpuydnpmy

for(i = 1; i <= n; i++)
/ for yhiyth owbpunnph tpuquwtpuymd
S += sgin(i * x);
// pwGh nlin yhiyh hpuwijwGurydwE i € nugwypdwbp Shym k,
// S hamhnfowwGh wpdtip wbjwlmy t sin ix-ny

cout << "S = " << S << endl;

// tynwGhG wpnnwdymd t S gnuswph wpdbpp
return 0;

}
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OphGwy 5-4

Ltwnlywy dpghpp pmy; & wwjhu typwGhG wpnwdty htwnlyug mnym-
vwyp.

® % & % 3

®« % ¥ = %

* & & % %
#include <iostream.h>

int main()
{
const int n =3, m=5;
// bupnwpwpymy b6 # b m hwuwnwaomGGtpp,
// npnfip GapywijwyGmy b6 hwdwwywwwufuwbupwp
// wnpymuwyh wnnbph b wymGLph piip
int i, 3;
// bwpnwpwpymd b6 i U j yhyh thothnfumyuGhtpp
for(i = 1; i <= n; i++) {
// wnnbph yhyip
for(j = 1; j <=m; j++)
/l ympwpwGyymp mnnh uymGph yhijip
cout << '*'; .
// jmpupwGiymp uyniGmd wupimd £ * uhdynp
cout << endl;
// dpwughp6 wlyGnid t hwenpn wnn

return 0;
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Nanppttp

Oquwugnpdtiny yhlyih npul oytipunnnp’ jmatp htiwnlywy fuinhplbpp:
5-1. 45 php 20 wGqud wpunwdtp tYpwGhs htinbiju) nbupm].

45 45 45 45

. 45

5-2. Qtp wGmG-wqquGmGpls wiqud hpwp mwly wpnwotp typwahG:
5-3. UjwG wtupny LypwGhG wpunwotip 10-hy 50 wdpnne pybtipp:
5-4. Spwo t n pGwlwG phyn: UjwG wntiupny LYpwGhG wpnwdtp 20-hy

dhG;u n wipnng pytiph punwynuehGlipp:

55. Spjwo t m unipnng phyp: UyuG wnkupmy tipmGhG wpmwdtp m-hy
50 wipnne pytiph 5 wuwnhdwGG6Lpp:

5-6. SpYwd LG mu n wipnng pytipp (m < n): UjwG wnbupny typwGhe wp-

wnwotip m-hy n wipnne pytph pwnwimuhGtpp:

5-7. Quntip oppGwshmpyniGp b tYpwbGhG wpmwotip htinbijup wnym-

uwlyp.

10
20
30
40
50

VN s W N =

100
200
300
400
500

1000
2000
3000
4000
5000

5-8. Gutip opplGwpwhmpyniGp U pytipG tYpwihl wpnwdtp htunlyun

wnbupny.
2

m)3

14
15

20

25
35

’

9.5

135
145

195

P
148
158
, n)
208

59

25
26

35

85
84

40

255
265

355
844

834

394

248
258

*

348

842
832

392



5-9. StwpG wpdt 120 npwd: EYpwGhG wpwowdtp 2, 3, ... , 20 mtwph
qftiph wnymuwtyp:

5-10. tYpwGhG wpwnmwdtp 2-h" 1-hy 10 wuwmh6wGGhph wnyynmuwyp:
5-11. Unwiy wwjdwGh oytpwwnp oquuugnpdtiym typwGhG wpmnwdtp
1-hy 10 Yt6wr pytiph pwpwlymuhbbph wnymuuyp:

§-12. TYpwGhG wpnwdtp 1, 2, ..., 20 Yhingpud qubgiudGtph U npuby
huniwyunwufuwG’ qpuiGpny wpunwbhwynywd quiqyuattph
wrmuwljp:

5-13. EypwGhG wpwmwotp 10, 12, ..., 50 nynyd tpyuwpmpynGGtph U npuGy
huwiwywwwepuwG' vwGnhdtupny wponwhwpnywd bpywpnt-
pJniGGEph wnyniuwyp (1 ymyd = 25.4 Wd):

5-14. Spywd t UUL nnyuph Ynpup wpdtpp 44 npuninyg: EypwGhG wp-
wnwotp 1, 2, ..., 100 pnjwp-npwy thnjuwpdtph wnjniuowyp:

5-15.0nh p funmpmGp h pwpépmpimGhy Ywjywd' Gugqmd t
p=po,e ¥* optilpny, npnkn p, = 129 Yo/8>, h, =8000 §: EypwGha

wpnwdtp fonmpjwG b pupdpmpjué yujujuompjul wnynuwlp
0-hy 1000 ¥ wpdtipGlph hwdwp' Ah = 1008 pwjiny:

§-16. EYynwGh6 wpnwdtp 6 pyh puqiuuyuniiwi wymuwlyp htwlyuy
wbupny.

1x6=6
2x6=12

9x6=54

5-17. typwGhG wpnwdtp 4 pyh puqiwyunldwb wynuwyp htwmbjuy
wbupny.

4x1=4
4x2=8

4x9=36
5-18. EypwGhG wpmnmwotp wmpwd n pwjwé pyh puqiuwujunniwG wg-
Jnuuwyp:
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5-19. Qwbtp ophGwgunhmpymip b wpuG wnbupny thpwGhl wpmwdtp
sin 4, sin 6, ..., sin 30 pytph wpdtpGtpp:

5-20. G-wnbtp ophGwswthmpymGp U uwjwG wbupny tYpwlhG wpnwotp
cosQ], cosQ2, ..., cos 12 pytiph wpdtpGtpp:

5-21. Qwtp ophGwyunhmpymbp b vypwlG wbupny LipwGhG wpunwdtp
vJai, Ja2, ..., V0.9 pytph wpdtpGlpp:

5-22. Qwntip ophGwywhmpmGp b vjwG nbupny tYypwGhG wpunwotp 3.3,
3.5,3.7, ..., 6.9 pytipp:

5-23. Qnbtp ophGuwywthmpjmGp b ujwb wtupny tYpwGhG wpuwotp 2.4,
2.8,3.2,.., 8.4 pytipp:

5-24. x €[-2; 2] dhpwljwjipmd Ax =05 pwyny typwEhG wpowdtp
y ==24x? +5x ~ 3 wpnwhwjanmpjwé wpdbpltpp:

5-25.x €[2; 30] Jdhpwlwjpmd Ax=1 pwjny typwGhG wpnwdtp
y= 26 +55t-2 wpnwhwjnmpjwG wpdtpGtipp, npntin ¢ = x +2:

5-26. x €[24; 7.6] Yhowupnid Ax =02 pujny typw6hG wpunwotp
y = tg(2x +x?) wpnwhwpnmpjut wpdtpGhpp:

5-27. x €[-38; 5.4] dhpwlywjpmd Ax =03 pwjpnj typwGpG wpnwdtp
y =2*** wpnwhwjynnipju6 wpdtpGtpp:

5-28. Luiptp 1-hy 10 wipnne pytiph gmiwpp:

5-29. Zwiytip 100-hy 400 wipnne pytiph wpwwnpyuiyp:

5-30. Spywd kG a b b unipnne pytipp (a < b): Lwipgtip a-hy b wipnne pytiph
qmuiwpp:

5-31. Lwizytip 1-hy 800 wipnng pytph Shehl pwpwGuijuwbp:

§-32. Spywd LG a b bwdpnng pytipp (a < b): Lwgtip a-hy b wipnne pytiph
dhehl pywpwGuljwip:

$-33. Lwpytip 8-hy 120 wipnng pytph punwynivhGph gnidwpp:

$-34. Spywd t a wipnng phyp (a < 50): Lwqtp a-hy 50 wipnng pytph fun-
pwGwpnltiph gmdwpp:

§-35. Spywd &G x by pGwlywG pytipp: Lwytp npwGy wpnwgpup’ og-
mnwaqnpotiny dhw}l gnudwpdwl qnponnmpjniGp:
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5-36.

5-37.

5-38.

5-39.

Spywd GG x b y plwlwG pytpp: Lwpdtip x-h y wunnh6mGp' ogunnw-
qnpotiny Shwjl puqiwupumydwb qnponnnipyniGp:

Spywd b n pGwywb phyp: Lwpytp htnbiywy gnudwpGlpp.

w) n? +(m+1)2+..+2n)?,

1.1 1
14 —+—+..+—:
F) 2 3 n

Zwytp htwmlywy gmuiwpGhpp.

1)) l+1+-—l—+...+—1-:
3 32 3¢

Spjwd n pGwwé pih b Yuiwjwhwé mpdwd x hpulwé pyuh hw-

dwp hwytp htnlyywy gmuiwpGbpp.

1 1 n+l 1
w) le—+—— +-D"" -
) >*3 D -

X+ —+..+ )
P 5 4n+1

cosx = cos3x cos(2n-1)x
Q 5 + > +..+ gt

3y 2a+1
n) x_1+l(x2—l)+...+ ! (x_l) .
x2+1 3 x%+1 2n+1\ x? +1
x4l @2x+1)? g xtD)"
6-lnGx2+1) 7-lnxZ+1)  (n+5)-In@xZ+1)
2 2,.2 ne 2
Inx?+3) ?G2+3) "G +3)'
3.1 5.2 @n+1)-n
sinB3x+2)  sinGx+4) sinGx +2n+2)
32 + 34 +...+ 32“2
2 n+l ”
4,46+, 4MGa+]) ’
3 6 n?+2n+3

b)

b

n
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1 2 n
3 + 2 4 *t n 2’
4+x|° 4 Hx| 4" +x|

5-40. Spywd x = 2 mpdtiph nhugpmu hwpykp htinbjwy gnuiwpGlipp.

3 xS xll

w) x+X +— .t
3 5 11

P) l—§x+%xz—ix3

P)

FRLL)
5 12
541. Oquytyny n? =1+3+...+(2n—~1) pwGwélhy' hwytp wnpjud n
pGwljuG pyh punwymuhG:
542. Oquitiiny Gwjunpn fulnpmd Giplujwyduwd pwGudthy hugdtp
12 +2% +...+ 10 wpnwhwjnmpjuG wpdtpp:
543. Oqumytny n!=1.2...-(n—1)-n pwGwdihy' hwyytp wpjwd n»
pGwywi pyh pwlnnphwyp:
544. Lupytp 114+2M+... +8! gmdwpp:
5-45. e pijh Unwuninp wpdtpp Yuwpbh k hwpyty 1+T]'-+-21'»+... +—l—| pw-
o2t n!
Gwdlny: Spywd n pGwywG pih hwiwp (1< n < 10) hwyytp e pyh
dnwnwynp wpdtpp:
546. LwjnGh t, np e pyh x wunhdwGh Snwnwynp wpdtipp Yuiptith t hwy-
2 n
bty e* = 1+% + —3-'— +...+ f—' pwGwdlny: Spywd x b » pwlui pyt-
t 21 n!
nh hwiwnp (1 € 7 < 10) hwpytp e¢*-h Uninwynp wpdbpp:

5-47. Spywd x hpuywG b n pGuwlywG pytph hwiwp hwyytp
In3 W23, In"3 ,
=——x+——x " +. . +—x
1! 2! n!

wnunwhwjnmpjwb wpdtpp:
5-48. Spywd x hpwlw6 b n pGwijwa pytph hwdwp hwjtp

3 @' 4x|

i=1 it

wpnnwhwjnnipjub wpdtpp:
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5-49. Spywd n pGwlhwl pyh hwdwp hwygtp (2n)!!'=2-4-...-(2n) wp-
wwhwjjnnipjul wpdtipp:
4 4 4 4
§-50. n pyh dnununinp wpdtpp Jupbh t gty u=4—-3—+3-—7+;—...

pwlwduny: Lwoytp npyh dnunuwynp wpdtipp (gnudwptihGtph pw-
Gwyp Gipimoymu t uintinfwwphy):

2
§-51. Lwipytp I (5x% = x + 2)dx hGntigpuih wpdtpp' oquytyny
1

w) mnnuGlyynGGtph inuGuihy,

p) utnubitph inubwhhy:
5-52. Zupytip htanlyun gmdwpGhpp.

w) Jl+\/2+\/3+...+~[43,

P V3+yV3+..+3 , npuntn gmuswpbyhGuph pwGuwlp Gapimoynus b
uwntinGupwphy,

9 J3+\/6+...+J96+w/§.

n) cos(1+cos(2+..4+ cos(39 + cos40)...)),
t) sin 1+sin L1+sin 12+..4sin 2:

5-53. Spywd x pyh hwdwp Iiuxzth y wpunwhw jnntpjwG wpdtpp.
w) y=x'""+2x%+3x . +10x+ 11,
P y=1x"+10x? +9x*+. 42x+ I

5-54. LEpUmdtp 10 hunn wipnng phy U hwyytp npwly gmuwpp:
§-55. Lmimotp n huna hpwywb phy b hwyytp gpuly wpwmwnpyup:

5-56. LwynGh G6 muwinnh 5 pGGmpymGGtph qGuwhwwmwliuGatpp: Lw)-
ytp nuwGnnh uinwywd (phy qéwhwnwyjwbp:

5-57. Ltpimotip 20 hunn unipnng phy U bwytp npwby shehG pywpw-
GuyjwGp:

5-58. luvnuipp punijuywd t 25 nwewlnnhy: Lipdndtp jnipwpuwilsjnp ni-
vwnnh’ dtluwGhijw woewplu)h pGGmpymGhy unwywd qGwhw-
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5-59.

5-60.

5-64.

5-65.

wwuGp b hwyybp wyn wowpluhy judph vnwywd shohG qGw-
huwnwlwip:

Lipimotp n hunn unipnng phy b hwtip wyn pytph pwywpdwy
wpdtpGtph gmuiwpp:

Zwjwnbh t wwpwowrpewbh 10 pGwlpwwptphy jmpupwGyymph
plwysmpjul phyp (<10’ dwpn) U Swybptup (Punwymuh Yhnitn-
pny): Npnotp wn mwpwowpswbh pGuwlyympjub fuwnnipynp:

- LaynGh t wwpwowpgwbh 15 phwlunjw)ptphy jmpwpwijmph

pGwysmpjwG phyp x10° Jupn) b GpuGymd pGulyympjwG fumnm-
pymGp (hwqup dwpng / Y¥): Npozbp wyn wwpwdwyppwth dwlb-
ptiup:

. ZwynGh b6 LHayunpwlwb znpwjh wnwGshG » mwpptiph », phiw-

nnmpimGGLpp: Anpnp wwpptpp Shuyywo GG hwenpnupup: Lusp-
Ytip 2npwjh pnhwGmp R nhdwnpmpjmGp:

.Lwjwbh 4G Ljwpwhwb npuh wnwGdhG n wwpptph r; nh-

dunpmpymGitpp: Anpnp nmwpptpp Shuyqwd 66 qmquihtin: Lw)-
Ytp 2npwjh plinghwGnip R nhdwnpmpymGp:

£4nphqnGh Gunndunip a , whljjw nwl v, wpwgmpjuldp Gnfwd
v} sin 20t

dwpiGh hwunnmpyniGp npnpdmy t S= wnlympjundp,

nputin g-6 wquin wGydw6 wmuquyndG t (g = 9.8 wif): Lwyltp U
Lypwah6 wpnwdtp S@,) PmGyyhwjh wpdtipGpp

n o= n
aq,=0, —, —, .., —wGymbaph hwudwp:
° o’ 12 2 ly th n
Uhwgunh GEpnw) Gwl nwnwmdGhp junnwpnn dwpdGh 2updiwG

optiGpG mGh x(f) = Asin(wyt+ ¢, ) inbupp, npntiy 4-6 wwwwidwb
1w)Gnypl L, ©,-6" uthwhwl hwdwhunipymbp, @,-6° wwnwinud-
Gtph ulyqpGwlwb thnyp: Lupykp b thpwGhG wpnwobp x(t) dmbly-
yhwjh wipdtpGpp npyuwd A-h, 0y-h U @4-h bunfwp duiwbuljh

t=0, l,—z-'—,..., 2T wwhbphG, nputn T=—2—n-—ﬁ wnunnwliwb
3216 ®,

wwpptpmpymGa t:
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5-66. Uwpnn dhwjunh wwwmwlniGhp junwpnn JwpdGh 2wpdiwb
optilipG mGh x(f) =Ae™™ sin(wt+9¢,) wnbupp, nputn ©= \/mﬁ -8%,
A-G mumnuiiwb puyingph t, 0,-6" uvhhwjul hwdwhumpymap,
@, -6’ muwnumuitph uyqpiwluwt thnyp, §-6' ywpiwbs gnpowlhyp:
Zwipytip U tYypwGhG wpmwdtp x(t) o byyhwgh ulpdhpﬁhpp wmpyjwd

A-b, @oh, @oh U S-h hudup dwdwGuyh 1=0, =, 116 2T

wuwhtphG, npmtin T =2—"-—ﬁ nwinwiiuG wupptpmpimG6 t (GG-
W
punpymi t, np o -8% > 0):

5-67. QuuubGwyhy {Yuwpujuwd dwpdhGp YJuwwpmd | wqun Ghipnu) Guly
wnwnuimiltp x(f) = A4 sin\(/olnﬂ ¢, ) optiGpny, npwntin A-G wuwnwG-

dwl q(uylnypl t, oy = i-n‘ ubhwlwG hwéwjunpjnibp, k-G'

quujwiwyh Yynzumpymap, @4-6 uuumuxﬁnuiﬁhp]x ulqplGuluwb -
1n: Lwztip b typwGhG wpnwdtp Gpw E, =-— I.mﬁhm]:l; LGLpgh-

wh, E, = -";— wnuibGyhwy tGtpghwyh U E = E, +E,, nhy dbjuw-

GhjwYymG tGipghwjh wpdtpGpnp mpywd A-h, 4-h b ¢4-h huniwnp

duwiwfwyh t=0, — rr .» 2T wwhtphG, npuntn T=2t-—ﬁ
32° 16" ®,

wnwwmnwuiiwG ulmpphpmp]mﬁﬁ L: Lundnqybip, np (phy dGjuwGhyw-
JwG tGipghwih wpdtpp Gmy & hwuwmwwnmmG:

5-68. LjbywpnGh uyqpGwlulG wpugmpymén’ vy = 107 WY: Eiyumpulywt
nuwnh wqniympjwl wuly tEhwnpnGh wpuwgmpyniGp wamy € $ha-
st vy Lwtip b typwGhG wpnwotp mhr[mlbn[umpjmﬁ ulyqplw-
Yui b JtppGwlmG Yhwmtph wynunbGyhwiGiph U= —2— (v, —vo)

e

wwpptpnipymGGhpp v, =2-107,3-107,...,9-10" W] wpwqmpymG-

Giph hwdwp, npmtn m,-6 EjupnGh  quGgywoG t°
m,=91-10""yq:
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5-69.

5-70.

5-71.

5-72.

5-73.

ZwjynGh t hwpp YnGntGuwwnnph ppuinhpGhphy jnupwpwGsymph S
dwibptiup’ S=003 ¢* U YnlghGuwwinph btywpwiwG guywnh
pupfwontpymGp’ 5+ 10° 4AS: Zwpytp L kypwGhG wpnwdbp YnlnkG-

2
€054E” | Gbpqhw6 ynGnbGuw-

wnph phplinGtph thoh d=001,002,...,0 htinwnpmpymGGLph
hunswp: € -G tjbnpwywt hwunwnmGat e, =885- 102 u L8

ZwpnGh t, np S = 0.005 62 (wjGwlwG hwwnnph vwybptuny Ynémy

t=0005 y-h pGpwypntd YwqbhuwlwG hGnmyyphwl B, =11 Si-hy

dhligh B, =01 Si \phnfuybjhu qpgmimd t E 5Ok Lwpytp U
- Et

typwGhG wpnwotp Ynéh qupupGiph N=———— pytpp
(B, -B,)S

uvwwanph buopuiwé nuwh W=

E =100, 105,..., 120 < wpdtplitph hwiwp:

Swunwinquijwt YnGnmpmy YnGntGuwnnph thypp thnthnhuymd L
q=4q, sin®,t opulpm|, npntn gq,-6 thyph wnmwnmwGmyiGhph
1wjGnpa t, 0y-G" 2ppwGujhG hwdwlump)mGp: Lwytp U typwGhG

wmnwotp thyph wwnwGnuiGph v=-(;—° hwdwjuntpymG6liph,
7]

wwnppipmpniGGiph U hnuwGph mdh pwyGnypGlph wpdtpltpp
qo = 1078 4, @y =100, 200, ..., 1000 mun/A]" wpdtpGtph hwdwp:

Lwpytp' hGspwl dwdwGwy t whyly tpyph Ypw, tpk Gpw GYunn-
dunip v=285-10'|i/q wpugnipjudp 2wpdnn hpphumd wlyt) t
to =5,6,...,20 wmwph: Gpyph Ypw wlywd dwdwbwyp npnym ¢

t=—l—— pwGwdlny, nmnbtin ¢-G° (nyuh wpwqempmGs t°
\jl—vz / c?

c=3-10° WA

émnny btpym wywnndtptiGwbGtph 2wpdmiGtpp wpjuwd GG

x, =3t+04¢ U x, = 70~30¢ hwjwuwpmiGtpny: Lwyytp U typw-

GhG wpuwdtp unjunndtplGwltph dheli htipunnpmpymGGtpp

t=5,10,...,60 htwan:

5.74. Zwp(tip, pt nppwG dwiwbwymd wpuwd F =5-10°L hwdwqnp

mdh wgqplynipjuG wwl m=500,600,...,1000 Yq qubGqjwdny
dwpiGh wpuqmpyniGp v, =500 WAj-hy Yush Shash v, = 2- 10° ¥Ay:
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5-75. bpbwpujwG quqp quGind t T=37C etipiwuwnhSwmGmy’
P =8-10*U/8? 660w wwly: {woytp’ nppwbny JuybjwGw 66ym-
up, tph qugh ptipdunhGwdG hqnpunp Ytpuyny pwpépwyyh Shash
50,55,...,80°C:

§5-76. Spjwd t n phyp: 1, 4, 9, 16, 25, ... pytiphy typwGhG wpwnwotp
Gpw(p, npnGp Ynpp GG n pyhy:

5-77. Spwd t n phyp: EYypwGhG wpnwstp w6 pGuljwG pytpp, npnly
pwnwynuhGtpp vhnpp b6 n-hy:

5-78. Spywd t n phyp: EYypwGhG wpunwotp wnwghG pGwiwG phup, nph
punwymuhGtpp vt L6 n-hy:

5-79. Spywd t m hpwywa phyp: 1, l+%, l+3l, ... pytiphy tYpwGhG wp-

wnwdtp Gpulp, npnGp thopp b6 m-hy:
5-80. Spyw?d t @ hpwljwé phyp: Opnztip w)G wikGunhapp n phup, nph

ntiwypmy l+i+l+...+—l-> a
2 3 n

5-81. x €[-3.8; 5.4] showlwjpmy Ax = 0.2 pwjym] hwyytp
_ x? +4x®, tpb x>3,
0,ipx<2
wmnwhwjnmpjwé wpdtpGlpp:
5-82. x €[-30; 30] vhowlwjpmy Ax = 3.5 pupny hwjtip
_ |sinx, tpt x>§, ]
cosx, ip x < 4
wmnwhwjnmpjwl wpdtpGtipp:
5-83. Lwipytip 1-hy 100 qmu)q pytiph qnidwpp:

5-84. Lupdmotip ptip: 0 phyp Gipdnotyme ntiupmd hwygtp Gujunpn
Gipdmoywd pytinh gnidwnG m JhohG pywpwGwijwbp:

5-85. Lupimotip pytip U hwyybtp npubyhy npulpmGGaph wpwnwnpyuyp:
5-86. Lhipimdtp pytip k& hwyytip npwGyhy pwywuwlwiGph pwGwyp:
5-87. Lbmimodtp pytip U hwzytp npwGyhy YhGnbph gmuiwpp U puwGulyp:

!
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5-88. Spywd t pGuwlwG phy: Npnotp, pti wyn pyh g 5 pywGywlp pwGh
whquwi L hbwGnhuynu:

5-89. Spywd t pGwlwG phy: Npnztip, pti wjn pyh YtpehG pYwbzwp pwGh
wlqud t hwGnhuymau:

5-90. Spywd pGwljuib pyh kg hwipgtp qmijq pywbywGGhph gmidwpp:

5-91. Lumintdtp n hwn wipnng phy b npnybip, pti GEpuintdywd hwonp-
nuiwlnpjub dtp pwh wiqud L Gzwbh tnthnlunipymG hwénh-
wnud:

5-92. Lipimdtp n hunn pGwhywG phy b typwGhG wpwwotp npuiGy
dhowqmyfip:

5-93. Ltpintotip n hun plwlwG phy b tYpwGhl wpnwotp npwby thnp-
nwqnyGp:

5-94. Spywd t pbwywi phy: Npnztp wjn pyh pywGrwGitph diowqniyG b
thoppwignyG wpdtipGlipp (oquuugnpdtip thwyG dkY yhyth owtpw-
wnp):

5-95. Spywd t pGwlwb phy): Npnztp, pb wyn pyh pywlzwGitph wpwyt-
1wqnyyG wpdbpp pwhuny t §to npwGy thnppwqm)G wpdtphy (og-
nwgnpdtp Shw)h dby yhyih owlipunnnp):

5-96. Spywd t pGwlwb phy: Npnytp wyn pyuGrwGGhph dhdwqnyyG wp-
dtiph Jwpquhwiwpp® pYwwGGhpp hwzytiny pyh ulqehy:

5-97. Spjwd t pGwljub phy: Apn2tp wyn pwGwGGph hnppuignyyG wp-
dtiph jwpquhwiwpp® pw6wGkpp hwyyting pyh dtpehy:

5-98. Spwd t pGwlpulG phy: Npnytip wyn pyh vhe 6 pywlywbh Jupqm-
hwiwpp’ hwzywe puh Yupehy: bpt wynwhuh pYwlawé Yuw, Ly-
pwih6 wpunwdtp 0 phyp, huy tpt hwlnhwyma ¥ dh pwGh whqud®
uwnikfiwdwju hwlnhuwywd pywGywih upguhwdwpp:

5-99. Spywd t pGwlwG phy: Npnytp, pt pwGh wiquid t GpulGmy hwinh-
wnui wyn pyh pywGuGikph vidowgn)é wpdtpp:

5-100. EYpwGhG wpumudtp 100-hy 4o U 16-h Ypw pwdwbiynn wnwehG 20
pyupp:

$-101. EypwGhG wpinwobp 500-hy Lo U 22-h Ywd 28-h Ypw pwdwlynn
wnwohG 30 pytipp:
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§-102. Lwpytip wjG pGwlwG pytph gmuiwpp, npnGy Ypw mpjwd 7 php
pwdwGin t wnwby JGwynpnh:

§-103. Lwptip 3-hG pwqiwuyunnhy Gpybhy pytiph gnidwpp:

5-104. Lmip\tip wjG inwGh) pytiph pwGwlyp, npnGp puqiwwunnhy skG2 L3
pybphG:

§-105. EYypwGhG wpnwdtp wyG wtiGunhnpp inwGhy phyp, nph punwym-
uh wpdunnp Wbd t mpjwd n pGulub pyhy:

§5-106. SpYwd & phwipub phy: Npnptp, pt puh wiquwa & w)n pyh iitip hwG-
nhuymd hp wowehb pwGywGp:

5-107. Spywd t pwlwG phy: Oqunuugnpdtinyg Shw)G Sty yhyh oytipw-
winp’ npn2tp wyn pyh tpymt wdkGwdtd pYwbzwGhpp:

§-108. Spywd t pwywG phy: Oquuqnpotiny vhwjG Sty yhyih owtipw-
wnp' npn2tp wyn pyh Gpynt wdkGuthnpp pYwGywGitpp:

5-109. Spywd t pGwlwb phy: Uwnnmqbp' wprynp wyn pyh pYwbwbGhph
gmuiwnp ULd t 20-hy:

5-110. Spuwd t pGwlwb phy: Unmqtp' wipnyn®p wyn pyh pwGrwGGtph
wpununpjwip thnpp t 100-hy:

§-111. Spjwd t pGwiyw phy]: Uwnnmiqbp® wipnyn®p wjn pyh wnwghG b ytip-
2h6 pjwbwG6tpp hunjwup tib:

$-112. Spjwd t pwijwb phy: Unmgqtp* wpnynp wyn pyh pwbrwGitph
qmiwpp 12-hy 6o YhGwn phy t:

5-113. Spywd t pGwlw6 phy: Uinmqbp® wpnynp wyn phuG wehy b dwhuhy
Yupnwihu GnGa t:

5-114. Mwpq Yngynud t dbyhy dhd wy php, npp Skihy b hpiGhy puyh wy
pwdwGwpwp ymGh: Lipdindtp pwlw phy b vinnmqglp’ wpnyn®p
wjl wupq t:

5-115. Gwnwpjuy Yngdnud t wyG phyp, npp hwwuwp t hp® hptiGhy thinpp
pwdwGuwpupGtph gnuiwphG: Lupimotp pwlywb phy U winmqbp'
wpnyn°p w6 Junwpyuy t:

5-116. Spywd t pGuiwG phy: Unmqgtp® wpnyn®p wyn pyh Ghytipp dwluhy
wyg Yupnwihu wénn hwynppuuGnipymG La:
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5-117.

5118

5-119.

5-120.

5-121.

5-122.

5-123.
5-124.

5-125.

5-126.
5-127.

Spjwd t pGwyw6 phy: Uwniqhp' wpynp wyn pyh Ghotpp wehy
dwju Yuprnuihu wénn hwgnppwljwGnipymG LG:

Spywd t pGuwywb phy: Unmqbp* wpnn®p wyn ppyn hwnhuwGnud t
4-h wunhswG:

Sbhpnlwghh hwenpnuwbGmpmaé t Yngnud wyG hwonpruwywlni-
pymGp, nph wlnudltpp uuynwd &6 0 U 1 pytpny, huy ympwpwmiG-
gmp hwynpy winuwd hwywwwn bt Guwhunpn tpymuh gmubwnphG,
w)juhGp6* mGh htnbyuy mtvpp' 0, 1, 1, 2, 3, 5, 8, 13, 21, 34, ... : Ltp-
umotip pwlwb phy U vnmqbp' wpnn®p wyG dppnGwshh hwenp-
nujwuimput winwa t:

Spwd t n pGuljuG phyp: Unmqbp* wpynp wjG hwlnhuwimy t
wjfuyhuh pyuwpwbwlul wypngpbuhwih wénwy, nph wpweht wb-
nuip hwjwuwp t a-h, huYj mwppipmpymGg® d-h:

Spywd t n pGuljut phyp: Uwnmqtp® wpynp w6 hwGnhuwGmy t
wylwhuh GphpwywhwiuG wpngphiuhwih wnwd, nph wowehG
wanuwip hwjwuwp t a-h, puy hwjmwpwpp' d-h:

Spjwd t pGwhwé phy: Unmqglp® wpnyn®p Gpubmd 3 pwlwGa
wytith ph; t hwGnhuymy, pwé 4-p:

Lwbp wpdwd ipym pytph witGudtd plinhwGnip puwdwwpupp:
Lw2ytp wpwd tpym pybph wikGunhnpp plnhwinp puqiww-
whjjp:

Spywd L6 @ U b pGwlwb pytipp, npnlp GEpYupwylimyd GG hwiw-
ywunwufpwupup Ynnnpuwhh hwiwphsp U bwjnwpupp: Ypéu-
wntp Ynunnpwyp, wyuhlpG' npntip pGnhwGmp pwdwGwpwp yne-

a
Gbynn wyGuthup pGwyw p U g pibn, np% =

Spywd t pyh $wlmnphuwip: Npnztp wyn phyp:
ZwpJtp htinljwy wpwwhwymmpmGGtph wpdbpGtpp.
{i, tipk i-G YhGw t,

w) G, -y,)?, npm X; =
i +=%1)", npuntin i, hwjunwl ntwypmi,

i=]

_Ji* +5, tpli i* -G YhGw t,
' 1, hwjwpwy nphuypmd,
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24, hph GZ

4
) ll'[x?y?.nnmhn %
I=3 1, hu:llummq ntiwpnd,

i+4, hwljjunwl nbwpmis,

sin i, hphs/;eZ

-— i2
9 ﬁ(xy, '), ppunbnx, = i, hwjunwy phupmyd,

i=]

|
e
{

0,btplii-6 YLGunk,
i, hujunwy phwpm:

Ltpnpywd ghlitip
§-128. EYpwGhG wpnwdtp htnbijw) wnyymuwyGtpp.

4 4 4 4 1 23 ...10 22 23 ..
4 4 4 4 1 23 .10 32 33 .
u ’ »
)4 4 4 4 P v
4 4 4 4 1 23 ..10 72 73 .
5-129. EYypwGhG wpnwdtp htnliyw) wnjniuwlGhpp.
* * ® % =2
®* % * =
w L ) .« 8
* * % 3 *
» * & % ¥
* % * ® %
9 » = & n) . »
* ®» % = »*
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5-130.E4pwGhG wpnwotp htitnlywy wnjnuuwyGhpp.

1 6 5 43 2 40 41 42 43 44
2 2 5 432 39 40 41 42
w) 3 3 3 M4 3 2 » Q)38 39 40
4 4 4 4 3 2 37 38
55555 2 36
5-131. EYpwGhG wpnwotip htmlyjw) wnymuwyp.

* * * *
» » * *

* * * »
* » * »

*® * * *
* * * *

* » * *
* * * *

5-132. EYypwihG wpnwotp puqiwupunyiub wymuwyp htinbyw) wku-
pny.
2 3 4 5 6 7T 8 9
4 6 8 10 12 14 16 18
6 9 12 15 18 21 24 27
8 12 16 20 24 28 32 36
1S 20 25 30 35 40 45
12 18 24 30 36 42 48 54
14 21 28 35 42 49 56 63
16 24 32 40 48 56 64 72
18 27 36 45 54 63 72 81

O 0 9 A N b W N e
L
o
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$-133. EYypwGhG wpnwdtip gnuiwpdwb jphy wnynuwulp htinliyw wbupny.

1+1=2 2+1=3 . 9+1=10

1+2=3 2+2=4 e 9+2=11

1+9=10 2+9=11 9+9=18

5-134. t4pwGhG wpnwotp pwqdmulunnqdm(i inhy wnynuwuyp htinbyuy

wbiupny.

Ix1=1 1x2=2 1x9=9

2x1=2 2x2=4 2x9=18

9x1=9 9x2=18 9x9=81

§-135. tYpwGhG wpnwotip htmlywy 2tnubGlyymGp.

*

* % %
* & & » ®
& % % % % $ %
® & % % % % * = »
$ % % % % ¥ =
* % ¥ x ¥
* ® %
*

5-136. 3-hy 19 dhewjwypmy npgwd t n G phyp: EYypw6hG wpmwotp n
wng b 7 uyniG mGhynn 2ty ma:

5-137. Luipytip htinlywy wpmwhwpnmp)mGGLph wpdtipGtpp.

w) I’I i am,

m=0n=0

D 33 ok,

k=] m=1
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) ﬁfl—

i=0 m=] i+m

1) iix"’,

i=l jel

b) t sin(i + 1)f1 cos(i+ ),
j=1

i=1

Q ﬁ(k+ l)ttg(k-l-jz):
=1 j=

5-138. Lwipytip 100-hy 120 pytphy joipwpwtsymph pwdwGwpwnGtph ph-
Up:

§-139. 100-hy 200 dvhowljmjpnud typwGhG wpmwdtp wyh pytpp, npnly pu-
dwGwpwpGph phyp 5 t:

5-140. EYpwGhG wpnwotp 1-hy 1000 shewlwjpnd qulynn pnynp wjwpq
putipp:

5-141. 200-hy 300 vhowYw jpnu tynpwGhG wpwnmwotip wyG pytipp, npniy pw-
dwGwpupGtph gmiwpp 10 t:
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aLnkv 6

dnruushuLer

Bnlup U pupn dpwgplipG wybth wuwpq pupdGhpm hwdwp hwpdwp
npuip pwdwGhy wnwGdhG LGpwdpwqptiph (pmbGYyhwGhph), npnbyhy ym-
pwpwlynipp YhpwlwbuyGh YnGyptn b hwoymGuih fuGnhp: Yyuwyhuh
dnwntiymiG nuGh dh 2wupp wpuniympjm GGtp: Lwju, shuGmj6 LGpwdpwgh-
PR Yuptih & oqunugnpot) puqiwphy wGgqu hGswtu vhy, wyGw b by nwp-
pup opwgptpmy’ wukG wGquwd ygptiny Gmyy6 mbtpunp: Pwyh wjn, opw-
qptipG wytih hwpdwp £ gptiy n3 86O YuunpGtpny: Uynuihuh dpwgntipp htiyw
t upnuy, hwulwbwy U judpwgntiy: pwbp, npytiu YulnG, wytih huwnwy
wpwiwpwlwyul ueniyyuwdp maha:

Opwgpuynpiwb shg $niGyyhwbtpp Gpwopwgntp LG, npnGp nputiu
wpgmuitin upnn 66 wnwGuy nygjuy Ghip b yspunuwpd Gt wpdtplhp: C++
{tiquh ywGljwywd dpwohp punjuywd b wnGuql Sty $niGyyhwhy
(main() hhiGwywG pmGyyhwjhy), npp dpwgph YJwwmwpiwG dwdwbuy
YwGsyomd £ owjipwyhnG hwdwlwnpgh Ynndhy: main() $maYyhwl Yupnn k
Yusl niphy mGyyhwbhp, npnGp ), hpbGy htpphG, wy PmGyypwGtp U
w)G:

Swpptpmy L6 bpym whwyh PmbyyhwGlp® Gipppdwd U ny vinwGnupnm:
Lhipnmjwd ImbGyyhwbtipp unwblnupn gpunwpwbwihé $mbYyyhwitnt
G, npnGp dpwgpwijhG thwpltiph pununphs Swu G6 hwinhuwGmy, huy ny
vunwnupn mGYyghwGhpp Gwiuopnp uwhiwGywd stb U untndymy tb
dpwgpuynpnnh Ynnihy:

dmbGyyhwG mGh wim G, yuwpuwitnptph ymywy b Jpunupdynn wp-
dtip: U)G vuhimGymu t htimljyuy Yipwy,.

ybpwrpupdynn_wndbph why patGyyhush_wimé (wwpuwibupbph_ynywl)

{

$o1Gyyhwsh swpdhG;
}
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Ybpwnuipdynn_wpdbph_wnhuwp yntjy t wwihu pi $mGyyhwh hGs nh-
wh wpdbp t YepunupdGlipn: dmGlyyhwG Jupnn t U nput wpdtip sgtpu-
nupdbty: Wn niypmd tpunupdynn wpdtph whwh thnjuwptl wybnmp &
gpyh void pmGwh-punp:

dmbyyhuyh wimbp Yupnn E Yuqigwo thGhp dty jud wybjh munt-
ph, pYtiph U _ uhtiynih 2wpphy: UjG sh Jupnn vjudty pyny, hp dbe uwpwpm-
Guybk] nwwwpy uhiyn) Yud bwipGylty C+ 1Eqyk pwGuwh-puntph htin
(hwyLwd 3):

wwpwidtnptph_ymywyn wjG (hnthnjuwwlGiph yniywyG k, npnlGp
npujtiu wpgmikim wmpynud GG vy $niGyyhwihG: MwpuitmppG hpw-
phy pwdwlymu GG vwnnnpuitnbtipny, & Gpuiyhy jnipuwpwGyynmph wn9lhy
gnymud & hp whup: dmbyyhw6 Jupnn t b yjmGhGw) yupwditnptp: Un
piypmd thwhwgdtiph dhe wwpwdtnptipp ymywyh thnfuwpkl wbwp t
qpyh void pwGwh-punp Yuwy nghGy sqpyh:

OphGuy 6-1

max wlmGny htanliyuy $nbGyyhwa poy) k inwphu npnoty bpym hpuwG
pytiph utidwgni )G wpdtpp.

double max (double x, double y)
// pmbyyhwijh hwpawpupmpymGp

if (x > y)
return x;
// uypuaydwGh Ghwn thGhynt nhuypmy
// pmbyyhwG Ybpuwnqupdnd t x wpgmihGnp wpdtpp
else
return y;
// hwjunwy ghwpmy' y wpqnistGuh wpdbpp
}

OnhGuwy 6-2

y wGnGny htanlyuy $mGyyhwG pnyp b wwihu hwygty x? -3x wp-
nwhwjinmpjul wpdtpp:
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int y (int x)
// $mbyyhwh hwpnwpwpmpymGp -

return x*x-3*x;
// ImGYyhwG YhipunwpdGmd £
/1 x* = 3x wpnwhwnmpyuG wpdbpp
}

Uju ophGwlyGipmy gpywud b6 pnwdkGp $mayyhwisph Ghupugqnn-
pymGGhpp, npnGp gnymud kG hpuGwliwb main() ImGYyyhwihy nmpu: fip-
uitiugh P GyyhwG wyuwnh, w)G ynp t Yulyt) : dmbGyyhwih Yubsp nk-
nh £t mGEGmy w6 dwiwGuly, tpp dpwgph Ghpund hwGnhuymd £ pmaGy-
yhwjh wlmGp, U Gpw he Gymd GG w6 wwpwitnptpp, npnfy hwwp
whwnh pmGyyhw6 wluunnh, ophGuly* max(a,b):

Opuwgpmy pmGYyhwhG nhdbym Y6 Yepununlwim bpkp tnuwbul
t Gwhwwntujwd: bpt Pmbyyhwl nput wpdtp sjwbwp t YtpunwpdGh,
wwyw dpwghpl wfuwunulpp YwpmGuih wyn Yhwhy® dmayyhugh wp-
JownwGpé wywpwnnn hwijyng duwynp hwljuqdhG hwulhing, jud hwb-
nhwbtimy return puwGwih-pwnhG: Gpt Imiyypwé whwnp t wpdtp Yipw-
nupdGh, pGyytu Guwlunpy ophGuyGpnuy, wwyw dpwqhpl wzjuwnwGpp
YwpmGuyh wyn Yewnhy' bwlnhwting

return wpnwhuywnipymG;

hpuniwGhG, npG wpdtp YytpunuwpdGh wyn ImGlyhwe Yubyng oujipunnn-
phG L ynunwpbylh $mbyhw)h wzluwnwipp:

IDdmbyyhw yyupniGwlynn dOpwqptpp Yupbih t gplg tpym tnutwyny’

e Guwju bwpnwpuwply PmGyyhwl, wjGmhtant wjé uvwhiw-
G4] hhdGwlwG dpwghpp (main() $mGYyyhwG) qpbtinty htwnn,

e ImGyyhw@ dhwlqwuihy uvwhiwGhy hhdGwlhwG dpwghpp
(main() ImGYyhwa6) gpbynry wnwy:

ImlGyypwih hwpnwpwpmpjuwi dwdwGwy wpgmuitlnGiph wimG-
Ghpp Yupbph L 3qphy. Yupnn GG gpytp vhw)j wpgmdtiGmbGtph whwybtpp® wé-
swnjwud uinnpuljinbtpny, theyntin $nbGyyhwjh Ghuwpugnnpput dwdw-
Gl wiwyuyiws wtnp t gnybi6 hGyuwbu wpgmutiwmGaph mhwytpp, wyGubu
k' wGmGGEpp:
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OphGuwl 6-3

Ltwnlywy dpwghpp pnyy E tnwghu wpgwd a b b hpuwyw6 pytiph hwdwp
hwyty y =max(2a+b, 3b —a) wpmnwhwjnmpyul wpdtpp' tpym pytipp
dtiowugniyl wndliph hwynuwip yuqiwybputing $niGyyhw)ph dhonym]:

UhuGm)G luGnhpp imotGp Ytipp G2qwd bpyo tnuGulybtpny:

Unwohl tnuGwly

#include <iostream.h>

double max {double, double):;
// max wGmbny ImbYyhuzh hwpnwpwpmdp, npp whnp t
// mGhGw Gpym hpwywé wpgnitGn
/1 JipunupdGh hpwywG wpdtp:

int main () /hhiGwiwG dpwqph’ main() nGyyhwjh Yubp
{
double a, b, y;
cin >> a >> b;
y =max(2 *a+b, 3*Db - a);
I/ juGalod t max wGming $niGyyhwb, nph6 npwbu
// wpgnuibGwn wpynid-bG 2a+b U 3b-g wpwwhwnmp)mGGhpp:
// Unuyqud wpdbpp Ytpwgpymd & y hnhnjuwywGhG
cout << y << endl;

return 0;

double max (double x, double y) //max ImGliyhwjh umwhiwbnmip
{
it (x > y)
return x; //bph x>y, InGYyhw6 Yhpunupdimy t x-h wpdtpp
else
return y; //hwjwupwy ntwypmd® y-h wpdtpp
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bpypnpy brwewy

#include <iostream.h>

double max (double x, double y) //max pmbyyhwjh vwhiwlimuip
{
if (x> y)
return x; //Lpk x>y, Imbhyhwi ytpunwpdGmy t x-h wpdbpp
else
return y; //hwjunw} nbiypnt y-h wpdtpp

int main () / hhiGwywG dpwqph’ main() pniGlyprgh YuGsp
{

double a, b, y;

cin >> a >> b;

y=max(2 *a+b, 3*b-a);
// G dntd & max wimGny $mbGyyhwa, nphG npuytiu
// wipqaudtiGun tpymd GG 2a+b U 3b-¢ wpnwhwpnmp)mGalpp:

// Umwyywd wpdtipp Ytipugpynis by thninfuwmlwGhG
cout <<y << endl;

return 0;

)
AtYnpuhw

D byyhwb Ynyjmu t nbmpuhy, tpt Yubsm t hGpl hptG: Q-Gynipuh-

wh Yupng t (hGG nhny U wémnnuyh: Gpp ImeYyhwb Yubsms t hGph
hntiG, nynipuhwG Ynyymd t mnhn: 6pt Pnillyyhw6 Yubymd k wy Imay-
yhwyh, npt by pp htipphG JwGsnwd t wowehG $mGhyhw)ha, ntynipupwmb

Ynyymd L wimnnuyh:
ftympuhy huGnhpp pwdwGynd t dh pwGh thmjtph: Gphpp (notint

hwniwp YuGyynud £ eiympuhy pnGyyhwe, npp ghnh’ hlywbo ymdty fuGnph
thu)G wwupqugny)G hwnjwop' hhiGwyhG juGnhpp: Bpt wyb Yubym t
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hpiGwhG6 uGnhpp pmdtiym hwdwep, wuyw $mbGYypwb upuwpquutiv wpdtp k
Yapunwpdimd: Gpb ImGYyhwt Yubymd t wybih pwpn fuGnph nddwa
hwiwp, w)G fuGnhpp pwdwlmd t Gpym Swuh® fuGnhp, npp nGlyhwé Yuw-
pnn L inuoty U fuGnhp, npp sh Jupnn: Npwbtiugh ntyntpupwl ppujuGuGu,
YtipghG dwup wtiwp t Giwa 1hGh uyqpewywi Gnphl, pwjy wybih wwpq
i wytiph vhnpp: LwGh np Gnp luGnhpp 68w £ uljqpGuwlywG funph6, wuyw
InGyyhwl nupdjwy Julynd t hGpa hpk6: Fw Ynyymd t ptinipuhwjh
pwjy: Aympupwih pujp Gepwemy t return pwGwih-pwnp: O-GYngpuhwgh
pwjip Jupnn b dkd puny ntljmpuhy YuGstph phipky, pwGh np witl wGquy
tGpwdnpwghpp pudwGymy t bpynt Swuh: dnGyyhwjh wruwnwGpp Ynw-
nuph, tpp juGnhpp h ytpen ptipdh hpdGuhG fuGnphG: Wn dwdwGwly
$niGyyhwi Y6wbuwsh hpiGuyhG fuGnhpp, YdtpunwpdGh Gwiunpn pwjih
wpndtipp, U pwjitinh nn9 hwenppuwywmpymbp YYwwwnpygh hwljwnwy htip-
puljwlimpyuip wjGpwl dwiwGuly, pwGh ntin sh hwub] uygqpGuyui
IuGnphG U, h Jupgn, hhdGuwywG opwephG YbpunwnéGh fuGnph YtpgGu-
YJuG wpnymGpp:

C++ thqumu ywGluwywd $mbGyyhw Yupnn k ubst; hGpG hplG, pwyh
main() hhdGujwG $mblyyhwihy:

OphGuwy 6-4

QntGp ntiympuhy PmGYyhw, npp hGwpuwynpmipimG Yuw hwyyty
npjwd n pGwlwb pyh $wljnnphuyp:

CGnmGJwd & hwiwpty, np 0! = I: Uw Jupth t pnpmbL] npujtu hhy-
Gwjhf fuGnhp: 0-hy wwpptp Yuwdwjwhwb pyh wynnphwy uptih & hwg-
Yhi htiwnnlyjwy ntiympuhy pwGwduny.

nl=m-1)!'nnpatinn=1, 2, 3,...:

Spwd n pGwlywG pyh dwijmnphwip hwynn ntympuhy pmGliyhwb
Yuptith t qpbp hinljwi wnbupny.

int fact(int n) {
if (n == 0)
return 1;
else
return fact (n-1) *n;
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luGnhnpGtip

6-1. Qnbip ophGwswhnpymuGp U uwhdwGhing wihpwdtwm PmbGyyhwb’
hwytp htimlywy wpnwhwjinmipymGGiph wpdtpGhpp.

6-2.

w) y=

P

)

Q

~/§+5+~/ﬁ+12+\/§+21
3 3 3’

2442 3+f 22+J_

545 ﬁ+7 Y Tse1s
32— f 44-J12 _5-V2

1+sinl1 5+4sinS5 7+sin7
= + +

7+J_ 12+\/—4 2+J_

3 3 3

l14cosl 6+cos6 3+cos3
= + +

cos7+7 cos8+8 cosd+4

2+sin3 1+sinS5 4+sin7
= + + .

3+sin2 S+sinl 7+sind

Spywd g, b U ¢ pytiph hwdwp hwyytp L typwGhG wpmwotp
htwnljuwy wpnwhwjnmpymGGtph wpdtpltpp (WEdwgnyyG b thnp-
pwqm)G wpdtipGliph hwzynuip Yuqiwytipuybp $mGyyhwsh dhen-

yny).

w) y=max(a, a+b),
P) y=minQGa, 4b),

Q) y= maX[g 2)
b a

1) y=max(a, a+b, a-b)+max(, 2b-a, 2a+b),
k) y=min(a, 4b, c)-min(, a, 3¢),

qQ) y=max(, a, b)+max(7, b, a+b),

t) y=max2(5+a,b, 3) minG+a, 2b-a, c),

p y=min(a, a+b, a~b)+maxp, 2b—a, 2a+b),
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6-3.

6-4.

6-5.

6-6.

6-7.

6-9.

p) y=(max(4, a+b, b)+min®, a, 2a+b))?,

in(b-a, 2
d) y____emu:( a a+b)’

p) y=sin(min(a, a+1, a+b +c))+cos(max(5, 2b +a, c)):

Uwhiwbtny f(x, y) pmGyyhwb’ Ax = 05 puyyny Gawd showljwy-
pnud hwipygtip U typwGhG wpnwotip wyn mGyyhwh wpdtipGtpp,
tiph

w) f(x,y)=2sin x+3cosy, x €[0; 10],
P fx,y)=vx?+5+cosy, x €[5; 10],

Q) f(x,)’)=e‘+|)’|,x E[—S; 5]:
UwhdwGbiny y(x) pmbyyhwG Ax =05 puyny x €[-10; 10] ¢h-
owljuypmy hwybp U EypwGhG wpinwdtip wyn $nibljyhwih wpdtip-
GLpp, Lphb
2

@) = x“+2x-1, ph x <5,

ln x +x , hwwpwl gliypnu:
Lwn)tip mpywd hpwljwi pyp puywpdwl wpdbkpp: Bh puywpdwly
wpdtiph npnznuip juqiwypytp $mGyyhwsh dhenyny:
Spjwd tG tptp hpwlwa phy: Lwipytip npwlGyny juqugud bnwb-
lpwl dwltipbup: GnwGpu switpbuh hwynuip yuqiwytpuytip
$mGyyhwyh spenyny:
Spywd t x pip b n phwlhwG phyp: x €[-10; 10] Showlwpmd
Ax = 0.5 puyny hwtip
Yy = x. +3x,iph x <5,

sin x, hwjwnwy ntupnid

wpnwhwjnnipymé wpdtpp: x pyh » wunhdwbh npnymdp Jug-
Swytpwtp niGyyhugh dhenyny:

. Spywd GG quuGh wnughnp b pupdpmpimGp: Lwydtp quuith dw-

Juip: GpGh dswyuih hwayndp Yuquwybpubp $moyybwgh shen-
yny:

Lwptp z =sign(x)+sign (y) wpnnwhwpnmppuG wpdtpp, npntn
sign (a)-G GpwGh PmGYyhwa t b vwhdwGymy k
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6-10.

6-11.

6-12.

6-13.

6-14.

6-15.

6-16.

6-17.

-1, tph a< 0,
sign(a) =40, tpt a=0,
1, tpi a>0

opliGpny: Lywbh dmbYyhwjh vwhdwGmip Yuquuybputip dnay-
yhwjh shenyny:

3-41+6-7!
Zwipytp 5—'_—2?— wmnwhwjnmpjw wpdtpp: AGwywa piuh pualy-
wnphwih hwzynip juqiwytputp mGyyhwgh shenyny:
T =[1; 100] Showlwpmu AT = 1 pwjny wpfwd 6 dwpkiht)pny
wpnwhwymjwd ghipdwuwnhdwGitp: EipuwGhé wpumuwdp npuiy
hudwwwwmwufuwG® 8tjuhnuny wpnwhwpngwd gpdwumhdwG-
Gtph wynewyp: duwpbGhtipph U Stjuhmup gtipdwumhdwGhph
Yuup Yuquiwytpwtp $niGyyhuyh shenyny:
Spywd b6 a, b U c hpwijwG pytpp b Gptip punwlmuh huwuwpmy
ax?+bx+c=0, bx? +ax+c=0 U cx? +ax+b =0: Npnztp, pb wyp
huwjuwuwpnuittiphy npnip mGGGE hpwhwb wpduwnnGp: Lwnwyniuh
hwjwuwpiwG 9 ppwljmé wpdwwGhph qnympjwG wnmgmup
YJuqiwybpytp pniGyyhwgh Shenyny:
Spjwd L6 Gpym phwtyw6 phy: EYypwGhG wpinuotp w)l phyp, nph
pUwywbGtph gmdwpp dowqnyGa L AGwlwG pth pwlywGGtph
qmuiwph hwzymip juqdwytputp dmGyyhuigh dhenyny:
Spjwo 66 ynpu pGwyuG phy: EYpwGhG wmnwdtp wyn pytiph wik-
Guibd pnhwimp pwdwlwpupp: UdkGwikd pnhwimp pwdw-
Gwpwph npnznuip yuqiwytipybp dmbyyhw)h Shenyny:
EYypwGhG wpnwdtp pynp inwGh wwpq pdtpp: Spywd pyh wpup-
qmpju uvnmgnuip juqiwtipytp mbGyyhwh thenyny:
Mwpg pytipp Ynsym b6 tplynpyuy, tpt Gpulp hpwphy nwppbp-
ymud GG 2-ny (ophGuly, 41-p b 43-p): Oquutiny Gujunpn fuGnpmyd
uwhdwljwd $niGyyhwjhy’ qptip dpwghp, np6 typwGhG upwnwdh
200-p sqtpwquiynn piop tpydnpywy wwng pytph qoyqbpp:
Smjwo t inuthy phy: EYypwGhé wpnwotp win puh Yinohl pwb-
2whp: ©Jh JupehG pYwlwGh npnznudp yuqiwlbpuyp pneGyyh-
wjh dhenyny:
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6-18.

6-19.

6-20.

6-21.

6-22.

6-23.

6-24.

6-25.

6-26.

6-27.

Spjwd t puwpnwGhy phy: EypwbhG wpnwotp wyy pyh pywbiwG-
Ghiph wpunwgpup: Lunwihy pyh pywwiGbph wpnwngpwih
hwzynuip juqiwlbpuytp dmGyyhwh shenyny:

Cpotip wpwd hGquGhy phip b vnmwyywd phyp wpnwdtp Ly-
nwGhG: L6qubhy pyh 2pgniip Yuiqiwytpugtip $ntbyyhwish dhenyny:
<wzytip 3-h pwdwGwpwp towGhy pytph gmiwpp: Grwthy pytph’
3-h pwdwGwpupmpiwl unmgmip Juqiwhbtpwbp $niGyyhwjh dh-
enyny:

Lwzytp puwrwthy tpgwGhy pytph pwGwyp: Lwnwihy pytph bp-
qwlpynpjw uinnigmuinp yuquiytipytp $mbYyyhwsh shenyny:
Zwpkp hwiwswh hGquGhy pytph gnutwnp: £GqutGhy pytiph hw-
dwsunmippulG unnigmip juquwtpytp $mGyyhwjh shenyny:
<w2qtp w6 punmubhy pytph pwGwyp, npnGy pYwlzwGGhpp qm-
twpp qmyq & LwnwGhy pytph pyuGwGGtph gmidwph gnygmpjub
unnigmuip juqiwlpuytp pniGyyhwyh shonyny:

Spywd kG hpuphy wwpptp Yty pytp: G-ntp npuGyhy dkowaqnjGp’
Yyuqubin] $mGhypw, npp Yhwolh YuiiujwhwG bpym pytphy
dhowgm)fip:

OX wnw(yph tpYwuyGpny 2wpdynn Gympwlywl Yanh x Ynnpnh-
Guuwnp ¢t dwiwGwyhy Ywhwd thohnpuymd t x(t) = a+bt+ct’
opliipny, npntin a =4 6, b = 2 WA}, ¢ = 0.2 ¥AL*: Lwzytip Ynh nhppp,
wpwgmpntlp b wpwquymip dwiwGwlh t=2y, t=5] U t=10
wwhtippG: Lynpwwl Ytwnh YnnpnhGurnh, wpuqgmpjwl b wpw-
quiydwl@ dwdwlwluihG Yuwludwompmbitpn Yuqiwiipybp
PInmGyyhwltph shenyny:

m=2 g qulGqiwony GmpwywG Ytwh wpdnuip wpymd t
x(f) = a+bt+ct’ +df hwjwuwpminy, npuntip a= 10 , b =-2 WA,
c=1 W%, d=-02 WA Zwyytp wqnnn mdp U wpdiwG yYpw
owjuminn hqnpmipjmiGp dwdwGwyh =2 § b t=5 § wuwhbphG:
UympwjwG Yanh Ypw wgnnn mdp b 2wpdiwG ypw dwjuuynn
hqnpmipjwG dwdwlwlywhG YwhuwompymGiipp juquuybpybtp
PmGyyhwbtph shonyny:

m = 10Yq quliqimd U R = 20 ud 2wnunjhn niGbynn qgmGnp wpmnymyd
t hp YtGwpnGm| wGyGnn wnwGyph 2nipgp: SGnh 2wpdiwG
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huwjuwuwpanip mpjmd £ @ = a+bt? +ct wpnwhwjnnipjuwdp, np-
wtn a = 5oy, b = 4nunAy?, ¢ = —1nun/A)*: Lwipgtp mdtiph dnikGnp
dwiwGwyh t=24 b t=5y ywuwhbtphG: Mdbph dnikGwnh dwdw-
Gwyw)hG Yuujwonpymbp Yuqiwykpytp $mayyhwh shenyny:

NEYnLpuhw

6-28.

6-29.

6-30.

6-31.

6-32.

6-33.

6-34.

6!'+3.7!
8!-2.3!
bwynuip Yuquiwytputip nympui] $nibyyhw)h dhenyny:

Spywd GG x U y unipnng pytipp: uipgtp x2 +y°® -8* wpnwhwjnm-
pJwG wpdtipp: a pyh b wuwmhdwGh hwzynuip hugquwybpuibp niymp-
uhy $mGyyhwyh dhenyny:

Spyjwd t pyuwpwGuwé wpngptiuhuyh wnwehG winwdp b wwp-
pbnmpymGp: Lwyytp win ypngpbuhwsh 8-pn winuip: Oywpuw-
fwywi wpngptivhwyh n-pnp wanwdh hwynuwip uqiwybpoytp
phynipuhy] pniGyyhwish dhenyny:

Spjwed t pywpwbwwb wpnqphuhwh wnwehG winunip b wnwp-
pbpmpyniGn: Lwpgtp wyn wpnqpuhuyyh wowehl 10 wGnwdGhph
wpnnunpup: Oyjwpwiwiwl wpngpbuhwih #-pn winudh hwy)-
Ymuip juquwytiputp ntympuhy pmbyyhw)h dhenyny:

Spywd G bpypwywnhwlwG wpngptuhwih wnwehG wlnwdp W hug-
wnwpwpp: Swatp wyn wipngpbuhwjh 7-pn winudp: Gpypw;w-
thwijw( ypngptuvhwih n-pn warrudh hwzynuip Yuquwybputip nb-
Ympuhy pmGyyhwsh dhenymy:

Spjwé ¢ Gpypuyunhwywb wpngptuhwjh wmughG winunip b hwj-
wwpwpp: {mzdtp wyn wpngpbuhwjh wewehG 10 winuwiGhph gm-
vswpp: GpYpwspmthwlywé wpngptivhwih r-pn winuwdh hw2ynudp

Lupytip

wpunwhwinmpjwl wpdtpn: ©yh pwlpnnphwih

Yuqiwliputp sbynipupy pnGyyhwgh shenyny:

Shpnlwihh hwonpnuwywlmpymb t Ynyymd wyG hwonpnujulm-
pynGp, nph winwiGhkpp ujuymy GG 0 U 1 pytpny, hul ympuw-
pwiyymp hwonpn winwy hwjwuwnp b Gulunpn tpym wGnwaGtph
gqmuiwph(, wjuhGpG' niGh htinujuy wbupp'0, 1, 1,2, 3, 5, 8, 13,21, 34,
... Lutp dhpnlGwishh hwenpnwyuwimpjulé wowghlG 20 winwi-
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6-35.

6-36.

6-37.

6-38.

Ghiph qnuiwpp: dhpnGwshh hwonppuwlhwlmpjub n-pp winudh
hwzynuip Yuiquwltipytp pbynipuhy pniGyypwsh Shenyny:
Zwitip mpyud pGuyw6 pyh pubywGiph gmiwpp: RGwlwé pyh
plwblrwmGGuph gmiwph hwyymip Yuqiwybpuytip rtYympuhy
$mGyyhwgh dhenyny:

Zwpytip mpwd piuwjub pyh pYwGrwGihph puwfwlp: LGwlwé pyh
pywlwGGiph pwGwiyh hwyynuip Yuqiwytpytp ntynipuhy
$mGYyyhuwsh Shenyny:

Swuwlwl hwiwhwpgmu mpjwd pGulwé phyp GipYuwypbp bp-
mwljuwi hwdwhuwpgmy: LGwywd pyh' mwuwywl hwdwljwpghy
pymuwyubh GipYwjwymip Yuwquiwytpytp ntynipuhy $mGlyyp-
wyh dhenyny:

Gptp ntympupy $mbGyyhw, npp Yhwzyh UYtpdwGh $mbGyyhwyh
wpdbipp ny puywuwljwG n b m pytiph hwiwp: Utipdweh $nblyyh-
wG npn2ynwd t htinbijw) wnGympjunip.

m+Ltpin=0,

An, m)=An-1, 1), ipin=0, m=0,

A(n-1, A(n, m-1)),tptin>0, m>0:

UytpdwGh $mbGyypwb YpyGuwyh ptiynpupy mbGyyhw t, pwGh np
ImGyypwG b pp wpgmitiGnGphy sEYp npnzymd GG hptiGy oqlint-
pJunip:

Oqujtiny qpijwd $mbGlyhuhy” qptip dpwghp, npp Yhwzyh Uytip-
dwiGh mGYyhwih wpdtipp n=1, m =3 niwypma:
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quntv 7

Uhuoudo Quuadubuen

Quliqwol hptbhy Ghpjuywylmy t Ytpoun|np pwGwyny dhulniyG
whwh imhnfuwuGGph hwenprpuljubGnipynt@, npnlGp hwonpnwpwp pu-
vwynpywd bl huntwljwpgsh hhynnipyjwG dtg: ®nhnuwljuGGhphy yjpipw-
pwGyympp Ynsymu t qubqyuwdh wwpp:

C++ tiqymd quGqwd hwymwpwptym hwiwp whpwdtym t qpky hp
whuyp, winiGp L mwpptiph puwGuip: Quitqywoh mwpptiph putwlyp gpynd
t pwnwmuh thwljwuqdtiph dbe b ynyyy t wwihy, pt puGh wmupp Yupbih t
wwhb] mjw; qubgyudnid.

quiquoh wpy quiqyuoh_wlmb [wwppbph_pwGwl];

Quiqwoh wjuuhuh hwpnwpwpiwé dudwbGwly wwpptph putwyp
wtinp t thGh hwuwmwinnG phy, nputiugh pupguiwbGhsp ywpnnuGu npnp by,
pb hGjpwG hhynnmpimG whinp t wGowwmh quGqyuoh hunhwp: UGHwhu
quiquoh tpjupmpymGhy, wnwehG wwpph hGntipup dhyw 0-G L:

Ltulyw) ophGuwymy hwynmwpwpymi t 7 mwppbphy punwywd array
wimGm] wipnne pytph thwswth qubgqywd.

int arrayl(7]);

Uju quuiquoh wnwohlG wwpph6 nhdtini hwiwp whinp t qnpby array[0],
bhuy 7-pn wwpphG nhibpm hwidwp® array[6): Qwulqywdh jmpupwGsjnp
wmwnph Yupth t wpdtp Ytpuqpt; oqunugnpdtimy YtpugqpiwG GpwGp:
OphGuy,-

array([6] = 45;

Quwquop hwjnwpwptim htiw sEljntn dtGp hGupwynpmpimG m-
GLGp Gpw wwpphphG uyqpGuwlwé wpdtp Ypugqpty (uyqpGupdtipwynptiy):
pw hudwp wihpwdbywm t quGqyuoh hwpnwpwpnuihy htiwnn n64 Yepw-
gniwiG GowGp, wy)Gmhtnl’ duunjnp thwlwqdtph dhg qphy qubgqywdh
wwpptph wpdtipGipp’ wigunnywd nvinnpuytinGtpny: OphGwy’

int arrayl[7] = {10, 2, 3, 4, 5, 18, 751};
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lGnhpGph nLddwl@ ophGuilGtip

OphGwy 7-1

£tnlyuny dpwaghpp pnyy b wnwhu hwpyt) wmpdwé o nwpp upupm Guyng
thwsunh quiqyudh mwppliph wpdtpltph gmiwpp:

#include <iostream.h>

int main ()
{
const int n=3;
// bmynwpwpymy t wipnge whuih hwunuwnmG phy,
{// npG hptiGhy GhpYujwylmd b qubiqywoh nwpptph puGuyp
int a[n}], i, s;
// hmpnupwpynd 6 7 junhwGh a Shwyuh quiGqyuop,
// i u s omhnhiwuGGpp
for (i = 0; i < n; i++)
cin >> ali};
// quGqwdh mwpptipp Yninpwgpynud GG vintinGwwphy
s =0;
// s hmhnjuwywGhG Yspugpymd t 0 wpdtp
foxr (i=0; i<n; i++)
s=3 + a[i);
// hwpymu t quliquoh wwppbph wpdtpGhph gnidwpp
cout << "s = " << s << endl;
/l tynwGh6 wpnwoymd t s thnhinfjuwywGh wpdtpp
return 0;

)
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OphGwy 7-2

Lbwnbywy opwghpp pnyt b wwihu npnoty U EypwGhG wpnwotp mpywod n
wwpn WwpniGwynn Shwyunh quiqyuoh vkdwgny nwppp:

#include <iostream.h>
int main()
{
const int n=5;
// hupnwpupmy t wipnng whuyh hwuwnunmG phy,
// npG hptGhy GpljwywyGnid t qulqwudh nmwppiph puwbwip
int a[n], i, max;
# hwpnwpwpdmd 4G »n jwthwh @ Shuwywth quiqiudp,
/I i bW max imhoowlwGGhpp
for (i = 0; 1 < n; i++)
cin >> afi];
/! quiigwdh wmwpplipp Ummpwgnynui L6 vintinGwywphy
max = 0;
/! max \hmhnjuwluGhG Jipwugpymy t 0 wpdtip
for (i = 0; i < n; i++)
if (max <= a[i))
// qubgywdh hippwljwb wwpph wpdbtpp hwdbdwmmd &
/] max-hG Jupwqpwd wpdtph htiwm
max = a{i);
// wpuydwiGh 6hown (hGym nbwypmd max-hG Jbpwgpymad t
/! quGquudh myyun mmpph wpdtpp
cout << max << endl;
' // wpnwdymd t quiGquwoh dhdwgm)G nwpph wpdtpp
return 0;
}



16

:uhmpmd Junddmun bufingu dgpdm ¢ Jemhbpmb Ulm dghZms
:gmhbymb thmimyn Jughd gmhmidyd Luhmypiudmin ddmwm u 3 gmhdg
:fiJhd y omhdm g dduth hudnpdm hmpdmfimd dguda

Wmpuud Jugpymuhmumd Jdqudmm gim emhbpmb ufm dghlm
:qmhbymb thm?myp Yughd pmhmidy buhmpidmm didmwn u 3 gmhdg

Yidufimgp igpmum muh 4-; gg puuhgpmpmd dgoilu

‘Ugmhmgmdmhd gyéyn Yupddmin pfm yYemhbpmb Ulm dnhim;
:gmhbpmb thoimyn Junhd Strudpm buhmpudmin ddmm u 3 omhdg
:1 bfwb ddmpwd Juaddmm Jemhbgmb lm & uflndm dnbwing
:gmhbpmb thm?myp Jughd Skudpm btuhmprwrdmin ddmn u § gmhdg
:pddmpiud Jugddmn bufignia dnpdm wpnh dnwld

-lpdmdmy Jumpued Juqddmn tufiqgpia dgpdm bhub Jomhbgmb
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7-13. Spywd t n wmwpp upnitbwlnn wipnne pytiph Shwwth quiqjud:
Lwzytp wyn quiqudh wyG wwppbph wpdbpGbph wpnwnpjup,
npnGp 5-h pwdwGhihu YuGw 2 SGuynpr:

7-14. Spywd ¢ n nmwupp wwpniGwynn wipnng pytiph Shwsunh quiqiud:
Lwpip uwyn qulqwdh wy6 wwpptiph wpnunpyuip, npnGp
pwdwGymy GG wpwd k Jud m pytph yYpw wpwly vGwynpnh:

7-15. Spwd t n mupp WwpmGuynn shwywth quigue: Lwipgtp wyn
quGqywdh wjG@ wwpptph wpmwnpjuyp, spnGp  3-h Ypw
pwdwGhihu YdGw 2 SGuynpn, huy 5-h Ypw puwdwGljhu’ 1 dGwynpn:

7-16. Spywd t n nmwpp WuwpnmGwyng Shwyunh quiqud: Lwtp wyn
quiqiuoh wyG mwpptiph gmudwpp U pwGwyp, npnGp 7-h pwdw-
G hu YiGu 1, 2 Ywy 5 sGuynpn:

7-17. Spywd t n mwpp upniGwynn wipnne pytph Shwywgh qubqyuo:
Lwytip myn quGqyuodh 10-hy dkd wpdtp niGbynn wwpptiph ShohG
pwpwlwlwén:

7-18. Spywd t n mwpp wuwpniGwynn wipnng putph Shwsuh quiqywo:
<wzyqtip wyn quqwdh tnwlhy wwppbiph gnudwpp, pwGwyn b wp-
wnwunnjwip:

7-19. Spyiwd t n umupp wpuwpmGwinn wipnng pytph Shwswh quiqyuod:
<wyybp wyn qulqiwdh tpyhy U tmuGhy wwpptiph dhehG pYwpw-
GuljwuGp:

7-20. Spywd t n wwpp upuwpmGuynn hpwlwb pytph shwywh quiquod:
Qwytp wyn quiqyuoh® wpjwd [a; b] dhewYw)phG wwwnywbnn
wwpptiph gmudwpp:

7-21. Spywd t n wmwupp yupniGuwlnn ppuijwG pytph shwywh qubqyud:
Luzytip wyn qubqywoh” wpwé {a; b] dhowlwjphG wwwnlywbnn
w)G wwpptph thehG pwnwymuwyhGp, npnGp wpdwd k pyh Yypw
 pwdwGmu 6 wowy WGwynpnh:

7-22. Spywd t n mupp wwpmGwynn hpwlwi pytph shwyunh quGqywd:
<wytp wyn quiqyudh’ wpgwd [c; d) shpwyw)phG wunnywbing
wwppbph puGwyp b wpownpyugp:

7-23. Spywd t 7 mupp WupmGuyng Shwywh quiqud: Lwidtp w)n
quiGqyuoh YtGwn hlintipuny wmwpptph gmibwpp, tpt qniyq hGntpuny
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7-25.

7-26.

7-27.

7-28.

7-29.

7-30.

7-31.

7-32.

7-33.

wnwpptph wpmwgppup npwywa t, hwwowy ngiypmd tYpwGhG
wpnwotp 1 phyp:

. Spywd L dhwyunh quiqyuo, nph winwiGtpG hpup hwonpRwpun

dhwyjwd 20 mwuppbpny bitYyupuwiwi npwih nphiwnpmpymGGtp
6G: Cwzybp wyn 2npwjh (phy nhdwnpmpniGp:

Spywd t dhwswh qulqyué, nph winwiGhpG hpwp gniquihtn h-
wyjwd 10 mwpptpny bibyupulwé znpwih nhdwnpmpymGGtp GG:
<w2ytp wyn snpw)h inhy phdwnpmp)map:

Spqwd k n mwpp wpupniGwynn wipnne putiph dthw;suth quGgyud:
Qwytp wyn qubqiuoh wjG wwpptiph ShehG punwyntuwshGp,
npnly wpdtpp ko £ hGntpuh wipdtiphy:

Spywd & n mwpp uypupni Gwynn wdpnng pytph dhwyunh quiqiud:
Lwizgtip wjn qubqwoh YuGw hGntpuny wwpptph $hehG pwpw-
Gwywbn:

Spjwo k n mwupp uwpniGwynn wipnne pytiph shwyunh quiqywd:
Qwzytp wjn quGqyuoh wyl wuwpptiph gnudwpp, npnGy wpdph L
hGatipuh wwpptipnipjmGa npuwa phy t:

Spywd t 7 wmwpp yupn Guwynn wipnng pytph dhwyunh quiquod:
Lwtip uyn quGqywdh wjl wwpptiph punwymuhltph gmdwpp,
npnGy wpdtpGtph b hGntipuGiph gmuwpp wnwly dYGwynpph pw-
dwGymd t 4-h ypw:

Smwd k2 wmwpp wwpmGwynn wépnng putph dhwywh quigws:
Lwzytip wyn quiqyuoh w)é mwppph wpnwnpyuwip, npnGy wp-
dupltiph U hGnhtpuGtph wpwownpuip 3-h pwdwGbjhu YRPiGm §
WGwynpn:

Spjwd t » mwpp wwpnibwlng dshwyuh quiigud: Lwzdtp wyn
quiqwdh w)G wwupptiph shohG pywpwGulwGp, npnGy wndbph b
hGntipuh gnuiwpp hunjwuwp & npywd k pyhG:

Spjwd t » wwpp wwpm Gwynn wdpnng pytph dhwsunh quqiwd:
Lwtp wyn quiqwdh wyG wwpptiph gmiwpp, npny wndtph U
hGntpuh gmudwph funpuGwpnp pudwGimy t wpjwd k pyh Ypw
wnwly dGwynpnh:

Spywd t n mwpp wupmGwlng shwyunh quiqiud: Lwgkp wyn
quiqywdh wyG wmupptph pwGwlyp, npnGy Gwhuwytpeht Ghop S t:
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7-34.

7-35.

7-36.

7-37.

7-38.

7-39.

7-40.

7-41.

7-42.

7-43.

7-44.

7-45.

7-46.

Spywd t » mwpp wwpniGwyny Jhwiwg qubqiud: Lwpytp wing
quGqywuoh wyl tpyGh wwpptph pwiwyp, npnGy wnwhb Ghop Lo
t tpypnpnhy:

Spjwd t n nmupp wwpmbGwynn shwyuh qubgiud: Lupgtip uyn
quiqyuoh w)G wmwpptph pwlwyp, npp Wud t hptbé hwgnpnnn b
Gujunpnnn wwppbphy:

Spjwod t » wwpp wwpnibwyng Shwyunh qufigwd: Lwpytp wyn
quiqwoh w)é mwupptph wpuwnpyunp, npnGy pYwbwGatph qnt-
dwpp hwyjwuwn b wpywd k pyhG:

Snywd t n mwpp wwpmGuynn dhwswh quigiwd: Lwgtp wyn
qulqyudh w6 wwppbph pwGwyp, npnGy pywGywGGtph wp-
wwnnuip hnpp b wpjwd k pyhy:

Spywd t n mupp wpupm Gwynn shwiunh qubqiud: Lwgkp wjn
qulqwoh hwiwywih wmwpptph pwiwlyp:

Spjwd t 7 nwpp wupniGwynn Shwyuh qubgwd: EypwGhG wp-
nwdtp wyn quiqwoh thnppwqniyé wupph wpdtipp:

Spywd t n nwpp wuwpm Gwyng dhwyunh qubiqywd: EypwmbhG wp-
wnwdtip wyn quiquodh dhdwqnyl wmwpph hintpup:

Spqwd t 7 wwpp wupmGuynn Shwywh qubqyud: Lwyytp wjn
quiqyuoh thdwgntyG b thnppugmyl mwpptph gnudwpp:

Spywd L n mwpp wwpmbGuyng dhwswg quliquud: Lwpdtp uiyg
quiqwoh thnppugnt)G wwpph U Gpw pGntipuh wpnwngpyuyp:
Splwo t n mupp wwpntGwynn shwyuh quigyud: Lwogtp wyG
wwpptph pwlwyp, npnly wpdtpp WES t wjn quiqwoh dtowqni )G
Ut thnppwigniyé wwpptiph wpdtpGtph shehG pwpwGwywbhy:
Spywd t n nmwpp WwpmGwyng shwswh quiqyud: Lwyytp wyn
quGquoh’ 3-hG pwqiwwunnhy hintpy mGbynn wwpplphy
dtdwqm)Gh wpdtpp:

Spywd t »n mupp wwpmbwynn shuwyunh qubigywo: Unwytp wyn
quiqyuoh dnnmny dkowqm)G wmwppp 4 tinfubkp hp Gowdp: EY-
pwlh6 wpnwotp vnmwyywd qutqiuop:

Spwd & n wwupp ywpmiGwynn Shwyunh qubGqiud: Lwygtp wyn
quiquoh w)l wwppkiph wpnwnpywp, npnGp wwnq bG:
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7-47.

7-48.

7-49.

7-50.

7-51.

7-52.

7-53.

7-54.

7-58.

7-56.

7-57.

Spjwd t n mwpp wupniGuwynn shwywh quiqud: Lwydtp wyn
quGqudh w)b wwpptph qmiwpp, npnGp Yuwnwpyuy ta:

Spjwd bt » mupp yupmbGwynn shwsunh quiqiwd: EYpwGha wp-
wnwotp wjl wwpph hGnbpup, np6 hp wpdtipmy] witGwinng t wyn
quiqudh nmuppph wpdtiptph shehG pywpwGuljuGhG:

Spywd t 2 mwpp wupmGwynn shwywd qubghud: Lwygtp wyn
quiiqwdh shulmj6 wpdbpG mGtyny mupptiph pwtwyp:

Snpjwo t n wwpp wpupniGwiynn shwswh qubqyud: Uwmwybp b kY-
pwGhG wpmwdtp wyl quGqiuop, npp Yuwmwydh wpyuwd
quiligwdh 2-nn U 4-pn mwpptiph wntnunhnfumpymGhy:

Spywd t 2n wnwpp wywpm Gwlnn Shwswih quiqywd: Uwnwytp b ty-
pwGhG wpnwotp wyi qubqywop, npp Yuwnmwyyh wnpdwd qubg-
Jwoh dhg Jwwwpbiny htnbjw hmhnfumpiniGGpp’ wnwehG
wnwppp mtnuhinjutynyg YtpghGh htw, Gpypnpnp® GuhuwygtpehGh b
wjG:

Spjwd t n nupp upupneGuiynn dhwyuh quiqyuo: Unmuygtp b EY-
pwGhG wpmwotp wyG qubigywon, nph mwpptpp wnwyymyd b6
unpywd quiqquoh dte jnipwpwGyymp qnyyq hGntipu mGhynn wwp-
ph U hptiG Gwlunpnnn YhGwn hntpu mGlynn wwpph wbnuhofun-
pymGhy:

Spywd t n mwpp upmGuwynn shwyuth quGqyud: tynwih6 wp-
nwotp wjyi qubGqiuop, npp wwpptpp wvnuyymd GG wpjud
quiqyudh dhowgnyG wwpph hnfuwpkG thnppugnyG wwpph
pumwymum wpdbipp, huYy hnppwgntjGh hinjuwpbl’ SEdwqmjGh
lunpwiwnpnh wpdtipp qptiymy:

Spwd t n nwpp wwpn Gwynng Shwswh quigqiud: Un quiqyuoh
wmwppbipp puuunnptp wmadwG Jupgny:

Spywd t n nwpp wupniGuynn Shwswg quagiwd: Uyn qubqywodh
wnwpptpp nwuwynptip 6uqiwi jupgny:

Spjwd t n wnwpp yupmGuwlng vhwyug qubiqywd: Unmqbp® wp-
yn°p npwd quiGqywdp quuwdnpjwd t wdvwb Yupgny:

Spwd t n mupp wwpniGwynn, Gwqiwb Yupgny nuuwynpjud
dhwgunh quiGqywd: Gpt wjn quGquonid ju wpywd k pyhy thnpp
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7-58.

7-59.

7-60.

7-61.

7-62.

7-63.

7-64.

7-65.

wnwpn, www wjn quiqudh mwpptpp Yhpunuwynptip wjtuybu,
np uyqpawd gpyté k puhy thnpp mwpplipp, wiGmhbwb® skotpp:
Spywd & n wmwpp wupniGulynn Shwwgh quiqud: Lwynbh t np
wyn quiquoh dke Yuwb dthhy wytih 5 wpdtp mitynn mwpptp:
EYnwGhG wpwnwotip wnwohl hwinhupwd 5 wpdtp mbGbtynn wwppp
hGntipup:

Spywd & 7 wwpp wpupm Gwuynn shwswh qubiqiud, npmd Yub 0
wpdtip mGhynn nwpplin: {wpybp wn qubqyuoh 0 wpdtp mbhyny
(pwywnmpyuip wnghG) wwpptph hGntipuGtph vhoh pyuwpwbu-
JuGp:

Spywd t n mupp wywpniGwynn shwiwh qubiqiud: Lwyykp win
qubqwdh w)l (puywompjunip wnwehl U Yipghl) wwpptph wp-
wnwnpjunp, npnGy Gwjunpy b hwenpn wwpptiph gmdwpp tnpp t
wpjwd k pyhy:

Spywod t 7 wvawpp WwpmGuynn unipnng pytph shwywih qubiqyud:
EYypwGhG wpnwdtp wnwohG hwinhuywd tpym hwplwG wmwpptph
hGntipuGlipp, npnby YtpehG Ghyp 3 L, hwiuwnwl ntupmi hwyyup
upjwd quibqwoh Yulw wwpptph wpdtpltph dhehG pywpwiw-
Jwlnp:

SpYwd t n wmwpp ypupmGuyny wipnng pytph shwsunh qubgyjwd:
EypwGhG wpnwdtp wowohG hwGnhwwd YhGwn wpdbp mGhynn
wwpph hGntpup, hwjwnwy gwypntd hwybp wmpjwd quigywuoh
wwppbph hGngtpultph b wpdtplbph punwyniuhGph qnudwpp:
Spywd t n mupp yupmGuynn shwputh qubgud: EYypwGhl wp-
wnwdtp wjG hhGq hwplw6 wwpptph wpdtipGtipp, npnGy qmudwpl
wibkGwdbaG k:

Spywd t » mwpp wpmGwynn shwyunh quiqywd, npmd jub vh-
w)G Lipym dhuGny6 wpdtip6 mGeynn wmwpptip: EYpwGhG wpnwdtp
wyn wwpptiph hGnbpuGpp:

Sptwd b » wupp wwpmGwing Shusuh quiqiuid: Lwytp wyn
quiigyudh wjG mwpptiph gmuiwpp, npnip wyn Gnyy6 quigymomd
m6LG hphGy hwyjwuwp gnll ipim wwpp:
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7-66. Spywd GG n wwpp WuwpmGwynn X U Y dhwywh quGqiuottp: Lw)-
Ytp wyn qulqywoGph wwpptph shehlG pjwpwluwlwGGuph wp-
wnwnpjwip:

7-67. Spywd LG n wwpp Wupmbuiynn X U Y dshwywth quiquoGhp: Lu)-
Ytp wyn qulquoGlph npwlwé wmwpptiph pwGwyp:

7-68. Spywd 4G nwwpp wuwpmGwynn X b Y shwywh quiqiuidGhp: Lw)-
ytip X qulqywoh qnijq wpdtp mGhynn wmwpptiph U Y quGqyudh
G wpdtip mGLynn mwpptph gmuiwpltph muwpppmpjmGp:

7-69. Spywo bl n wmwpp wwpmGuynn X b Y dhwyunh quiquuoGtp: Lw)-
Ytip wyn qubquoGtph® mpywd k pyhG puqiwwunhy wwpptph
wpnmwnpuip b pwGwyp:

7-70. Spywd GG n wpp wpupntGuynn X b Y shwyunh quGquoGtp: Lw)-
Ytp wyn quliqyuoGtph w)G wwpptph dhehG pywpwlwlwGp,
npnGp wewby Gwynpnh pudwGym LG S-h b 4-h Ypuw:

7-71. Spywd GG 7 wnwpp upupm Guinn X U Y dhwswh quGgyudGtip: Lw;-
ytip X quGqywdh qnijq hGntipu mGtynn b Y quGqiuoh YtGun hG-
ntipu mGbynn wwwpptiph dhehG pwnwynuw;hbp:

7-72. Spywd b6 n wwpp wuwpmGuynn X b Y dhwyunh quGgudGhp: BY-
pwGhG wpnwdtp wyn quiqudttph w)G wmwpptpp, npnGy Ghatph
gnmuiwnp hwywuwp t wpywd k pyhG:

7-73. Spywd & n wmwpp wwpmbGwynn hpwlwG pytph dhwiwth qubiqywo:
Uwwybtp b tYypwGhG wpmwdtp wyd qubiqwdp, npp vunwyynd t
wpjuwd quiqyuoh puywuwlwé nmwpptphG wpyjwo k-pn wmwpph
wpdtipp gmuwpbjhu:

7-74. Spywd t n mwpp yuwpmGwyng wipnne pytiph vhwywh qubqud:
Uwmwykp U typwGhG wpnwotp w)G qubgywdn, npp vwmwyymy t
wnpjuwd qubqrudh’ 4-ny Yipgwynn wwpplipp YpyGuwwunytijmy,
huy WGwywd mwpptiph wpdtpliphG npdwd & phy6 unbjuyGbny:

7-75. Spywd t 2 mwpp wwpmGwlnn unipnne prtiph shwswg qubgywo:
Uwnwytp b tYpwGhG wpnwotp wié quulqywdp, npp unwyynud t
wnpjwd quiquoh qni)q wpdtip mGtynn wwpptpp nwwywa-
Ytiynry, huy YaGuwbpp' 2 wiqu thnppuyGlgniy:

7-76. Umnwytip U typwGhG wpnwdtp 10 tnwpp wwpmGwyng shwswh
quiqywd, nph qmyq hGntpu mGhynn wwpptpp bwywuwp hGeG
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7-71.

7-78.

7-79.

7-80.

7-81.

7-82.

7-83.

npjwo a U b pytiph gmdwph tnwwpunnhlyhb, huy Yhbn hGptpu m-
Gtynn wwpptipp’ 0 pyhG:

Spywd t n wmupp yupniGwynn X Shwyug quGgwd: Uwmwytip U
tYypwGhG wnnwotp GnyyG jurthh Gnp Y dhwywnh quGqiud, npntin
_{zx,, tpt X, -G YhGwn ,

Tlx 2 hwhwnwl nhwpmd:
Spywd t » wwpp wwpnGwynn X dhwsunh quiqus: Unwytp b
typwGhG wpnwdtp GniyG swihh Gnp Y dhwywh quiqyuo, npintin
-X,,p3<is 10,
X, i, hwjwnwy nbupnul:

Spywo t 20 nmwipp wjwpm Gwuynn Shuwywth quiqyud: Uwnwybp b ty-
pwGhG wpunwotp tpym® 10 wwpptiphy Yuquigjwd dhwgunh qubg-
JwoGtp, npnGyhy wnwehGp yuqigwd t wpywd quiqyuoh qmjq
hGntipu mGkynn mwpptiphy, Gpypnpnp’ YeGutiphy:

Spwd t n wwpp wpupmGwyng X shwyunh quiiqwuo: Unwytp b
tYpwGhG wpunwdtip Gm )G sunhh Gop Y quigwd, npma Gwpu gpywd
YihGe6 X qubqwoh poinp pwywuwlwl wwppbpp, w)Gnihtinl®
dlwywoGtipp:

Uwmwytp b tynwGhG wpnwdtp 20 mwupp wpupnmi Gwiynn X dhwswt
qmﬁql.lmo, n]llnhllxo = 4, hull X" =X[”/2) +X"_, .

Spjwd GG #» wupp wwpmGuynn X u Y dshwswg qubqiuoGhn:
Uwnwytip b typwGh6 wpmnwotp GnyG swhh Gnp qubiqywd, nph jm-
puwpwynip wmwpp hunjwuwp £ 1-h, Gpe X U ¥ qubGqywoGtph
hwidwwwmwufuwG hGntpu mGtynn tnuwpptph G2wGGGpp (o6 GG,
hujwnwly piupmy® 0-h:

Spywd GG n mwpp wywpmGuyng, pGwywé pytphy Yuqiduo Xu 'Y
dhuyunh quGqiwdbtp: Bwwytp b EypwGh6 wpmwotp GG yunhh
Gnp quiqywd, nph ympwpwGynip wwpp X b Y qubquoGtph
huwiwuywinwujuwb hntipu mGbynn mwpptph wikGuwike plnhw-
Gmp pwdwGwpuwpd k:

. Umnwytp 4 typuGhG wpnwotp 10 mwpp wwpmGwynn dhwyunh

quqywd, nph jnipwpwilyynip wmwppp pugiwuwunnhy hGh 5 pyhG u
hGwpuynp (hGh GhiphujwuyGly 2 pGwiwi pybph pwnwymuplkpp
gmuiwnh wntupny:
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7-85.

7-86.

7-87.

7-88.

7-89.

7-90.

7-91.

7-92.

Spjwd t » wwpp wwpmGuynn wipnng pytph Shwswh quigyws:
Lwzytip wjn qubqwoh wyG wwpptph pwGwyp, npnGy hGnkpup
nput pGwlwi pyh punwynuh t:

Spywo £ n mwpp uwpmGuynn shwywh quiqiwd: Lwpgtp wyy
quiqiudh wjl mwppph pwGwyp, npniy tpymwywl GhpYwjw-
ymuip punjuywd bt vhw)i dtytphy:

Spjwd t n mwpp wwpmGwyny shwywh qubigwo: Lwoytp wjn
qulqqwodh qmjq wmwpptiph gmdwpp b pwGwyp: Qubgywoh wmwp-
ntiph qougnipjwG uinmgnuip juqiwybpytp $mGlyhwjh dhonyny:

Spjwd k7 wwpp wwpmbwyng shwywh quGgiwe: Lwpjtp wjn
quGqwoh wwpq wwpptph gmuiwpp: Quiqywoh wmwppbph
wwpgnipjul uinmgmip yuqiwhtpybp $mayyhw)h dhenyny:
Spjwd t 7 mupp wyuwpmGuynn shwywth quiGqywd: EYpwbha
wpnwdtp wyn quiGqywoh Jurnwpjwy wmwppbph hGnbpubbpp:
Quiqijwoh wnmwpptiph Juwwpjupmpjwl vnnqnuip Juqiwlytp-
wtip pmGyyhwjh shenyny:

Spjwd t n wwpp wwpniGwynn Shwywh qubqiud: Lwpytp wyn
qulqiuoh hwiwsunh wwpptph pwGwyp b Shohb pYwpwGuyjwbp:
Quligwoh wmwpptiph hwdwywhmpywl uwunmgmip uquuytiputp
$niGyyhwjh shenyny:

Spjwé t n vwpp wwpmGuynn Shwyuh qubqwe: Lwytp wyy
qubqyuodh w)jG wwpptiph pwGwyp, npnGy Ghztph ke Yw 3 phyp:
QuwGqwdh mwpptph Ghotiph ke 3 pyh qnympjul uvinmaqnuip Yuq-
dwytpbip pmGyyhwyh shenyny:

Spywd t n wwpp wwpmbGwynn shwyunh qubqiud: Lwpytp wyn
quiqwuoh’ 2-h nput wuwhSwG hwinhuwynn mwpptph pwGuyp:
Qulqywoh mwpptph' 2-h nput wuwnhdwl hwnhuwlwint vinnt-
qnuip juquwytpuytp $mGyyhush shenyny:
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QLntv 8

GNUOUDd QuLAJUBLEN

C+ thigymi quiGqyudGhpp Yupnn t6 mGhGwy 2unn hGntpubtp, wy-
uhGpG" (hGt) pwqiwsw: Uj6 qubqiwoGtnp, npnGp mGhG tpym hGnbpu,
ynsymd &6 Gpyswth qubgyuothp (Qwd yunnphybbp): CopmGJwd & hw-
dwpt], np hGnhpuGtphy wnwghGp ynyy t wmwhu quGqywoh wnph
hudwipp, tpYpnpnp’ vywG:

bpyswih quiqiud hwpmupuptim bwdwp wihpudtywm t qptip hbp np-
wp, wimbGp, wyimhtnl’ ningtiph b wymGbph wmwpptph pwGwyGtpp® ym-
pwpwbyympp yopywd punwynwuh thwjwugqdbph dbg.

quigyuwop_why qubGqiuoh wlniG [winntiph pwlwy] [wmbGbph_puwGwly);

Ly ophGwlymy hwpnwpwpmd L array winiGny, 2 wnnnhy U 3
untGhy punjuywd wipnng whwh tpyswh quiqlwd.

int arrayl(2](3]1;

QuGqywdh jnipwpwlzynip mwpph Yupbih & wpdtp Ytipwqpt® ogunw-
qnpdtiny Ytipwqpiwb Gwbp: OphGuy, array quGqywoh 2-pn winnh 3-pn
wywG wwpphG 1 wpdtp Ytipwgptym hwdwp YgptGp.

array{1}[2] = 1;

Ujyu yGpwgpiwl vh9 hwnjh wnwlp, np quGqiuoh hGntpuGhph
hwiwpwywyndp hywm uljuynwd t 0-hy:

Quigqywop hwjpnwpwptjm htin tihllmhh dtlp hGwpwynpnmpymG ni-
GhGp Gpw wwpplinphG vyqpiwljub wpdtp Jtpugnpty (uyqpGupdtpwynpby):
Qpw hwdwp wlhpwdtypn t qubquoh hwpnwpupnuihy htwn 6k
qtipmqplimﬁ G2wip, wiGnithtnl® duwnynp thwljwqotph dke qph qulqywoh
wwnptph wpdbpGhpp’ wiowinywd wnnputinGpny: OphGuy,

int array({2)(3) = (10, 2, 3, 4, 5, 18);

Uytth mbuwmbkih nupdlapm hwiwp quiqywdh uyqpGuub wpdtp-
Gbpp Yuwpbih b fjudpwdnpty jpuymyh; duwdnp hwyuqdtpmy.

int array(2] (3] = {{10, 2, 3},

{4, 5, 18}};

100

!



luGnppGtiph (neddwG ophGuiyGtp
OphGul 8-1

Ztnlywy dpwghpp pnyy b wwihu hwoybp apwd nx » yjunhh tplswh
qubgqywdh’ 5 pyhG puqiwwywnhy wwpptph gmudwnpp:

#include <iostream.h>

int main()
{
const int n = 3;
// hwynwpwpymd t hwunuwnmG phy, npp GaplujuyGmd ¢
/! quGqywdh wmnntph U uymGLph \nwpptiph pwGwyGhpp
int a(n]([n), i, 3, s;
// hwpnwpwpyniy &G 7 \nnn b 72 uymG mGtynn
// a ipyyuh quGqywdp, i, j U s hnhnjuwjuGGLpp
for (1 = 0; 1 < n; i++)
for (j = 0; J < n; j++)
cin >> al[il[j});
// quGqwdh mwppbipp dnunpwqpymy GG winbnGwwphy
s =0;
// s-hG Jtpugnymy t 0 wpdtp
for (i = 0; i < n; i++)
for (J = 0; j < n; j++)
if (a(i](3j] % 5 == 0)
// unnigymy t quGgywdh wwpptph®
/! 5-hG pwqiwuywwnhy hGhp
s += a[il{j);
// wpuydwGh Shown thGym nbupnid
/' s-h6G Ybpwgpynud & wyn wwppkiph gntdwpp
cout << 8 << endl;
// tpwGhG wpnwdnymd ¢ s thinthnfuwwh wpdtipp
retura 0;
}
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OphGuwy 8-2

Ztwnljwy dpughpp pniyp b mwihu juemyby 5x5 ywhh tpyswh qubg-
ywd

a 0000
0 a 000
0 0 a 00
0 00 a0
0000 a

wnbupny, npntin a-G wipnng phy k:

#include <iostream.h>

int main()
{
int k{5]1(5), i, j, a, b, c;
cin >> a > b >> ¢; // dnunpwqpimy ba a, b b ¢ pytipp

for (i = 0; i < 5; i++)
for (jJ = 0; j < 5; j++)
if (i == 3j)
k[i]{3) = a;
else
k(1) (3] = 0;

for (1 = 0; i < 5; i++) {
for (j = 0; J < 5; j++)

. cout << kfi][j]) << =;
cout << endl;
} // typwGhE wpnwdgmy t kfi] [j] ipysuh qubGguop’
// aGnpmy G2wé mbiupny
return 0;

}
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uGpppGhp

8-1.

8-2.

8-3.

84

8-5.

8-6.

8-7.

8-9.

8-10.

8-11.

Spywd kG n, m pGulwb pytipp b nx m sunhh tpljsunh quGgywon:
w2 bp wyn qubqywdh wwppbph gnudwpp:

Spywd &G nwnipnng phyp U nx n juithh tplswh quGgywdp: Lw)ytp
wyn quiqwoh npwlwG wwppph wpnwnpjwip:

Spduwd b6 n, m pGwlwmb pytpp U nx m sjunhh Gplsunp qubgywon:
Lw2ytip wyn quiqudh® npywd k pyhG pwqiwuunnhy wmwpptiph
wpnwnp R

Spwd GG n, m pGwlwb pytipp L nxm sunhh tpyyunh quigfwodp:
Lwytp wyn qulqudh w6 wwppliph dhehG pywpwGuljwbn,
npnGy hGgtipuGtph gmdwpp YhGw phy t:

Spywd GG n pGwlhwG phyp L nx n sunhh tpyswh quigyuon: Luz-
Jtip wyn quGqywoh wyG wnwpptiph punwymuhbbtph qnuswpp, npniy
ytpohb Ghyp 4 & Jwy 7:

Spywd b n, m pGwlwb pytipp U nxm junhh tplyyunh qubgyuonp:
Zunpytip wyn quGgywdh w6 wwppbph pwGuilyp, npnGp npjud abi b
pYtiph Yypw pwdwGymy LG wnwGy sGuynpnh:

Spywd b6 n pGuwlwG phyp U nx n junph bplswh quiqyuop: Lw;-
ytp wyn quGqywdh k-pg uywG Ypw qunbyny wwppbiph gnudwph fun-
pwuGupnp:

Spywd L n, m plwlyuwl pytpp U nxm puhh tpYywith quiGqiwon:
Zwytp wyn qulquoh yjmpwpwlyymp winnh Ypw qunGynn uwp-
ptph wpdtpGph wpwnwngpyun Gupp:

Spjwd GG n, m pGwywb pytipp U nxm yunhh tplyyuh quigywop:
Lupytp wijn quiqiuoh jnipupwlyymp ujwul Ypw qnlynn wmup-
ptph wpdtipGtph gnuiwpGlpp:

Spjwd GG n, m pGwlwG pytipp W nxm yurthh tpYyunh qubqudn:
Lwptp wyn quiqudh k-pn upwl Jpw qulynn, wpjwd a pyhy
thnpp wpdtip nuGtynn mwpptph pwGwyp:

Spywd GG n, m pwywl pytipp U nxm ywihh Gpyswih qubguon:
<w2ytip wyn qubqyudh k-pn wnnh Ypw qunnlynn w) nwpptiph dh-
9hG pyupwGuwlywbp, npny wpdtpp Unnnyyny dGd & npywd a pyhy:
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8-12.

8-13.

8-14.

8-15.

8-16.

8-17.

8-18.

8-19.

8-20.

8-21.

8-22.

Spywd GG n, m pGulwb pYtipp b nxm sjunhh tpyyunh quGquon:
Qwiytip wyn quigwoh k-pnp winnh Ypw qunlynn, gnyyg wpdbp m-
Gbynn wmwpptph JhohG punwynmuwyhlp:

Spywd kG 7, m pGwlwb pytpp U nx m ;unpp tpyyunh qubGgyudy:
Uwmnighip® wpryn®p wyn quiGgywoh wmupptph wipdtpGtph qnudwpp
tnwuGhy phy L:

SpJwd GG n, m pGwlwi pytpp U nx m ywihh tplsuh quGguop:
Uwnnigbp' wpyn®p wyn qubGqywoh wpwd k-pry upwG mwpptph wp-
dtipGph gmiwnp qm)q phy t:

Spjwd b6 n, m pwlwG pytpp U nx m yunhh tpYyuh qubquon:
Lwytp wjn qubqwoh’ 3 Ghzny Ypgwynn nwpptiph pwlwyp:
Spwd GG n, m plwfwb pytpp U nx m sunhh tplywh quiqyuon:
Zwzytp wyn quuGgquoh’ mpywd k pyhe hwywuwp wpdtp mGbynn
nwpptiph puwGwyp:

Spywd &G n, m plwywl pytpp U nx m sjwhh tplywh quiqudp:
EYypwGhG wpowdtp wyn qubgyuoh’ dhohG pywpwGulwGha
hwyjwuwp wpdtp mGhynn wwpph hGnlipuGhpp:

Spywd k6 n pGwlywG phyp U 7nx n yjunhh tplyunp qubGgyuon: Lwy-
Ytp wyn qubqudoh wwpptph wpdtpGhph shohlG pYwpwGwijubp,
tpt hp poynp mnntph wwppbph wpdtpGtph gnuiwpp hujwuwp t
pninp uymGiph wwpptiph wpdbpGph gmuiwphG, hwlwnwy nhuy-
pnud EYpwGhG wpmnwotp 0 phip:

Spdwd GG 7 pGulwG phyp U nx n junhh tplyunh qubqiuop: Lwy-
ytp wjn quiquoh gifuwynp U odtuﬁqwll wGyymbGuqotiph wwp-
ptph gmiwpp:

Spwd GG n pGulywG phyp U nxn sjwhh bpyyunh quiqyuop: Lwy-
Ytp wyn quiqjwoh qifuwnnp U odwGnwly wilymbwqdtph Ypw
qu(ynn npwljwb wwpptiph $hehG pwpwtulwip:

Spjwd GG n pwlwG php U nx n ywihh tphsunh qubqyuon: Lw;-
ytip wyn qubquoh qluuninp U odwlnuly wliyymGwuqdtph Yypw
quiynn puywuwyjwl nwuppbph shehl pwnwlyniuwhGp:

Spywd GG n pwywG phyp U nx n yunhh Gpljyunh qubqyuop: Lwy-
yip wyn quGqwoh qiuwynp wiyymGwqohy Guppt qunliynn,
wnpjwd k pyhl pugqiuwuwywmhy mwppbph pwiwiyp:

1
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8-23.

8-24.

8-25.

8-26.

8-27.

8-28.

8-29.

8-30.

8-31.

8-32.

Spywd GG n pGwlwb phyp b nx n junhh tpYwh quiqwop: Lwy-
ytip wyn qubqyuoh gifuwynp walynGuqohy Yupt qubynn, qnyq
wpdtip mGtynn wwpptph dhohG pwnwlnmuw;hGp:

Snywd GG n pGulwG phyp U nx n gunhh Gpysunh quGgyuop: Lwy-
ytip wyn quiqudh qjjuuninp wGyynbwuqdhy Gippl qunlGynn wja
wwppph wpdtpGiph wpnunpyuip, npnGp 3-h Ywd 4-h Ypw
pwdwGynid 6 wnwGy WGwynpnh:

Spywd GG n pGuwG phyp U nx n sjwihh Gpyyunh qutqiuop: Lwp-
ytp wyn quGqiuoh qiiuunnp wGymbuqohy Ytph qunGynn wyG
wwpptiph GhehG pwpwGwywbp, npnGy hGnbpuGtph gqmiwpp
wnwby 8Gwynpnh pwdwGymd t 3-h Ypw:

Spywd GG » pGuljuG phyp U nx n junhh Gplywh quiguop: Lwy-
ytp wjn qubqywdh odwlnuy wilyymbuqohy Yipk Yud Gpw Ypw
quynn wjG wwpptph wpnwnpywip, npnGp puqiwuywnhy b6
wnpywd k pyhé:

Spywd GG n pGwlwG phyp U nx n yunhh tpysunh qubguop: Lw)-
Ytp wjn quiqyjwoh odwinuly wilyynmGuqdhy Gbpph qunbinn, 0 wp-
dtip nuGtynn wwppliph pwGuyp:

Spywd L6 n phwlwb phyp b nx n junhh tpYsunh quiiquop: Lw;p-
Jtp wyn quGqywuoh odwilinuy wGymbGuwqdhy ytpu qunGynn wyG
wwpptph ShohG pyjwpwGwywbp, npnGp 5 pyh Yypw puwdwbhihu
JuGw 2 WGwynpn:

Spyjwd GG n pGuljwG phyp b nx n yuthh tpyyunh quGqyuion: Lwy-
ytp wjn qubqywoh odwlnuly wiyymGugqdhy Geppu qunbynn, YhGn
wndtp niGtynn mwpptiph vhohl punwynuwhGp:

Spjwd GG n pGwlwb phyp b nxn ywthh bpYswh quGguon: Lw;-
Jtp wjn quiqjudoh odwlnuy wiyjniGwqohy Guppl quGynn wjh
wnwpptph pwGwyp, npnby hnkipuGph gmdwpp YaGuw t:

Spjwd tiG n pGwlwG phyp b nx n pwthh tpysunh qubqyurdon: Lwy-
Jtp wjn quiqwdh odwlnuly wiyyymbGuqohy Ytpt qubynn wjG
wwppbph ShehGp, npnGy hGntpuGtph gnuiwpp qnygq t:

Snywd LG n pGuwlywG phip U nx n yuthh bpYsuh qubqyuop: Lwp-
Jtp win qulquoh odwGnuy wblyymbGuqohy Ghppu qunGynn,
wnpywd [a; b] dhgwuw)phG wunnfwlnn wwpptiph pwGwlp:
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8-33. Spwd LG n pGwlwb phip U nx n sunhh tplyunh quiqiuonp: Lug-
ytp wyn quiqywodh odwbnwly wilymbuqohy Ytph qnbynn wja
wwppbiph gmiwpp, npnly pwywpéwl wpdtipp wunwlGmy L
[62; 128] shpwlyw)ph(:

8-34. Spqwd tl n pGwlw( phyp U nx n juhh tplyuth quigywdp: Lwy-
ytp wjn quiqywdh odwlnuy wiyymbugdhy Yept qunGnn, 6-hG
puqiwwwwnhy wwpptiph gmudwpp:

8-35. Spywod kG n pGwljwG phjp b nx n sunhh Gpyswh quiquop: Lw;y-
ytp wjn quiquwoh qiuunynp wGlpynmGuqohy Ghppl quiGynn,
npwd [a; b] ShewyuyphG wwwnjwénn wiwpptiph $hehG pwpw-
GwlywGp:

8-36. Spywd GG n pGuljwi phup U nx n suthh tpYswh qubguon: Lwy-
ytp wyn qubqiwoh qiluwynp wiyymGuqdhy Gtppu qinGynn wjl
npuwywb mwpptiph ShohG punwyniuwyhbp, npnGp gnbdnd GG qnijq
hwdwpny uyniGhpnud:

8-37. Spywd b6 n pGwwh phyp U nx n yjunhh tpYsunh quiquon: Lwy-
ytp wjn quiqyuoh qifuunp walymbGugedhy yYtpk quGynn w)t
wnwpphph wpownpyw)p, npoGy hGnbpultph gmdwpp Yehwn t;

8-38. Spywd kG n pGwlwb phyp b nx n yjurhh tpYysuwt quiquop: Lusy-
Ytp wyn qubqywoh qiluwynp wilyymGwqohy Ytph quGynn, 0 wp-
dtp mGhynn wwpptph pwGwyp:

8-39. Spwd tiG n pGwlpal phyp L nxn yjunhh tpYswih qubquon: Lw)-
Ytp wyn qubqwdh qiuwynp wilmbuiqohy Gippl qunlynn w)G
wmwpptph pwnwlymupGiph gmiwpp, npnGp qunGymud GG YhGun
hwdwpny ninnbpnug:

8-40. Spdwd &l n# pwluw phyp b #x n sjunhh bpYysunh qubiqiwop: Lw)-

yup wyn quiGqywdh qiluuninp whlyymbugdhy Guppl qunbynn w)
« mwpntph pwGulp, npnip puywpdwl wpdtpny 6o LG npjwud k

puhy:

8-41. Smwd GG n pGwliwG phyp U nx n yjunhh tplyunh qubquon: Luy-
ytp wyn quiqywoh odwlnulyy wGyymGwuqdhy Glippl qunlynn wjya
wwpptiph wpnwnpyuip, npnGp thnpp GG wpdwo k puhy:
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8-42. Spwd L6 n pGwlwG phyp b nx n ywthh tiplyunh quiqyuon: Lw;-
Ytp wjn quiigywoh gjjuwynp wlyjnGugdhy Gippl qulynn wwp-
ptph wpdtipGtph YnnnpuljujhG Swubph gmudwpp:

8-43. Spwd G n, m pGwlwd pytpp b nx m yjunhh tpYyyuh qubqrwon:
EYypwGhG wpnwotp wyn qubiqyudh thnppwqnt)G mwpph wpdtpp:

8-44. Spywd GG n pGwlywb phyp U nx n yjunhh tpysunh qubqywop: Ey-
pwGhG wpnwotp wyn quiqquodh qiluwynp wiyymGuqohy Gappl
Gpw Jpw qunlynn mwpptphy Wadwqmjin:

8-45. Spywd b6 n pGulwG phyp b nx n yjunhh tplsunh quGgywodp: Lwy-
Ytp wyn qubqwoh quluwynp wilyynGuqdhy Ytpu qunGinn ginp-
pwqnyG wwpphph hintpuGph gnidwpp:

8-46. Spjwd G n pGwlwG phyp U nx n junhh tpYywg qubqiudp: Luy-
4tp wyn qubGgqwoh gifuun)np wilyymbGumqdhy Gppl gunbynn didw-
qny)G wwpph hGntipuGph wpnwnpywip:

8-47. Spywd tiG n pGwlwG phyp U nx n junhh Gplysunh qubgyuop: Lu)-
ytp wjn qubGgywdh odwiinul wblyymGuwqdh dEdwaqni 6 wwpph hG-
nbpulitph pwpwymuhGbph gmvwpp:

8-48. Spywd GG 7 pGwlwb phyp U nxn yjunhh tpYswh qubqyuonp: kY-
pwGhG wpunwdtp wyn quiGqywdh k-pn mnnh dtowgmja wwpph wp-
dtipp:

8-49. Spywd GG n pGwywG phyp b nxn yuhh tpyywh qubquon: kY-
pwGhG wpnwotp wjn qubiqyuwdh k-pn uyjwG thnppugn)G wwpph
wpdtpp:

8-50. Spywd L6 n pGuwul phyp U nxn sjunhh Gplsunh quGgywon: EYy-
pwGhG wpinwotp wn quGqiwudh odwbnul wiyyniGuqdh thnppw-
qnyG nnwpph wnnh hwdwpp:

8-51. Spywd GG n pGulwG phyp U nx n sushh Gpyswh qubgiuon: Lw)-
ytip wyn qubqyuoh w)d wnwpptph pwGwlp, npnip WY GG hp k-
owqm )G U thnppwgqmyG wmwpptiph wpdtipGtiph thehG pywpwiwmyw-
Ghy:

8-52. Spywod b6 n pGuljwG phyp U nx n swthh tpysuth qubiquop: Lw)-
Ytp wyn quiqiwoh thnppugnyG wwppp wwpnGwynn nnnh L
wywl nmwppbph wponwnpywp:
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8-53.

8-54.

8-55.

8-56.

8-57.

8-58.

8-59.

8-60.

Spywd GG n, m pGwlywG pytipp U nxm sjunhh tGplyywh quiqyuon:
Zuyytip wyn quGgyudoh wnwehG b YipghG wnntph hmiwuwuwnwu-
JuwG uymGtph wwpptph gmiwpGtpp U typwGhG wpnwdtp npwG-
yhy dkowqnylp:

Spywd GG 7 pGuwywG phyp U nx n junhh Gplswh qubigymon: Lwy-
Ytp wyn quiqquop’ 3-hG puqiwwunnhly wwppph gmdwpp, tpk
dunnphyp hwdwswih t quluwynp wGyyniGuqoh Gyunndwdp:
Spywd LG #n pGwywl php U nx n junhh Gplyunh qulqyuop: Unnm-
qbp" wnnyn’p wyn quGqyudon hwiwyunh t odwbnuy whlyyniGuqdh
Glwwndwdp:

Spywd GG n, m pGwlwG pytpp b nxm yuthh tpyyunh qubgyudp:
Lwpytip wyn quGqyuwdh k-pry nnnh Ypw qunbynn, dhubn6 wpdtpl
nGhynn mwpptph wpownpyuyp:

Spjwd b6 n, m pGwlwb pybipp U nxm sunhh tipyyuh qubquonp:
Zupgtp wyn quiGqywdh ShuGniyG mnnh U ujwl GmyG wpdtpG ni-
Gtynn wwpptiph puwGwyp:

Spywd GG n, m pGuwlwG pytipp b nx m sunhh Gpyyunh quGqyudp:
£wipytp wyn quiqywodh mpwpwlsymp wnnh’ thuGny6 wpdbpl ni-
Gtynn hwplwG mwpptph pwGwlyp:

Spjwd LG n, m pGuljuG pytpp U nxm sunhh tiplysunh qubqywop:
EYpwGhG wpmwdtip wyn quigwoh thnppugmja nwppp wwpn-
Gwynn vywG hwdwpp:

Spqwd b6 n, m pGwlwl pytipp U nx m gunhh tpyyuh qubqywon:
Lwpytp wyn quiqwoh wnntph ypw qunGynn wwpptiph wpdbp-
Giph gmudwpGlipp b tYpwGhG wpnwdtp ppuGyhy dhdwgnGp:

. Spywd kG n, m pGwyw6 pytipp U nxm yunhh tpyswh qubguop,

nph dbg Yuwb tipynt shuGni)6 wpdtp mGtyng wwpptp: EYypwGhG wp-
wnwdkp wyn wwpptph hGnkipuGkpp:

- Spwd b6 n, m pGwlywb pytpp b nx m juhh Gpyswh qubgudn:

Uwnmgqtp' wpryn®p wyn quGqywdh nput wnn nuuwynpjwd t weé-
dwi Jupqny:

. Spwd tG n, m pGwYjwb pytipp L nxm yunhp Lpyyunh quGqyuog,

nph dbe Yul pwywuwluwb wpdtip mGtiynn mwpptip: EypwGhG wp-
nwotp wjn quiqyiwoh Yupohl puwywuwlwl wwpph hGntipuGtpp:

I
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8-64. Spywd LG n, m pGuwywb pytipp b nxm yunhh tplyuth qubgyuon:
Lwtip wyn quGqywoh w) wmnnh wwpptph wpdtpltph qnuiwpg,
nph pninp mwpptpp Y6 GG:

8-65. Spwd GG n, m pGwywG pytpp U nxm yunhh tpyyuh qubqyuodn:
Zwytp wjn qulqyudh wjyG uywG wwpptph wpdtpGtph wp-
wnwnpjwip, nph pninp mwpptph wpdtipGhpG pGYywo GG npwd (a; b)
dhpwlwjpnud:

8-66. Spywd GG n pGwlwG phyp b nx n junhh Gplswh qubqyuop: Lwy-
Ytp wyn quGqywoh wjyG wnntph pwGwyp, npnGymd 5 phyp dkihy
wytith wiqu t hwinhunt:

8-67. Spywd GG n pGwywG phup U nxn junhh tplywh quGqyuon:
Lwpytip wyn quiqywdh wjh wnnntiph pwGwlp, npuntin pwywuwywb
pUtph purGuyp bwjwuwp t 3-h:

8-68. SpyYwd GG n pGulwa phyp U nx n yunhh tipyswi qubqiuop: Lwy-
Ytp wyn quiGquoh

I
IVvII

III

w) I pwnnpnh wwpptiph wpdtpGhph gmuwpp,

p) IIpwnnpnh wwpptiph wpdtpltph wpnwnpjuyp,

q) Il pwnnpnh mwpptiph wpdtipGtph thohG pywpwGwywbp,

n) IV punnpnh wwpptiph wpdtpGiph punwymuhGiph gnuiwpp:
8-69. Smjwo t 5x5 swhh tipYswth qubiqywo: Lwpytip Gaywd wwpptiph

wpdtipGtph gnudwpp.
* & &® % % * * * % % x
*® & ® % % * % %
w) | * s, pl* * * * | g »
* . * % *» * & %
* h £ & = L * & % % =
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8-70.

8-71.

8-72.

8-73.

8-74.

8-75.

8-76.

8-77.

Spywo GG n pGuuG phyp U nxn yunhh bpljyunh quGqywop: Lwy-
Ytip wjn qubqyuoh wuipq wwppkiph pwGwyp:

Spywd GG n pGwlyw phyp U nx n sunhh Gphyunh qubquon: Lw)-
YJtp wm quGgyjwoh hwiwyunh wwpptph puwGwyp:

Snpywd b6 n pGwlpwb phyp U nx n junhh GpYswh qubgyuop: Lw;-
ytip uyn qubqyuidh Yunnwpjw) wwpptiph gnudwpp:

Snjwd GG n pGwlwl phyp U nx n sunhh tipl;uh qutquop: Uunim-
qbip' wnpnyn®p w)G "SnquijuG” t: "UnquijuG” nydnud t wj tplywp

qulqywon, nph wninntiph, uymbbph b wlyynGuqdtiph mwppbph qm-
dwpp GmjGa t: OphGuy,

13 8 12 1
2 11 7 144§
3 10 6 15)
16 5 9 4
Spywd kG a, b, c wipnng pytpp: Fwmbp ophGuswthmpymabp b ty-
pwiGhG wpunwdtp 5 x5 swhp tpYyunh quibGqyud htinujury wnbupny®
ab 0 0

O O O o
[ )
Y )
o A OO o ©
[~ T~ N — I

Uwwphyh wmbupny tYypwbhG wpmnwotip htnlguwy Gplswh qubg-
Juon. .
X, =(+D*+j*)? +Qi+3), npntini=0, 1,..., 4,j=0, 1, ..., &
Uwwphyh wmbupny typwGhé wpunwotp htnlyuy tplsunh qubg-
Yudp.

sin(j +5), tipl i< j,
C,y={Lbpui=j, npntin i=0, 1, ..., 5;j=0, 1,..., &

i +4j, upk i> j,
Quntip ophGwywthmpimbp b typwGhG wpnwdtip 6x 6 sunhh bpy-
sunh qugywd htinbywy nbupny’
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(11 1 1 1 1}
123 4 5 6
13 6 10 15 21
1410 20 35 56
151535 70 126
(1 6 21 56 126 252)

8-78. Quntip onhGwywhmpymGp b typwGhG wpmwotp 5x 5 swhh ipysunh
quigywd htinbyw) mbupny

10 01

-_—0 = O
_—
— QO e O
-0
—_—O = O

8-79. Guntip ophGwywhmpyntGp b EYpwGhG wpnmwdtp $x S surhh tiplsunh
qugywd htunkjwy wbupny’
1 2 3 45
16 17 18 19 6
15 24 25 20 71
14 23 22 21 8
13 12 11 10 9
8-80. Qwtip ophGwsunhmpymbGp b tYypwbhl wpnwotp 4x 4 sunhh tpy-
yuwh quigyuwd htinliyywy mupny’
1 23 4
012 3]
001 2|
0001
8-81. Spywd GG n, m pGulywl pybipp U nx m jwihh GpYyswh quiqiuion:

Uwnwytp U typwGhG wpuwdtp » mwpp wupmbwynn dhwywih
quGqyud, nph i-pp uwppp hwywuwp t 1-h, tpk mpjwd tpyywh
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8-82.

8-84.

8-85.

8-86.

8-87.

8-88.

8-89.

qubigwdh i-py wnnh wmwpptph wpdbplGhph qnuiwpp \hnpp Yung
hwywuwp t wmpjwd b pyhy, hwjunwy nhwypmad® 0-h :

Spywd GG n, m pGwlwG pYtpp b nx m yunhh tplyuh qubgyuon:
Uwuytip b tYypulGhG wpnwdtp 7 wwupp wwupmbwyng dhwiwh
quGqywd, nph i-pn nwnppp hwyjwuwp b wpdud tpluh quiiquoh
i-pn nnh dtowqn)G mwpphG:

. Spjwd GG n pGwliwb phyp & nxn ywhh tpyyuh qubgyuon:

Uwnuwytp U typw6hG wpnwotp n wwpp wjupmbuyng thwywih
quGqywd, nph i-pg muwppp hwjwuwnp & wpdwd tphyuh quigywudh
i-nn wannh U gjjuunynp wGYymGwuqoh pnhwbGnip mwpph wpdtiphG:
Spwd GG n pGwhwl php U nxn junhh Gpyyunh qubqywon:
Uwwytp U tYpwGhG wponwdtp 7 wmupp wupmbwlng dhwswh
quiigywd, nph i-pn mwppp hwywuwp & npdwd Gpyswth quGqywoh
i-pn wGlywi ypw qunbynn mwpptph wpdtpGnh qnidwphG:
Spwd GG 7, m pGwymG pytipp b nxm gunhh tpYsunh qubqyuop:
Uwmuwytp & tYpwGhG wpmwdtp m wwpp wyupnmGuynn dhwsuh
quGqyuwd, nph i-pn mwppp hwyjwuwp Eopdwd bpyyug quiqudh
i-nn wywl GinppuignijG wwpphG:

Spjwd tiG n, m pGwlywd pytpp b nx m yunhh tpyswh qubgyuop:
Uwmuwytp b thpwGhG wpnwdtp n mwpp wupniGwyng dhwswh
quiqyud, nph i-pn mwppp hwjwuwn b wnpdud Gpyyuh quiquoh
i-nn mnnh wwpptph wpdtpGlinh gnidwphG:

Spywd bl n, m pGwlwb pytpp b nxm gunhh tplswh qulquon:
Uwnuwytip U typwlihG wponwotp m mwpp yuwpmiwyng dhwywh
quiqwd, nph i-pn mwppp hwywuwp b wnpdud tpyswt qutqwoh
i-pn wwG w)lG wwppbph pwGwyhG, npnby hwiwp wpgwd k phyp
pwdwlwpwnp L:

Spywd Ll #, m pGwywG pytipp U nx m stuthh tiplswh quGgywdp:
Uwmuytip b tYypwGhG wpnwotp n mwupp wuwpniGwynn Shwyunh
quGqywd, nph i-pn wmwppp hunjwuwp b wnpyud bplsuh qulqywoh
i-prsx 'tnnnh wyG wnwpptph dhohG pwpwbwywGhG, npnGy Ytpght Gh-
iLERS

Spjwd b6 »n pGwlpub phup U #x » swhh tplyunh qubGgywdp: Uuna-
ytip U typwGhG wpnwotp » wwpp wwpniGuyng shwunh
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8-90.

8-91.

8-92.

quiiqywd, nph i-pn mwppp hwjwuwp b upjud tplsunh quigywudh
i-pn nnnh qn)q wpdtp mGynn wwpptphy thoppuqnGhG:
Spywd GG n pGwywé ppyp U nxn ywhh tplyuh quigywon:
Uwnwytp b thpwGhG wpwwotp » mwpp wupmbGuyny shwywh
quGqyuwd, nph i-pn mwppp hwjwowp b opjwd tiplswh quiquoh
i-pn mnnh vwpptph gmiwphG, Gpt i-pp minnh YEdwqnyG wmwppp
dto b wipwo k puhy, hwjwnwy niypmy* wwpptinh wptnwnpjw hG:
Spjwd GG n pGwhwG phyp U nxn yunhh Gpysunh qubgywonp:
Uwwytp b typwGhG wpuowotp n mwpp wwupmbGwynng Shwiwth
quiqywd, nph i-pn mwppp hwjwuwp £ npjwd tpyyuh qubiqyuoh
i-py winnh 5-hG Ywd 7-hG pwqiwuwwwmhy npuywé nmwpptph gm-
vwphG, hwjwnwy niypmd, hul tpt wynuhuhp gnympimbG ymGLEG*
i-pn winnh wmwpptiph YhehG pwnwyntuwyhGha:

Spywo LG n pGwliwb phtjp U nx n yjunhh tpyywh qubiqywon: U6
dlunhnjutip wyGujtiu, np qluwynp wGyymGuqoh Ypur gpywd thGh
huidwujwwnwujuwb nnnh dhowqgnyt wwppp: EYpuGhG wpnwdtp
unwywd Gplyunh qubgyuop:
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alnkv 9

musSuUtuyuLu PJGrh acusNruUsSniyU

C++ (iqmG hGupwynpmpymb t wmuwhu qGhpuyltly wuwnwhwywe
pYtp U woluwnnby npuGy htin: Munwhwlwb pytpp qeGEpuylnn winw6-
nupun gpunupwiwihG $mGYypwatpp wpuhymd b6 stdlib.h gpunupu-
GujhG pwjnu:

Muwnwhwijwb pytp qhGipuwyGtiim hwiwp Gwh wihpwdtwn t dpw-
qph W9 gpt] "wuwnmwhwiwbwybnn" srand pmblyyhwmi, npp uvinwbnid t un-
signed mhuth wipnng wpgmukiwm:

Muwwnwhwluw6 pytipp qiGkpuwyymy b6 rand() uinwbnupun gpunupu-
GwjhG $mGYyhwih oqimpyunip: Munnwhwlwl phy unwbwim hwdwp
rand() $mGYyhwh ognwgnpdomu t "wwwnwhwywGwyGnn" srand $mbyyh-
wjh wpgmuitGund qpwd wipnng phip b, npuytiv wpnymGp, qtGapuyGnud
0-hy RAND MAX whpmjpmd qulynn wpwwwnmwhwlwG phl, npubn
RAND_MAX-p stdlib.h gpunupwGuhG pujmd uvwhiwGiwd uhdynjughG
huwunuwwnnt i t U hwjwuwp £ GJuqugm)Gp 32767-h, wjuhGpG6® 16-php tip-
Jupnipjunip widpnng pyh ytiphG uwhiwGhG:

Gpt srand Imbyyhwih wpgmuitiGunmd gpywd t hwunmwmnmG phy,
www rand() ImbYyhwb Shown YqtGhpuwyGh ShuGm )G phyp: Npwtiugh srand
$mbGhyhwjh wpgmuitiGwp (hGh thmhnjuwlwG, hwpdwp b hpt6 nputiv wp-
qnuitGun wwg nyw) wjuwhp dwiwGwyp’ wpnwhw pnywd uyplpywGGtpny:
Syyw yuwhh JuypyuwGipny wpnwhwjnywo dwdwlwyp gptijm hwdwp
whpwdtywm t qply time. h v Gnupwn gpuinupwinghG $wjmd vwhiwé-
Jud time $mGYyhw6’ 0 wpgmutGinm]’

srand(time (0)):

Swpptip tubnhpGbp wwpptp pyny yunnwhwjwb pytp qhGtpuyGlm
Ywphp mGLG, ophGuy, qun Giwnbym fuGnhpp dopbjwynptynt hwiwp wGh-
pwdtin t qLltpuylhy 6 phy, npnGp Yhwiwyunnwulhuwhl6 qunh 6 Ynn-
utiphG, puy "nmz-ghp" juwnh julnhpp dnpbjwynptiim hwiwp' pnudtip 2
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phd: O-hy N-1 vhowlhwjpmd N hunn phy qbGpuyGiym hwdwp rand()
$niGyyhwjh htimn oqunugnpond 6 YGwynpnp hwpltim % qnponnmpnGn.

rand() % N;

Gpt wihpwdbtywm t qliGlipuy Gl N hun phy ng pt 0-hy, wy npht npjwd
a pyhy uljuwd, wihpwudbywm t qpby htnlipun Ytipw.

a + rand() % N;

OphGuwy 9-1

Ztwnlywy dpwghpp pmyy L wwhu a b b wipnng hmhnjuwlwGGhphG
Jtipwapty [ 1; 100] dhpwlwpmy paywd wywinwhwwl unipnne putp U hwg-
&L npwGy wpuwnpjup.

#include <iostream.h>
#include <stdlib.h> //umwlnupun gpunupwiuihG pwuyp
#include <time.h> // dwiwGwyh htim wtvwwnnn $niGyyhwGsph Pwjyp

int main ()
{
int a, b, result;
srand (time (0));
// "wpunnwhwhwGwybGnn” srand $niGyypw,
a=1+ rand() % 100;
// a-hG Yipwgnymy £ 1-100 Shpwljuwypnud pGlwd wipnng phy
b=1+ rand() % 100;
// b-h6 Jipwgpymy t 1-100 Shewlmjpmy pGywd wipnne phy
result = a * b;

cout << a << " * " << b << " =" << result << endl;

return 0;
}
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luGnppltp

9-1. Mwwnwhwlwa pytinh qtiGtpunnnph ogGmpjudip [0; 20] Whowlw)-
pnud EYypwGhG wpnwobp 10 wipnne phy:

9-2. MunnwhwlywG pytph qGpunnnph oqGmpjuip wpjud [a; b dh-
gwljwjpmu tYpwlGhG wpnwotp 30 unipnng phy:

9-3. MunnwhwlwG pytph qGtpwwnph oqlGmpjunip [1; 9] dhowlyw;j-
pmd winwytp 2 unipnng phy U hwzytip wyn pyiph gmuiwpp: Spw-
qhpG wvwnwyGtihu typwbp wtnp t ntGhGw, ophGuly, htimbyug
wmbupp'

7+4=,

npwntn 7-p b 4-p qtiipwyyjwd yunwhwlw pytpa G6: Lwywuwp-
vwi6 GpwGhy htivn wytnp t Ghipdniot) wuwmwuhiwbn: Opwghpp
whwp bt ytpwnupdGh hwunnppuqpmpimG’ wjuwmwujuwGh Ghow
Yuwd ujuwy (hGGin Yapwptpywg:

9-4. Muwnwhwlwb pytph qiGipuwnnph oqlimpjwdp [1; 9] dhewluwyj-
pmud vnwytp 2 wipnne phy U hwzytp wyy pytph wpnmwnpywp:
Gpwighpl wlvwwmwylbihu typw6p whnp L mGtGw, ophGuly, htwnb-
Juig ibupp’

Sx7 =,

nmntin 5-p b 7-p qbGEpwywd wyunnwhwljub pytph L6: Lwjwuuwp-
dwG GpwGhy htwnn whnp bt Gepimot; wwwwuluwip: {wpyp
wnpynui t 10 whqw, nphy htnn EypuGhG wtinp Ewpnwoyki 6hon
b vy ywwnwuluwGGhph pwGwyp:

9-5. Lwhunpn juGnhpp dbwthnjutp wjiytu, op 2 Yunmwhwywé uipnng
pytiph wpnwinpyuh Yepwpbipywy hwpyp wpgh wyGpwt dwiwGuy,
pwGh ntin npujtiv Yunnwujuw sh Gipimoykg 0 pjp, nphy htiwn ty-

+ pwGhG whwnp t wpnmwdtiG Ghow U ujuwy wyuwnwuhiwGGhph pu-
GuYyGtpp:

9-6. MwwnwhwlwG pytph qiGipunnnph oqGmpyunip [1; 20] dhowlwj-
pnud unuy tip wiipnng phy: UGhpwdhym t qunlty wyn phyp: 5 whqud
uluuy phy Gpumdtyniy htiwnn dpwghpp wtiwmp t YpwnwpdGh Sxal e
wnnp: Ghpw phy Gipdmotim pwypmd dpwghpp wtwp bt Ytpw-
nupdGh Chisht e mnnp:
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9-7. Ltipinidtp 1 Ywi 2 php: Bpwghpp whnp t YpwnwpbGh Chisht e

9-8.

9-10.

9-11.

9-12.

9-13.

9-14.

9-15.

wnnp, tpt Gipdmdtimy U hwuwnmunntiny htnn ywwnwhwywb pyt-
ph qGipwwnnph oqGmpjwdp typwbha gpih Gipdmoyws phyp, hw-
Yunwl ntiypnud uitup t JupwpupdGh Sxal e mnnp:
Nunwhwlwl pytph qLGhpwwmnph oqbmpjunip ¥nnhjwynnptip
“nm2-qhp" fuwnh fuGnhpp & vnwytp 1 Ywd 0 pytiphy nput styp:

. Quunpnfutip Gufunpn hGnhpG wyGubu, np dnununpwdp Gaungh

1000 wGquw U hwzytp wikG h Ghwnuhy vimwyywd 0 U 1 pytph
pwGuyp:

Quinh Ynnitpp Gowlwlywd LG nputiu 1, 2, 3, 4, 5, 6: Munwhwljub
pytiph qtGhipuwwnnph oqlinmpjuip Unphijwynptp qunh Ghndwd
fuGnhpp b wnwytp 1, 2, ... 6 pytiphy nplt dGyp:

bGpunphlp, qunp Ghwmmy GG Gpymt fuwnuynn: Muwunwhwui
pytiph qtGtpunnnph oqlmpjyunip dnnbjwynptp queh GtndwG
luGnhpp U winmqtp® juwmwynnGphy npG t queoh Ypw uwnwyby
wyhiih ¥ko dhwynp:

Ghpuinptibp, bpym fuwnwynn Ghnmy 66 3-wipwi qun: Muwnwhw-
Jui pytph qGhpuwnnph oqlimpjwip inpLjwynplip quntph Ghiwn-
dwG huGnhpp b wvinmgtp' lumnuynnGphy nph wnwywd gmuiw-
pwjhG dhwynpG t wytith d6o:

Quuihnutip Gwhunpn fuGnhpp® bGpwnptiny, np pwnuynnGphy jnt-
pwpwlyympp Ginnud £ wpjwd & pyny quntip:

Quinp Gtanyty t 5000 whquy: Muwnmwhwlwb pytph qiGhpwwmnph
oqlinipjuip hwptp 1, 2, 3, 4, 5, 6 pytph pGYGim hunjwGwlwbni-
pyntGGLpp:

lvunuynnp Giwumd ¢ Gpym qun: Quoh Ynndtipp GwGwwd ta
nputu 1, 2, 3, 4, 5, 6: Lunmdhy htivnn hwzyymy & pG{uwd Ynnitph
pytiph gmdwpp: 5pb wyG hunjwuwp t 7 fund 11, jpwnwynnp hunpty
t: bph hwywuwp t 2, 3 Ywd 12, jpunuynnp yyuwpnyly t: buy tpb
hujuwuwnp t 4, 5, 6, 8, 9 wd 10, wyw juwnuynnp zwpnGuymyd t
quntipp Giwnt] w)Gpwl dwdwGwy, pwh ntin pGljwd Yynnitph pyph
gnuiwpnp sh hwwuvwpyntd wnwehl Gnnuihy htwmn pGlhwd Ynn-
utiph pytph qnuiwphG: vwnuyngp yupumd t, tpt GinmuGph
dwiwbwly vnwynd gnubwpp hwjwuwpymd t 7-h:
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CUJdGLIUD 1:

nrne aruauNrULU3hL HUSLEP BY
Usuuiaurs aruauruuusnu
dNrLUsShuLen

Cnuptp U hnuptiph qpuwnwpwaGhp

SyjywGtiph (pwjyptiph) hwenpywlywnipyniGp Ynsymd t hnup: Umuwn-
pwjhG gnpdnnmpmbGGph dwiwbwy wnbnh & mGeGmd )y Gph hnup
dntnpujhG vwpphy, ophGuy’ uvintinGwwnhy nhuh hwdwjwpgsh owtipw-
why hhpnnmipyniG: GpwjhG qnpdnmmpyniGGtph dwdwGwYy wmbtnh t m-
GtiGmy wnyyw)Gtph hnup hwiwywpqsh owtipwwnpy hhynympymbGhy ntiugh
bipwjhG wupp, ophGwy’ hwiwlywpgsh typwE:

fostream hnuph qpumqupuGp

iostream hnuph qpunupwGp wjw;6tph Ynuwph U Giph qgnponnmpm G-
Gtph hpwiwGuydwé puqiwphy hGwpuwynpmpymGGtp t wwhu:
<iostream.h> qpunwupwGujhG pwjp Gpunmi t cin U cout opjtln-
Gbpp, nprGp hwiwwuwwwuluwinmd 6 wnwinupn dmmph hnuphG U
unmwbnuwpwun Giph hnuphG:

iomanip hnuph YupquujnphyGbph gpumupwtn

£nuph YupquinphyGipp pnyp 56 wwihu (neot dlwynpdwE fulinhpGhp:
C++ 1iqmu vwhdwGwd GG puqiwphy houph uipquiynphyGp: Uju pud-
Gmud YuwhiwGunhwytlp* pywplytiny nputyhy plnwitGp Sh pwGhup:

<£nuph Yupquynphynp Yngygnud £ ypupuitimpuyywd, ipt w)G vnwGnd
L dnunpujhG wpgmitiGun:

dec hnuph Jwpquyynphyp pmy; &t wwhu myjw)Ghpp GipluiyuyGly 10
hpipny pyw)hG hwiwlupgmi: Letpw)i wjwiGhpp Ghiplwjwyymd G6
wiju hwidwljwpgqnud:

hex hnuph Yupquwynphsp pmjy t wwhu wyw)lbpp Ghphujwylty 16
hhipny pywjhG hwiwlwpgmu:

oct hnuph Jupqwiynphyp potyg t mwyhu wnjuy Gipp Geplujuy Gl 8 hhd-
pny pywjhG hwiwywupgmu:
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setbase(a) wwpwitinpuyyjwd hnuph Ywpquynphsp npybtu wpgqm-
dtiiwn vnwGm t 10, 16 Yuwd 8 pytipp U, hwdwwuwnwuluwGupwp, wjywg-
Gtpp GhpYwywylmd t 10, 16 Juni 8 hpdpm] pyuwjh6 bwiwljwpgbpn:

Ophawy,

int x = 20;

cout << hex << x << endl; // 14
cout << dec << x << endl; // 20
cout << oct << x << endl; // 24
cout << setbase(1l6) << x << endl; // 14

setprecision(a) wupwitinpwyjwd hnuph uwpqunjnphsp poij t wnwjhu
uwhiwGt) vwhnp vnnpuljbnny pytipmyd vinnpuljtinhy htan Ghotiph pw-
Guwyp: Ujn $miblyhwa dpwqph kg Yuptith t qpliy oh pwilh ntin: UhGgh hw-
onpn uwhiwimip dpwghpp wwhmi t Gwjunpn vwhdwGiwG Ywpwitn-
ptpp: OphGuy,

cout << setprecision(5) << exp(l) << endl; // 2.71828

cout << setprecision(3) << exp(l) << endl; // 2.718 .

setw(a) hnuph Jwpquiynphsp pmj) & wwjhu, np thpuGhG wpowdjwod
hwynpn tjpwjhG dEdnp)nilp qpuntiyGh wnlijuql a hwwn uhiyng: Gph G-
pwjhG vtiompyuG tipywpmpyniGp GO t a wpgmdtGnh wpdbphy, wuw
nw2wnh ywhtpp Yukow GuG wylpw, np hp Yte mtinwynpt6 GypwihG vhom-
pymG6 wipnnempjwidp: Gpt Lijpujhl StompjwlG ipuwpnipymGp thnpp & a
wpgnuitiGwh wpdtiphy, wyw puwwp rtyw)lG dwpuhy Yyipwygh wGh-
pwdbyn pwawyny nwwnwpy uhdyn)Gtpny:

Apujtiugh nwowf wihpwdtizn puiwyny guinwpl) uhiyn) Gbpny jpuy-
yh wohy, mGhpwdtywn t oqunuqnnoty setiosflags(ios::left) hnuph Yupquyn-
phsn:

setiosflags(ios::fixed) hnuph Ywpquunphsp pnyy t wmwihu, np hptiGhy
htann qpinn bpwjhG hginfuwlwtp nudh npuby $hpugwd Gnny ppj:

setiosflags(ios::showpeint) hnuph Ywpquynphsyp pmyl ¢ wmwihu, np
hptGhy htann qpynn GipwjhG hinthnfuwwGh hpujwd YinG whupwyiuG
tiplw, GoyGpuy tph Ytanhy btwnn thw)G 0-Gtp GG:
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math SwptniwwhjwijwG $mGYyhwGbph gpunmupmi

<math.h> Swptivwwnhfwlywb $mGY{yhwetiph gpunupwbp Gipwnnd £
puqiwphy dwptvunhfufuG $mGyyhwGtp: Umnpl pipfwé GG wnuty
hwéwju oqunugnpdynn pniGyyhwbtiph GupuqpmpymGGhpp:

Ddmbyyhwjh uwhdwGnidp Puywnpmpymip

YLhpwnwpdGnud t x wpgmitinh wpyynuhp-

double acos (double x) Gintuh quluwynp wpdbpp' nwnhwGGbany:

. Jhpunupé imy t x wpgmitGunh wpluhln-

double asin (double x) uh qiJuwynp wpdbpp® nunhwGGkpny:
YGpunupdimy t x wpgnuitGnh wpljunwG-

double atan (double x) qbGup gluwynp wpdtpp’ RwnhwGGEANY;
YEpwnund Gm b x wpgmibGunh nublyym-

double cos (double x) Guiyunhwljwé YnuhGmup (x-h wpdtpp
wpyma t pwnhwim)):

JLpunupd Gmy t x wpgmikGnh tnwiyn-
double sin (double x) GuwyuhwwG uhGmup (x-h wpdtpp wpymd
L nunhwGny):

Y punuwpdmy t x wpgmitiGnh inwGlym -
double tan (double x) Guywhwywb wwlqtiGup (x-h wpdtpp
wnpynud & nunhwGny):
YLhpwnwpd Gmd £ x wpgmitiGnh bhwybppn-
double cosh (double x) T —
double sinh (double x) J punupd (inu? t x wpgmitiGinh hhwbtppn-
1wlwb uhGmup:
double tanh (double x) YGpunwpdGm t x wpgmitGnh hhwtppn-
1wliwé nwGqbGup:
double exp (double x) \lhpun}mpdﬁm?i t tpuynGiGwmwuihG Pmay-
ypuyh wpdtipp:
Lhpunwpd Gnud £ x wpgnuitGuh pGwlwb
double log (double x
8 ( ) (e hpupny) |nquiphpih wpdbpp:
double log10 (double x) Ubpwiuipd G ¢ x'l.up qnuibGwh 10 hhipny
1nquphpth wpdtpp:
double pow (double x, double y) ::;g:::."mﬁmﬁ t x” wpinwbwynmpju
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Whpunwpd Gmy t vx wpnwhwjnmpjuG

le sqrt 1
double sqrt (double x) wnpdtipp npujwG x-tiph nbupnid:
Lhpwnwpdlimd § x wpgmdtGnh puywp-
int abs (int x) 4wl wpdtipp wnipnng x-tph ntupmad:
WhpwnupdGnd b witGunhnpp wipnng ph-
double ceil (double x) Up, oph wpdtipp x wpgmutiGnh wpdtphy
ynpp t:
WhpwrwpdGnd b x wpgmdkGnh puywp-
double fabs (double x) 4wl wpdtipp hpuswG x-bph nhwpoud:
WhpupupdGmy t wikGwdts wipnne phup,
double floor (double x) nph wpdtpp sh qipuquGym x uqurmih(i-

wh wpdbphG:

double fmod (double x, double y)

Y bpugupd Gm ¢ x4 hupupbpmpymG
dGwynpnp hpwljwb pytiph ntivpmu:

<UdbLYubn 2

ononluuyuLLerMrh Shmon

Qunhup
CnhnjuwijpuGh Pmyunnpbyh
whin (puui) LjwpwopmpiniGp wpdtpGhpp
Spuwdwpwiipul whwh
thinthnjuwwi: Ywpon L
bool 1 plnmGh dhwjG GLpym true Y false
wpdtp’ true (Ghzw) hud
false (upuun)
16 php tpljunnipywdp ny
unsigned short 2 pwywuwlwb wipnne 0+ 65535
whyh hininjuwlwi
16 php tphwpnipjunip
=327
short 2 wipnng phy 32768 + 32767
32 php tipwpmpjudp ny
unsigned long 4 puwywuwlwG unipang 0 + 4294967295
whyh hndinjuwwb
lo 4 32 php tipjupmpjudp -2 147 483 648 +
ng unipnng phy 2 147 483 647
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int

16 php tipjwpmpjunip

-32 768 + 32 767

(16 phpwGh) unipnng phy
int 32 php Gphwpmppunip -2 147 483 648
(32 phpwiGh) wipnng phy 2 147 483 647
. : 16 php tpjwpmpjwip ny
:T:Ig;:eilﬁnl:) puywuwlwé wipnng 0+ 65 535
PP whugh hinvhnfuwlwG
32 php tpywpnipjwip g
unsigned int puywuwwl
2
(32 phpwih) wnipnng whuh 0 + 4 294 967 295
thmhnjuwiwG
UhdinjwjhG whugh in-
thnfjuwlwG: Yupnn & pG-
char amGby Ul uhtyng Gu 8 “2“5“6‘1:}[?:{_“2
php bpjupmpjuip wd-
pnnge phy
bpwlwG whuth 10-38 1038
float - 12:107% +12:10°
YpyGwyh G wnpyuip
double hpwipwG whwyh 22.107% £ 22.10°®
thnthnluwywG
CUYGLIUD 3

C++ LG24h NrNc AULULh-LUNGD

PwGuwith-punp

VYyjwpugpmpymbn

bool

Zwynwpwpnd t wpudwpwiwub tinhuh thathnjfuwywG:

break

UGhwupun pGnbwwnmad t for U while yhytiph, hGsujbu Gub
switch pGinpiwG owtpuwnnph wlvwwwGpltpp:
Lhpnpywd yhytph piypnd pGnhwmmyd § witGubspphG
phiyh wuunnwGpp: bpujuGuymishy hbnn dpughpb
wluwnwiipp 2wpni6wymy t pGohwwnywd yhiyhy
widhpwujbuv htivan gpywd hpwiwGhy:

Oquwqnpdymd t switch pGnpdwG owtpuwwnnph skg*
wmwpplipwyGtphy dtih npny w6 hwiwp:

!
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char

Lwpnwpwpmy t uhdinjuhG whuh thnhnjuwjuG:

const

Uwhiwmd t vhiynjujhG bwuwnwnmG, wyuhGpa®
wjGwhuh thmhnjuwlwG, nph wpdtpp dpwqph
hpwpwGuydwb pGpuypndd yh hnfuymad:

continue

Oquwgnpimy t* yhlyth dupdGh g hptiGhy htinn qpyurdy
hpwiwGitp6 wGntubym U yhyih ppuwlutuydwé
wuwywGh hippwué vnmquiwGa wiyGtint hwiwp: b
wwppipmp)mG break hpwdwh, continue hpwiwGh
hpwyuwGuwynuihy htnn dpwqhpG wuwwnmwipp
2wupniGuynd t ny pb pAnhwmwd yhijhy wishouutiu
htinn qnwd hpundwGhy, w)p udyun yhyh hugnpn
hwbkpwyhwjhy:

default

Oquugnpiymid L, switch pGunpdwG owytipwwnnpmy b
hpwjwGuyGnid £ w)b hpwiwGGhpp, npnGp wting t
JuwmwnytG wjb nhwpnud, Gpp winmqynn wpdbpp sh
bunipGYlnid case hpwwGGhph YnnphG qpywd
wpdbplliphy n; dthh htan:

Oqunugnpdymy t do... while yhith outipwwnpGhpntd:
LwGh np wju oujkpwwmnpGtpmd yhijih hpwuwGuydws
uwyswip unmagymy t yhth $wpdGh hpwjwGuynidhy
htinn, wyw do hpwdwGp hpwiwGwany £ wnGjuqt ey
wGqu: 8hij)G hpujuGwGmy & wiGpwi dwlwbwuy, pwp
ntin yhh bpuwGwyiwG wwjdwap Yepumupd Gmd t
true wpdtp:

double

Zwynwpwpmd t YpyGuyh s;mmpywdp hpwlwG wmhuh
thimpnfuwluw:

else

Oquuignpimy t if ywjdwih owtipwnnpGlinmy b
hwinhuwGnu t w)n oybpunnnpiiiph ny wjwpwnwnhp vwu:

false

Zwutnunnnif, npp hwjwuwp t wpwswpwiwyw whuih
hnhnuwlwGh uluw) wpdbphG:

float

Zujnmwpwpmy t hpwwb whugh hinthnfuwywG:

for

Shijh owyipwnnp, npp pay) t wwihu Shunjnptp yhiph
hpwjwiwydwG ywjpdwGh wnniqnidp,
uyqpGuwpdtipuwninpniip b yhlih doginfumlywubh wpdtph
thmhntump)nian:

MupiwGh oylipwmnpnid qpynn werwehf hpwdwGp:

int

Zwjpnwpwpny ¢ wipnng whugh Ginhnfuwlw@:
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long

Lwpnwpwpmd & 32 php Gpljwpnepjunip unipnng whugh
thmhinjuwlu:

return

Qunwpty Gmy t mGyyhwih hpwuwbwymdp:
SmGYyhwyh SwpdGms gpywd hwgnpn hpwdwGGLpp sLG
hpwjwlwGmd:

short

Lwijumupwpmy ¢ 16 php tipijupmpjunip wipnng whwh
thmhnjuwlw:

signed

Wdpnng whwh thnhnfjuwlwup pupdGmd t GwluhG:

switch

Canpswi owtpunnp, apG hpuwbuyinnd & puqiwphy
§nuuynpmiGtpny wwjiwhwlwl weymd: switch
hpwiw(a wpgnudtiGnh wpdtpp hwdtdunnamd t hp Gpuh
case hpwdwGGtphy jntpupwGyymph YonphG qpud
hwuwunnmGh htn: Gpt wpgmuikinh wpdtpp
bwjwuwpyntd t hwununnmG6Giphy nput sEYha,
upmGuiymy 6 hpwwGwiw) wm hwenwnnéhy
htinn qnjwd hpuwGGlipé wjGpwt dwiwGwy, pwGh ntn
sh hwiGnhwby break hpwiwGp, nphy htwn ugupnu t
switch pinygh hwgnpn hpwswGGtph bpuwljwGuymdin:

Zwunwnm G, npp hwdwuwp ¢ wpwdwpwbuljws whuh
thmpnjuwywih Shyn wpdtphG:

unsigned

Lujmwpunmy § wpwly GywGh wipang whugh
yrninfuwslwG:

void

Oquuqnpdynui t nput wpdtp yytipunuwpdGng
$mGyyhw6tp hwpnwpwpym hwdwp:

while

Shyjth owipunnnp, npwtn yhyih hpwymbuyiut
wuiwGp unmgymy b GujupwG yhyjih SwpdGh
hpwjwGwynmdp: Ujyu yhiih owtpuwanpGhpmyd hGwpun)np
&G ntwptip, tpp yhyth SwpdGmy qpyud hpwdwGhtpp st
hpuwlwGwGmy: 8hy 6 hpwlpubwtmy t wiGpwé
dudwbGuy, pwih ntin yhyth hpwhwbwydwi uwjdwbp
YtpwnupdGoud t true wpdtp:




09-8uaNroduo +ruuULNM3NEFL

A.M.3naronomscxuft, CEOPHHK 3334 N0 POrpaMMHPOBAHHIO,
Cauxr-Ilerepsypr, "BXB-Ilerepsypr", 2007.

H.B.Kynemim, C/C++ B 3ana4ax v npumepax, Canxr-ITlerepsypr,
"BXB-Ilereprypr", 2002,

U.2. UnudywG, 0.0 Apmuywb, L.U. bnhuqupué, L.U.
UwénywG, §.Q. Uwpqujub, Spwqpuninpiwb fuGnhpGtph
donnjwont, bpuwG, HML hpuwa,, 1991:

Q. L. buwjub, U4 Uuwpjub, Spugpugnpiwt GnhpGbph
dnnnjwom, GpuwG, 5NL hpuna., 2005:

X.M. deitren, I1. A x. Jefiren, Kak nporpammupoBars ua C++, M.,
"Burom", 2000.

JAx.Jlaeepra, OcBoft camocrosrensao C++ ga 21 nens, M.,
"Bmnbsamc”, 2000.

Q. £ UpudtpnyuG, 0. U.LwpmpymGyuG, 3o, L. LwpnuGywg,
tibyupunhGushlwsh fuGnhpGtph dnnoywon, bptwe, S,
2006:

E£.U.3mqpujuG, dhqhlwjh pnhwGmp nuupipuyh
JuGnpwghpp: UkluwGhyw, Gplwd, 504 hpww,, 1982;

125



ANYULHUUNFE3NFL

Qqniu 1: ©BJuwjhd hwdwlwupgbp 4
v GnhpGhp 9
Qqmju 2: Microsoft Visual C++ 6 dpuqph Sheunupp 11
Qntfu 3: CH+H quh Junmyjwdpp 17
vGnhpGtph jmodwi ophGuyGlp 24
o GnhpGtp 26
Qinifu 4: MuwjdwGh omtipumnnpGtp 35
lGnhpGtph movwb ophGuyGlip 38
v GnhpGtp 42
Qqumpu 5: 8hijh owtipunnnpllp 53
~GnhpGtph (movwG ophGwyGlip 55
hoGnhpGtp 59
Qniju 6: dmGyyhwbtp 76
R GnhpGp 82
Qymju 7: Uhwsyunh quiquottp 88
I~ GnhpGtph modwG ophGuyGhp 89
luGnhpGtp 91
Qimiju 8: Gplswh qubquoGtp 100
luGnhplGtph movwG ophGwyGhp 101
lvGnhpGtp 103
Qmp 9: Muunmuhwluwb pybtph qGtpuynd 114
Rl GnhpGhip 116

Lwbgwd 1: Npny gpunupubuhG dwptp b vnwbnupan
‘ qpunupwbiwhG pntGyyhwGtp 118
Lunfhpdud 2: OnhinfuwuGGhph whubp 121
Zunjbpwd 3:  C+ (iquh npn pwGwh-puntp 122

126



U druderasuvy
S. durnkE3nrL3uLL
C. UtLhr3uu

sruarudne/udy bvryhuGrh
anNauNdusne

Uuu I

NrANNUULENMUYLTL E0vVUrY

Uwnpwgpywd t wuyuqpmpyuG 07.02.2011 p.:
Quupup 60x84"/is : Onnpp’ odubip: dpwn. 6.1 wdny,
wmwwigp. 8.0 Swim= 7.44 ww)d. Swinyh:
Syjwpwwy’ 200: Munmjtip’ 14:

N hpwwnwpwlympimb, bplwd, Uy Vwlmljwé 1:

bptwGh whinwwl hwiwpwpubh
owlipwwhy wnihgpwdhwh vnnpwpudwGnud
Gplwd, Uy Vwamipwé 1;





